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5�5 6�����	%(� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5
5�7 ����	�	�� �	������
 ��� 8��� � � � � � � � � � � � � � � � � � � 5

5�7�5 8����
� �
������ 3����
���� � � � � � � � � � � � � � � � � 7
5�9 �
��� �
���� � �����%(� �� 8��� � � � � � � � � � � � � � � � :
5�: ���	��� � �����
����� ��
�	��������� � � � � � � � � � � � � ;
5�; ������	�	��%(� ��� 8��� � � � � � � � � � � � � � � � � � � � � <

5�;�5 ���!���$�%(� � ������	�	��%(� �� 8���� �
������ 3��.
��
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � =

� ����
�� �� ��� ������� ��
7�5 6�����	%(� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 55
7�7 1����� �� 2����
���(� �
 �/ � � � � � � � � � � � � � � � � � � 55
7�9 �
�� �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 57
7�: 2����"��
������ � � � � � � � � � � � � � � � � � � � � � � � � � 5;

7�:�5 2����"��
������ ��
 ��
�%(� �� �����"��
�%(� !���.
,!�
 ��� ����� � � � � � � � � � � � � � � � � � � � � � � � 5<

7�:�7 2����"��
������ ���",����� � � � � � � � � � � � � � � � � 5>
7�:�9 2����"��
������ ��
 ���� ����
�
����� � � � � � � � � 5=

7�; ?�������� � ��
���������� 80������� � � � � � � � � � � � � � 5=
7�< 3����� �� ����������� � 6��	����� � � � � � � � � � � � � � � � 5@
7�> ��
���������� ���,����� � � � � � � � � � � � � � � � � � � � � 5@
7�= ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 75

7�=�5 ����
� ��
����� . A6� � � � � � � � � � � � � � � � � � 75
7�=�7 ����
� �'��������
 � � � � � � � � � � � � � � � � � � � 77

! "
	#� �� �����
�� �$
9�5 6�����	%(� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7;
9�7 ���
	
�%(� �� ����
�
� � � � � � � � � � � � � � � � � � � � � � 7<

9�7�5 ����
� �� ���� � � � � � � � � � � � � � � � � � � � � � 7<
9�7�7 2���� �� 3����� � � � � � � � � � � � � � � � � � � � � � � 7=
9�7�9 ��� 	��� 3,���� �� �+	�%&�� � � � � � � � � � � � � � � 95

9�9 8�
	%(� �� ����
�
� � � � � � � � � � � � � � � � � � � � � � � � 99

���



9�: ������� �� 8�
	%(� � � � � � � � � � � � � � � � � � � � � � � � 99
9�:�5 �������� �� ������(� �� 8�
	%(� � � � � � � � � � � � � � 9:
9�:�7 ������ �� ?�	��.8����
 � � � � � � � � � � � � � � � � � 9;
9�:�9 ������ �� B�C���.������� � � � � � � � � � � � � � � � 9>
9�:�: ������ �������
��� �,���� � � � � � � � � � � � � � � :7

9�; ������
�� � 1�
���� �� 8�
	%(� �� �
	'� �� �������� � � � � � :<
9�;�5 ������� �� 6
�
�
����%(� � � � � � � � � � � � � � � � :<

9�< �,
�	
� �� ������ � �
	'�� �� �������� /��!� � �����!� � � � :>

% "
	#� �� �����
�� &������'��� $�
:�5 �+	�%&�� 3,����� � � � � � � � � � � � � � � � � � � � � � � � � � ;5
:�7 ���
	
�%(� ��������
 � � � � � � � � � � � � � � � � � � � � � � � ;7
:�9 6��
	�(� �� ������ �� ����
� 1������$��� � � � � � � � � � � � ;<
:�: ��
�%(� �� 8������
����� � � � � � � � � � � � � � � � � � � � � � ;>
:�; /�,
��� �� /
����%&�� �� ����
� 1������$��� � � � � � � � � � ;@

:�;�5 /
����%&�� �� �����%(� �� �����.����%(� � � � � � � � � ;@
:�;�7 /
����%&�� �� ���� � � � � � � � � � � � � � � � � � � � � <D

:�< ������ ��� ������� �� �������	�%(� � � � � � � � � � � � � � � � <5
:�<�5 ����� �� �������	�%(� ���� ���
���
���� �� ?���%(� � <7
:�<�7 ����� �� �������	�%(� ���� ���
���
���� �� ��
� � � <9
:�<�9 ����� �� �������	�%(� ��
������ �� ���
���
���� ��

?���%(� � ���
���
���� �� ��
� � � � � � � � � � � � � <:
:�<�: ����� �� �������	�%(� ��
������ �� ���
���
���� ��

���� ��
�� � � � � � � � � � � � � � � � � � � � � � � � � <;
:�<�; ����� �� �������	�%(� ���� 2����"������� �� �������� � <;

$ "
	#� �� �����
�� (���� )*
;�5 6�����	%(� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � <@

;�5�5 ���
	
�%(� �� ����
�
� � � � � � � � � � � � � � � � � � <@
;�5�7 /�
���%&�� � � � � � � � � � � � � � � � � � � � � � � � � � >D
;�5�9 ������� �� 8�
	%(�E F���-���� � � � � � � � � � � � � � >D

;�7 B��	��$� �� ����
�
� � � � � � � � � � � � � � � � � � � � � � � >5
;�9 ���
	
�%(� ����
,���� � � � � � � � � � � � � � � � � � � � � � >5

;�9�5 G���,!��� � � � � � � � � � � � � � � � � � � � � � � � � � � >5
;�9�7 ������%&�� �� 6�	�
���� � � � � � � � � � � � � � � � � � >7
;�9�9 ������%&�� �� �����	�
���� � � � � � � � � � � � � � � � >9
;�9�: �	�%(� �� ���!� � � � � � � � � � � � � � � � � � � � � � >:

;�: �
	'� �� �������� H��
� 1������$��� � � � � � � � � � � � � � � >;
;�; �
	'� �� �������� H��
� 1������$��� ��
 ������%&�� �� 8�.

�	���%� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � =5
;�< ������ �� ��

�
 I 2����J � � � � � � � � � � � � � � � � � � =9

;�<�5 ��� ��
 ������%&�� �� �����	�
���� � � � � � � � � � � =9
;�<�7 ������%&�� �� �����	�
���� ��� !���,!��� �� ������
� � =;

�!



;�<�9 ������%&�� �� �����	�
���� "	�������� � ��� !���,!���
�� ������ � � � � � � � � � � � � � � � � � � � � � � � � � =;

;�> ������ �� B�C��� � � � � � � � � � � � � � � � � � � � � � � � � ==
;�>�5 ���
	
�%(� 3,���� � � � � � � � � � � � � � � � � � � � � ==
;�>�7 8�
�%(� �� ��� 	��� �� ������%&�� /��!�� � � � � � � � =@

;�= ������ ��� ������ 6��������� � � � � � � � � � � � � � � � � � � @D

) �+�
��,-� ���.��
� �� ������
����� �� /���-� *$
<�5 6�����	%(� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � @;
<�7 ��������0������ �.G � �.K � � � � � � � � � � � � � � � � � � � � @>
<�9 /�,
��� �� 8������
����� K.G � �.G � � � � � � � � � � � � � � � 5D9
<�: /�,
��� ����
 � � � � � � � � � � � � � � � � � � � � � � � � � � � 5D;
<�; �
	'� �� �������� ������	��� � � � � � � � � � � � � � � � � � � 5D<

<�;�5 ��"��
	
�%(� ��� �+	�%&�� �� �
	'� �� �������� � � � 5D<
<�;�7 ����� �� ���!��(� � � � � � � � � � � � � � � � � � � � � 5D=
<�;�9 ����� �� �����%(� � � � � � � � � � � � � � � � � � � � � 5D@

� �������� �� �0	�,1�� �
2����
�� &������� ��!
/�5 6�����	%(� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 559
/�7 ������� �� 8�
	%(� � � � � � � � � � � � � � � � � � � � � � � � 55:
/�9 ������� ������� � � � � � � � � � � � � � � � � � � � � � � � � � 55;

/�9�5 �
�
���%(� �� ?�	�� � � � � � � � � � � � � � � � � � � � 55;
/�9�7 ������%(� 1� � � � � � � � � � � � � � � � � � � � � � � � 55>

/�: ������%(� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 57D
/�:�5 ������%(� ���� ������!�� � ����������� � � � � � � � � 57D
/�:�7 ����������%(� �� ����	�	�� �� �����$�� ��� ?��"�� � � 575
/�:�9 ��+	�
�� �� ������%(� � � � � � � � � � � � � � � � � � 579

/�; /�
�$���
���� �� �����$�� �������� � � � � � � � � � � � � � 57;
/�< ������� 6������!�� � � � � � � � � � � � � � � � � � � � � � � � � 57@

/�<�5 ������ �� ������ � � � � � � � � � � � � � � � � � � � � � 57@
/�<�7 ������ �� ?�	��.8����
 � � � � � � � � � � � � � � � � � 59D
/�<�9 ������ �� 8������
�'�%(� �	�����!� L8��M � � � � � � 595
/�<�: ���!�������� � � � � � � � � � � � � � � � � � � � � � � � 595
/�<�; ������ �� ?�������� ��� 	���� � � � � � � � � � � � � 597
/�<�< ������ �� ?�������� ��� 	���� ���.������������ � � 59:
/�<�> ������ �� ?�������� 3�.��� 	���� ������
�$��� � � � 59<

3 ���2����,-� �-�4&����� �!*
3�5 ��	������ ?���
 � � � � � � � � � � � � � � � � � � � � � � � � � 59@

3�5�5 ����� ������	
���� � � � � � � � � � � � � � � � � � � � � 5:D
3�7 ����������%(� ?�,*�� � � � � � � � � � � � � � � � � � � � � � � 5:D
3�9 �����%&�� �� ���
�
����� � � � � � � � � � � � � � � � � � � � � 5:5

3�9�5 ��B1 ��
 ������%&�� � � � � � � � � � � � � � � � � � � 5:7
3�9�7 ��B1 ��
 ������%&�� �� 6�	�
���� � � � � � � � � � � � 5:7

!



3�9�9 ��B1 ��
 ������%&�� �� 6�	�
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3�; ������� �� 8�
	%(� �� ��B1 ��
 ������%&�� � � � � � � � � � 5;:
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� ���2����,-� &����� �$5
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��� ������	
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���� ���0�	
� ��������� 	
� !��(� ����
 �� ���	�� �� 8����
�� �
������� ��
�������� L8��M ��� ������ �� !���� �� �	� ����	�	�� "	������
# �
��� �
����
� �����%(�# ���	��� � "����
����� ��
�	���������� N ��
��
 �����������
	
� ������	%(� �� �������� �� ������	�	��%(� �� ����� �
������ ��	�

����
�
 ����
�����

��� 
���	�	�� �	������� ��� �
��

�� 	
 ����� �� !���� "	������
# �� 8��� ���������
 	
� ����	�	�� ��
�

������� �� ���	�� 5�5� 8�	� ���������� ��
�������� �(� �� �	������
�� ��E

• #
���"�E ��
����� ��
�� 	����� �	 �������� ���������� ����� ��������
����
 ��� �� ���� �����
������# ���
��� L���!(�# -
��# ��� ���	��
# ����M
�	 �	�
���� /� �������� �����
�������# �
 ����
# �(� 
���
�$���� �
 ���.
��� ��������� ��� ������� �� ����	
�# �'������ �����
�� �� �����
���(�
��
�
�'�� � �
 ����(� �
�!����

• $��������"�E �������	0�� ��
�� 
����� �� �����
���(� � �+	���
�����
�	'�
����� ������,���� ���� �����
���� � ������� ����	$��� ��� ��������
��������� ��� �� ������� �� ����	
�� �� �����
�� �� �����
���(� ��.
��
 ��� �
 �������� �
������� L�/M �	 �
 �������� ����0�	� L��M#

���	�� 5�5E ����	�	�� "	������
 �� 	
 8��
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����� �� 4
��
�� 	��
�$���� ������ �� ���� �� �����
���(� �� �������
�
���� �� �������� � 
����� ����O������

• ������%&��"�E �������	0�� ��
�� �	�����%&�� � �
�
��������� �������,.
!��� ��
� �������	�%(� �� ������� �
������ ��� ����	
������ ���	�������#
��
������� � ������������� �
 ����
# ���
	�
 ��
��
 	
� ����� 
���

�� �����
� �� �����
���(�# �
 ����(� 
��� ���'�# � +	�
 ������ �
����
���%(� �� �	������
���(��

• ���
����
�'��"�E ���������� � ���
���� ������,!�
 ��
� ��
��� �
!���� �� ������� �� ������� � �� !��� �� B(� ��������� ���!�� "0��.
��� 
�� ��
���� �� 
������
�� �� ��
�����
�$�%(� �� �������� ���
���� ��$(� � ������������ ��� 	
� ���'� �����
���� �� ���	�� 5�5� /
��
�����
�$�%(� �� ������� ���� ������� ����	
������ ���� ��� ���
�.
$��� ������
���� �� �	������
� �� �����
���(� �	 �	������
���(��

B� *�	�� 5�7 � ����������� � ������
� 	��*
�� �� 	
 8�� ���� �(�
�
	������� �� �	������
�� ���
� ��"������� B���� �����
� ����������# �'����

�	�� ������� �������� ��������� �����
������� 
���
�$���� � ������ ����O����
�� ������ �� ����	
�� �
� ��
�� � ��������� �� �����
� ����!�� �� 	
�

���� �� �����
���(� �
 �� L± <DD PGM � � �	��� ����!�� �� 	
� 
���� ��
�����
���(� �
 �/ L>;D PGM� ����� �� ������� ������ �������� � 	��
�$��� ���
	
 �����
� �� �������	�%(�# �������	0�� ��� 
����� �� �	������
���(� L59=
PGM � ��� !,���� �	�����%&�� �� �������	�%(� L������ 	
� ��
�� � 
������� ��
*�	��M� �
 ������ ����	
���� ���	�����
 � �
�
������ ������
���� ����!��
�� �����
� �� �	������
���(�� 2�
��
 �'���� ����� �����
� 	
� ������

���
��� �� 
���� ������ / ������ �� �	�����%(� �� �������	�%(�# �����
 �
�.

��������� �� ����(� �� 59#= PG# �� +	��� �
�
����
 ����	
������ ���	����.
��� ����� �0!�
 �� ����(� � ����	
������ ��
������� � ������������ ����!�� ��
	
� ���� ���	��,��� �� �������	�%(� �
 77D�57> G� ��������� ������
����
) ���� �� �������	�%(�# �'���� 	
� ��+	��� ������
 �������� � +	�
 ����������
� ��������� 
������ �� #
���"� ������%&(���

����� �����	
 ��
����� ��
�������

� �����
� �� ������� �
������ �����
���� ��
 ��
���&�� ������������� N ��
.
����� ��
�� �	������
�� ��� ����&�� 8	����� � ������ ����� L8����M# ���
����&�� B���� � B������� LB�B�M � �� ����(� 8	
 L8M� �� �	������
�� 8����
� 8 "���
 �����
������ �� �	������
� B�B� �
 ��$�
��� �� 5@@= ��� 	
�

���� �� �����
���(� �
 ;DD PG# ��
 � ���������� �� �����
���(� �� 5DDD
�Q � ��
 5DDD P
 �� �'����(�# ����� �� ��	� ���
����� ��� �	�����%&�� ��
6
�������$ L������(�M � 8���� �� ���� L?��,�M� ���� ���������'(� "�� ���.
������
���� ��"��%��� ��
 � ������	%(� �� ����	��� ����
�
� �� ���
� ��"�����
� �� 	
� ��!� 
���� �� �����
���(�# ���������� �� �	�����%&�� �� 6
����.
���$ � � ����(� 
������
����� �� 8�
!���� L3����M� ���� �����
� �������	� �
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��� ��

���	�� 5�7E ������
� 	��*
�� �� 	
 8�� �0����

���
��� 8����
� 6����
����� B������
 L86BM� /����� 9#: R �� ����������
�� ����	%(� �� �
���������� �� ��0� ��������
.�� "��� �� 86B# �
 ��+	����
�����
�� ���
���� 
���
�$����# ��������

����# �� ����(� �
�$S����� / ���	��
5�9 ��������� � 
�
�� ��������
 �� �����
���(� �� 86B�

/ ���������� �����
��� �� �����
� �����
����� �����
���� � �� >>�975 �Q#
����� <<�975 �Q �
 	����� �����
������� � 55�DDD �Q �
 	����� ���
�
����.
���� ���� �� ����� � ���������� �� ����	%(� ����
 ������0!�
# ��!�.�� ��
��
� ����� !�
���� ) ���������
����� �� �
�����%(� �� 7�5>= �Q �� /��������
� :�5DD �Q �� 6����	# ����� ���������� ) /B��������	����

� �����
� �����
���� ��������� 	
� "���� ���������O���� �� ����%(� ��.
���
������ L
��� �� @D R �� ���������� �����
���M � ���������$�.�� ��
� ���.
���%� �� ������� �����!��-���� ��
 ���������� �� ���	
�%(� �
	����	�
# �

�������� �������	0��� �
 !,���� ������ �������,*���� � �����
� ���
	� � 	����
�� 6����	# � 
���� 	���� �����
������ �� 
	���# ��
 ���������� �����
���

������ ������� 	� 
���	� �� 
�� 	� �	���	�� ������	��������� 
��� � �	� �� �����
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���	�� 5�9E ��
�� ��������
 �� �����
� �����
����� �����
���� L����� �B8E
CCC�����������M�

�� 57�<DD �Q# �� ����������� ��
	
 �� 3����
 � �� �����	���

/� ��'�� ����-����� �� ������
���� �� ����� �� �����
� �����
���� ��

���� �
�!���� ��!��� �� ��"��%� �� ���	�����
�$�%(� �� ��0�� B� ������ ��
>D# � ��'� 
���� �� ������
���� "�� �� ����� �� @ R� B� ���0��� �� ������(�
����S
���# ��
��������� �� *��
 �� ������ �� =D � ��0��� �� ������ �� @D#
���� ��'� ���	$�	.�� ���� ����� �� : R� �
 5@@># � ������
���� �� ����� "��
�� < R� / ���!��(� ���� �� ��-'�
�� ��$ ���� � +	� � ��
���� �� �����
�
�����
���� ��!��, ������� ��
 	
� ��'� 
���� �� ����� �� ; R �� ����

��� ������������ � �����
�� �� �
��

/� ���!������ �� ���������� �� 8��� ����
 ��� �
����*����� �
 ���� ������.
���� ����������# ��������.�� ��� ����$����� �� ��
��� �� �����(� ������������
� �� �%&�� ���
������ �� 
��
�� ����� ���������� �(�E



����
���	� ;

• )
��
���
��� �� �*+���"�E ��
 ��
� �� ���!� �����
����# ������ ��
	
 ����$���� �� 
���� ���$� L��� 9D ����M# �� ��!�� �+	���
����� �
��� �����
���� �� �����
�# !������ ������� 	
 �	
���� ���!���� ��
��
���� �� ������� �
������� ?���

����# � �
��� �
���� � ���
�$���
�� "��
� 
��� �	 
���� ������������ ��� ��!����� �
���� "	��������
�� �����
�� B� ���� �� ����%(� � �����
���(�# �'���� 	
� �������%(�

��� "���� �� �������� �� �
��� �
�����

• )
��
���
��� �� �+
���"�E ��
 ��
� �� ���!� ������
���� 	
� ��.
�������� �� �����%(�# ���
	���� �
���� �� �
��������# ���� 	
 ����.
$���� �� 
���� ���$� L��� �'�
�
�# ��� ; ���� ���� �����
�� �����.
���
���� ��
 ���	
�%(� �
	����	�
# ��
� � � ���� �� 3����
M� B��.

�

���� � �	���!����� �
 	
 �
��� �
���� �� �����%(� ����������#
�� +	�
 �� ���
��� � 
�
��� ���������� ���� 	��
�$�%(� ��� ���	��� �.
���������� L,�	� ������0!�
 � ���!���� ���� �T	�� ��� �����!��-���� �

����������%(� �� 	�� �� ��
�	��0!�
 ��� 	����� ���
����M � 	
 �
���.
 �
���� �� �����%(� �
������# �� +	�
 �(� ���
������ �� �
������ ���
�����&�� �����������# �� ������
� �� 
��	���%(�# ����# �� ����
�����
��� �	������
�� �� ����%(� � �����
���(�# !������ �������� 	
 �0!�

���+	��� �� ���*���
������

• �+
���"� 
� $
�+�,�
�
E ��
 ��
� �� ���!� ������� ) ��
���� ���.
����O��� �� �����
�# ���	��� �� ������!�� �� �
��� �
���� �� ����.
�%(�# ��
 ���!��� 
0��
�� �
 ��
�%(� )� ����&�� � "��+	����� ��.

����� � 
���
�$���� �� ������	�%&�� �� "������
���� �� �������� /.
�	�

���� � ���
�$��� � ������ ��� ������� �� �����%(� �� 8����
���
�� +	��� ���	�
 "���
������ ���� �+	���%(� ��
��� �� ����� � ��
���.

���� L8�/�/M � �����
�� ��
�	��������� ����$�� �� "������� ���
���������� �����%&�� 
��� ���+	��� ���� ��
���� �� �����&�� � �%&��
�� ������
��

��� 
��	��� � ����������� ����	���������

���� �'��	��� �� ����"�� ��
��������� �� �
��� �
���� � �����%(� �� 8���
��������� �� ���
 ��������# �� ����������� �� 8�� ���������
 �� "����
�����
��
�	��������� ���� ��,
���# ��
	
�%(� � ������
�� ����� "����
����� ���.

���
 ��� ����������� � ��
��� �� �����&�� ��
 ��
�%(� �� �
��� �
���� ��
�'����(�# ) 
�
��� ���������� �� �����%(� � �� �"���!� ������
� �� �����
��
/ ���	�� �(� ��
��������� �
�	
�� "����
����� � ����� �� ���	��� 	��
�$����
��� !,���� ���,���� �� ���������� �� 8���E

• �����
����� 3,����� �� /�,
��� � 8�
	
�%(�E

6 �
	'� �� ��������U

6 �	���.����	���U
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��O����U

6 /�,
��� ����
U

6 8�
	
�%(� �� 2������-���� �
����
����������

• �����
����� �� ���
�$�%(� � /!�
��%(� �������
0�����E

6 �
	'� �� �������� H��
�U

6 �
	'� �� �������� �������
0�����U

6 /!�
��%(� �� ���*���
����� �� 8����
�� �� ?���%(�# 2����
���(�
� �������	�%(�U

6 /!�
��%(� �� ���*���
����� ��
����� �� 8����
�� �� ?���%(�.
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���(��

• ���	���������
����� �� �
��� �
���� �� �'����(�E

6 ���!��(� �� ����� � 1���� ���$�U

6 �'����(� �� 8����
� �� ?���%(�U

6 �'����(� �� 8����
� �� 2����
���(�U

6 �'����(� �� 8����
� �� �������	�%(��

• ���	���������
����� �� �
��� �
���� �� �����%(�E

6 ���!��(� �� ����� � ����� ���$�U

6 ������
�%(� F�������
���U

6 ������
�%(� �� ���	���%(�U

6 ��+	�
�� �� �
��������U

6 �����
���%(� �� �����!� �������!��

• �����
����� �� �����%(� �
 2�
��.���
E

6 8����
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������ �
 +	��� ����� �� ��0��� �� 
	��� ���(�
�������� ��� 	
 �������� �� ������	�	��%(�� ����� 
	���%�� ��������
.
�� �� ������ �� =D �� ���������� L6��
������# ���-��� � ��0� �� ?�
��M �
�
 �
�	�� ��0��� �� /
����� 1����� L���
�# 3�
0!��# ����M# � "���
 �����.
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���	�� 5�:E �����%(� �� 8�� ��
� 
����-
�� ���	
���

������� �� ������	�	��%(� �� ����� �
������ �(� �(� ������,���
���� �� 
��.

�� �
 ����� �� ��0���� �
 �
�	�� �����# ��
� �� ����� ����� � ��0��� ��
/
����� 1�����# � ������	�	��%(� ���
�����	 � �������� �� ���!���$�%(� ��
����� �
������# ����������� ���� ������ �������� ���!���� � 
������ � ��!����
��� ������� ��!����
����� ������,���� ) �'����(� �� ������ B�� ��0��� ��
1���� �	����	# � �������� ���	� 	
� ��������� ������
�$��� �� ���!���$�%(�
� ���������
�$�%(� ��
���������!�� B�� ������� ������ � �
 �	���� ��0���#
���� �� �
������ �� ������� �
������ �
 �	� 
���� �����  , ���
 �
���.
��� ���!����# � ������	�	��%(� ��
 ��
� �� ���!� �	
����� � ��
����%(� �
������	
�
����%(�# !������ ��
��	�� � �	��� �� ������� ���� � ����	
����
*��
 � ����	$�� � 	
� 	��
�$�%(� 
��� �*������ ��� ���	���� ����������� �

�
��� ������!�%(� �� �
�������

B� 
���
� ������# �� �
������ �� ������� �
������ ��
 	
� ����	�	��
!������
# ���
������# �� 
������ ��� �����# �� ���
����� �� ����%(�# �����.

���(�# �������	�%(� � ��
�����
�$�%(�� ����� �
������ ������
 	
� ���.
����(� ���� � "������
���� �� ������� ���� 	
� �����
����� ����(� �� ��0�
� ������
 ) ��
���� ����� ����(� 	����� � ������� ������ �� ��	 ��-����
�����
�# �	 ��+	����� �� �
������ !�$�����# 
������� ��������� �� 
���� �	
�	��� ���$��� �
 �
�	�� �����
��# ��������� �� "������
���� �� ������� �����
�
������ �(� ������
���� ���������� �
������
���� ����
 �'�����# �'������
� �����"������� �� ������� ����!���� �����
� �� �����
���(� �� 	
� ��������
�
����� L-.


��/M� � 
���
� � "����
���� ���	
��� � �(� �'���� � �������
�.
���� �� 	
� �
����� ��
�����
�$�� ������� ������
���� � ����	
������ "���
�� �	� ,��� �� �������(�� �� ����� �� !���� ����S
���# � �����
� ����� ��
�
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 ����
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������
� ����������� ��
�����%(� �� �����
� �����
�����# � +	�
 ������� �� ��!����� �
������ ��
 ��

��
�%(� �� 
�
��� ����!����
���� ��� ���	��� ����������� � ���*���
����� ��
�����
� �
������� ���� 
���
� � �
	������ �� *�	�� 5�:�



= ������� �� 	���� 
���
����

�
� ������ !�������� �� 
���
�� �� ������	�	��%(� �� ����� �
������ ��

���� ���������� B� 
������ ������ 
���
��# � ���
�
���
���� L&�%&��
��/M
��� ���
����� �� ����%(�# �����
���(� � �������	�%(� �
 ��"������� �
������#
���, ��������� / �����
���(� � � �������	�%(� �(� ������������ 
����-
���
���	���� �# �
 ����
# ������	�
 ���	
���� �� 
������ � ���
���� 	
 �
.
������ ��
������!� ���� �
������ �� ����%(� � ��
�����
�$�%(�� /� �
���.
��� �� �����
���(� � �������	�%(� �(� ��������� � ���
���� � ������ �� ��	
�����
�# 
������� � ������%� �� 	
 ���!�%� �� �����
���(� L���,���M# ���.
����
������ �� ������%&�� �� ������� ����� +	���+	�� �
������ �� ����%(� �
��
�����
�$�%(�# ����� +	� �� ������%&�� �������!�� �� �����
� ����
 � ���.

���
� �
 !,���� ��0���# � �����%(� �� �����
� � ��
����� � 	
 �	 
���
���������� 6������������ �� 8����
� . �68 L0��
+
��
�� 12��
�� �+
��,
���� , 01�M# ��
 ����	
 ��������� *�������� �� 
������ �� ������� �
�������
� ������ �� ��	�%(� �� �68# �	�� �����	�%&�� � ����������
������# !����

�� 	
 ��0� ���� �	��� �	 
��
� ����� �68� �� 	
 
��
� ��0�� B� 
0�.
�
�# � �68 ���, 	
 ����
 ��
�
����� �� �� ����������� �� �����%&�� ��

���
� ������� B� �	��� �'���
� �� ����
�# � �68 ���� ��� �������,!�

��
� �
��� �
���� �� �'����(� �� �����
���(�# �
��� �
���� �� �����%(�
�
������ � ����������# � �����%(� �
 ��
��.���
� � �68 �����, �	 �(� ���
� ��������,��� ��� �����
�� �� �����
���(� ��� �	� ����������
������ ��

��
� "��
�# � �68 �����, �	 �(� ������ � 
������ �� ������� �
�������
�
 �
�	�� �����# � �����%(� �� 
������ � ��
����� � 	
� �	��� ��������
����
����� �� 3�
�� �� �������L)�-
� �*�.��/
 , )3M� �
 
	���� �����#
� �68 � �������,!�
 ��� �"������ �� ���
���� 8��!�%�� /���
���� L����

��2
1
�4��
�M# �� +	��� ���
	�
 � ������
� �	��
,���� �� ����%(�# �	����� ��
�����!��# �����!� �������!�# ���� �
 �	���� �����# � �68 �������� 	
 
��.
���� �� 8��!�%�� /���
���� ���!���� ��� �	���� �
������� ����

����# �
��!� 
���
� ����

���� ���
	� 	
� ������� ��!����
����
 L/����� ���	.

����M �������,!�
 ��
� ������
� � �	���!��(� �� "	������
���� �� 
������
�� ������� � � �	
���
���� ��� �������� ��� ����	
������� �
� �������!�
�� �
	����� � ��!� 
���
� ��� 8��� � 
������� �� ���	�� 5�;�

����� ����
���
��� � ����������
��� �� ����� ��
����� ��
�
�������

��� !�
�� �� 5@@D# � ��!���� �����
���� ������	 	
 ������
� �� ���!���$�%(�
�� ����� �
������� ���� ������
� "�$ ����� �� ��"��%� �� ��!���� �� ������� ��
������ ������
 ���!��� ���� �� ������� �� ��"��.����	�	�� ��+	���� � ��!����
���������!� �	�� �%&�� �
 ,���� ��
� ��	��%(� � ��4��� B� ���0��� @;.@=#
!,���� �
������ �� �������	�%(� �� ������ ����� L1����# �
������	
�# ���1#
����M "���
 !������� ���� ��	��� "��
���� ��� ��!��������� ��������� �
������������� B� 
�
����# �� �
������ ���!����  , ����
 =D R �� 
������
�� �������	�%(� �� ������� �
������ �� ��0� L��� ������� ����	
���M � ����� ��
5; R �� ����%(� �� ������� �
������ L��� ������� ����	$���M� /�-� � 
	���%�
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���	�� 5�;E �����%(� �� 8�� �
 	
 �
������ ��
������!�

�� ��!���� �
  ������ �� 7DD9# � �������� �� ���!���$�%(� "�� �������
�����
����
�
�
���� �� �������� �� ���!���$�%(�# � ����� �
������ �����
���� "��

�	�
����� � 	
 �������� �� ������	�	��%(�� � 
���
� ������# ������� ��

����-
�� ������
# "�� �	�����	0�� ��� 	
 ��!� 
���
� ���� �'���� � ��
.
����%(� ��� ���
����� �� ����%(� � ��
�����
�$�%(�� � �������� �� ������	�	.
��%(� "�� ��������� �� "��
� ��
 +	� 
�!� �
 ���������%(� �� ������	
��������
 , ��
������� �� �����
� �����
����� �
 	
� ���
���� "��� �� ��������# ��
5@@@ � 7DD:# � ��!� 
���
� �� �����
� �
������ �����
���� ���!�� � �'��������
�� 	
 �
����� ���������� �
 ��
�/�� L�/�M# �� +	�
 �� ��
�������� �
!��������� �� ������� �
������ �����
 �"��	�� �	�� ������%&�� � �� +	�
 �
���%� �� ������� ��� ������
����� L+�
�� �+��M ����!�� �� 	
 �������� ������
.
�$��� �� ���
�$�%(�� � �/� "�� ������ ��� 	
 ������ 
	
��
�����
 �� +	�

�����������
���� ������������ ����� �� ��������� ��
 ���������� �����
���

���� +	� ;D �Q � ����� �� ����	
������ ��
 ����	
� ���
� �� 5DD ?Q�
��� ���� ?������ ����	
������# ��
 ����	
� ���
� �� 5D �Q# �	�����

����� ��� ��� 
�
���� �� �/��

� 
���
� �����
�
�!�# ��
��
# � �'�������� �� �+
����� 5������
 ��
1���
�� �
������ L�B8M# � +	�
 ��
 "	�%(� �� �������� ������������ ��
�����
�# ��
 �� ����������
������ �� ���
�$�� � �������� -��
� ������
�$���#
�� ������ ��
 �� ������ ������� ��
� 
�
���� �� �/�# � +	�
 �� ���!� �
�����%(� �� �����
� ��
 �	��� 
0��
�# 
������� �0!��� ���+	���� �� ���*.
���
������ ��
 � *��
����� �� �������� � �	
���
���� ��� 
��� � ������� +	�
��*��
 � "	������
���� �� �����
� �
������ �����
���� ������	�	����# "�� ���.
��� � /������ B������
 �� ������� �
������ L/B��1M# � �������� ���	
�����
�� ����� �
������ �����
�����

��
 � 
	���%� �� ��!���� �
  ������ �� 7DD9# ������	.�� 	
 �������� ��
��!��(� �� 
���
� �� ����� �
������ �����
����# � +	�
 �	

���	 ��
 � ���
	
.
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����

��%(� �� 1�� 5D�=:=# �
 
��%� �� 7DD:# � !,���� ��������# +	� ������
�����

	
 ��!� 
���� ���	
��-���� ���� *�� �� ��
�����
�$�%(� �� ������� �
������#
� ��!� 
���
� ���!� � ��.�'�������� �� ���� �
������� �� ��
�����
�$�%(�E

• /
������ �� ��������%(� ���	
��� L/��MU

• /
������ �� ��������%(� 1�!�� L/�1M�



���	
��
 �

������� �� �����������

��� ������	
��

���� ���0�	
� ��������� 	
� ��!��(� �� 
���
�� �� ��
�������� �� 8�� 	��.

�$���� �
 ���	��� �� ����
� ���
������# ������	
�
���� �� ���� �� �,
�	
�
�� T	'� �� �������� � ���	��� ����� �������� B� �����%(� ������ 
���
��#
���	
�.�� +	� �� ���������!�� �(� �+	�
������� � �������� �
 ����
� ���
�.
����� �������
 ) "��+V����� ���	�����
 L;DF$ �	 <DF$M� ������� ����
��� ��

��
�%(� ��� 
���
�� ������������ ����� ���0�	
� ����
 ��� ����������� �

W9X# W5>X# W:X � W5=X�

�� 
���
�� ��� ���	����� �
�
����� �(� ������������ � ���	��E

• 1����� �� �����
���(� �
 �/U

• �
�� ��U

• 2����"��
������U

• ?�������� � ��
���������� 80�������U

• 3����� �� ����������� � 6��	�����U

• ��
���������� ���,�����U

• �������

���  ��!�� �� "���������� �� �#

B�� ��
���%&�� ��������� ����� �����
��# �� 
����� �� �����
���(� �
 �/
�(� 
���
���� ��
� 	
 ����	��� π.�+	�!�
���� W9X# ��
� 
������� �� ���	��
7�5# �	 �� ���O
����� �(� ����� ���E

zkm = rkm + jxkm = zc senh(γl) L7�5M

ys
km = gs

km + jbskm =
1
zc
tanh(γl/2) L7�7M
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57 ������� �� 	���� 
���
����

� �
zkm = rkm+jxkm

ys
km

/2 ys
km

/2

���	�� 7�5E ����	��� �+	�!�
���� �� 
���� �� �����
���(�

2���
� 7�5E G�
���� �0����� ��� ���O
����� �� 
����� �� �����
���(�

���O. 1����� /����� �����

����� 79D PG ;DD PG 79D PG ;DD PG

R (Ω/km) D#D;D D#D7= D#D7= D#57=
xL = ωL (Ω/km) D#:== D#97; D#99@ D#D7;

bc = ωC (μΩ−1/km) 9#9>5 ;#7DD 7:;#< @<#;

����

l E ��
���
���� �� 
���� LP
MU

zc =
√
z/y E �
���O���� ��������0����� LΩMU

γ =
√
yz E ��������� �� �������%(�U

z = R+ jωL E �
���O���� ����� LΩ�P
MU

y = G+ jωC E ��
��O���� �.&�� LΩ−1�P
M�

R,G,L � C ��� �'�����&�� ���
� ����������
# ��������!�
����# � ��.
���������# � ����	�O����# � ����O���� � � �������O���� ��� P�
�
���� �� 
�����
� �������
���� ���� �,
�	
� ������ ���O
����� ���� ��� ���������� �

!,���� 
�!��� ��'���# ��� �'�
�
� �� ��"������� W5>X� B� ����
� 7�5 �(� ��.
���������� ���O
����� �0����� �� 
����� ������ � ����� �	�����O���� �
 �/
���� !,���� �0!��� �� ����(� W5=X�

��� 
��� ��

�
 �����
� �� �����
���(� �
 �������� ����0�	� L��M# �	 ��
�
��
���� 	

�
� ��# � ������
���� �������	0�� ���E

• 8����
� �
 �������� �
������� L/�M �	������U

• 2��
���
 ���!����� �� �������� �
������� �
 ����0�	� L����*�����MU



����
���	� 59

• 2����"��
������ ��
 ��
	��%(� �	��
,���� ��� ����� ��� ���!��.
�����U

• 1���� �� �����
��(� �
 �������� ����0�	�U

• 8����
� �� ������
����

• 2��
���
 ���!����� �� �������� ����0�	� �
 �
������� L��!�����MU

• 8����
� �
 �������� �
������� L/�M ���������

�� �
�� �� ����
 ��� ���*�	����� �� "��
�� ���������# ����� �� ���	�����
�� 
��� 	��
�$���� �� ��,���� W5=XE

• �
� ����+�
��E � 
���� �� 	��
�$� 	
 4���� ����	���# ���
�

����
�� ��
������� ������!�# ��
 ������� ��
� ��
� �	 ��
� ,�	�U

• �
� 6�+�
��E � 
���� �� ����	� ���� ����	�����# 	
 ������!� � �	���
������!�U ���� ���
���
 ��
 ���� ���!������� ��������� ���������� �

����� � �	 �  	�%(� � ��������U

• �
� 7���+�
��E � 
���� �� ����	� ���� �	 
��� ����	�����# �����
�� 
��
� ��
�������# ����

���� ������!�# � ����� ��
��� 	��
�$����
������� ��
� ��
� �	 ��
� ,�	��

/ ���	�� 7�7 ���������� �� "��
� ��+	�
,���� 	
 �
� 
�����
�� � ���,
	��
�$��� ��
� ���� ���� � ���������%(� �� 
���
� �� �
�� ��� B���� *�	��
� 8����
� /�5 � � �	������ �� �������� � � �����
� /�7 � � ���������

���	�� 7�7E ����������%(� ��+	�
,���� �� 	
 �
� �� L
�����
��M

� �����!�
!�
���� �� 
���
�� �� �
�� �� �'��� � ����������%(� ����
.
���� �� "	������
���� ��� ���!������� � ��
�������� �	'�
������ ���� �"����
�� ���	��� �
 ����
� ���
������# � �	*������ 	��
�$�� 	
 
���
� �� ����
����	��� �+	�!�
����# ��
� �+	�
� �����!�
!��� �
 W75X# � +	�
 � 
�������
�� ���	�� 7�9�

� 
��� �� �����%(� 
��� ��
	
 �� 	
 �
� �� � ������ ���*�	�����.
�� � ����*����� ���� 
����� � �������� �� 
���� �� ��������� � � ��!�����
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���	�� 7�9E ����	��� �+	�!�
���� �� 
���� ��

�������� ��
 O��	
� �� �'���%(� 
0��
�� B���� "��
� �� �����%(�# �� ��.

�%&�� ����� �� !���,!��� �� ����	��� �+	�!�
���� �� �
� �(� �� ���	����� W5=XE

�8&��9
� �� 0�4
����

Vdi = KiEi cosγmin −RciId L7�9M

Ki =
3
√

2
π

biti L7�:M

Rci =
3
π
Xcibi L7�;M

φi = cos−1(Vdi/KiEi) L7�<M

Pi = VdiId L7�>M

Qi = Pitanφi L7�=M

�8&��9
� �� �
��:�����

Vdr = Vdi +RLId L7�@M

α = cos−1
[
Vdr

KrEr
+

XcrId√
2Ertr

]
L7�5DM

Kr =
3
√

2
π

brtr L7�55M

Rcr =
3
π
Xcrbr L7�57M

φr = cos−1(Vdr/KrEr) L7�59M

Pr = VdrId L7�5:M

Qr = Prtanφr L7�5;M

����

Vdi � Vdr E ����&�� �� 
���� �� ��� ���
����� �� ��!����� � �� ����*�����U
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Ei � ErE !�
���� �
� ��� ����&�� �/ ��� ���
����� �� ��!����� � �� ����*.
�����U

Id E �������� �� 
���� ��U

RL E ����������� �� 
���� ��U

γmin E !�
�� 
0��
� �� O��	
� �� �'���%(� �� ��!�����U

bi � br E �4
��� �� ������ �� ���!������� �
 ����� �� ��!����� � �� ����*.
�����U

ti � tr E ����%&�� ��� ���� ��� �����"��
������ �� ��!����� � �� ����*�����U

Xci � Xcr E ����O����� �� ��
	��%(�# ��� ����� � ��� "���# �� ��!����� � ��
����*�����U

Pi � Pr E �������� ���!� �������� �� ��!����� � �� ����� �� ����*�����U

Qi � Qr E �������� �����!� ��
������ ��
� ���!����� � ����*������

�+	�%&�� ��
�
���� )� 
�������� ���
� ����
 ��� �����!�
!���� ����
�	���� 
���� �� �����%(� �� �
� �� � ����
 ��� ����������� �� ��"�������
W5=X�

/ ��
	%(� ��� 	��� ��� �����
�� �/ � �� �
� �� � ��
�$��� �� "��
�
�������!�# �����������.�� �
�������
���� �� �+	�%&�� �� 
���
� /� � ��

���
� ��# ������������.�� ���������� �� !���,!��� �'������ �� 
���
�� ��
� �/# ��������!�
����� B�� �����
�� �/# �� !���,!��� �'������ ������������
�(� �� ����&�� Ei � Er ��+	���� +	� �� �
� �� ����� !���,!��� �(� Pi# Pr# Qi

� Qr�

��� "����$���������

B� ����������%(� �� �����"��
������ �
 ���	��� �� ����
� ���
������ �
	�	�
 ������$��.�� �� ������������ ��� ����
�
�����# �� ������ �� �4�
�� �
� ��T	����� �� �������� �� 
������$�%(�� ����� "��
�# � �����"��
����
� ������������ ��
�
��
���� ��� 	
 �����"��
���� ����
# ��
 ��
�%(� ��
�����"��
�%(� ���� ��� Np/Ns# �
 ����� ��
 �	� ����O���� �� �������(�
�+	�!�
���� xt# ��
� 
������� �� ���	�� 7�:� ���� ����O���� � ������ ����!��
�� ������ �� �	���.����	��� ��� ���
����� �� �����"��
�����

B� ����������%(� �
 �	# ���� �� ����� �� ����(� �� ���
,��� � ���	��,���
�� �����"��
���� �� �
 ����
����� ��
 ��
�%(� ��	�
 � Np/Ns# � �����"��.

���� ����
 ���������� �� ����	��� �+	�!�
���� � +	�
 ��������� � �������

������� �� ���	�� 7�;�



5< ������� �� 	���� 
���
����

���������� ����������
� �

xtNp Ns
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� �xt(pu)
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8	����� 	
� ��
�%(� �� �����"��
�%(� �������� ���� ���E

a = Np/Ns = t ejφ L7�5<M

���������� ��� !�
���� ���	
���� ��� t � φ# ����
�� � ���	���� ���������.
������ ��
 � ��
������� � ��� ������������E

φ = 0 � t �= 0 ⇒ 2����"��
���� ��
 !����%(�
�	��
����� �� ��+ ��� ����� L12��MU

t = 1 � φ �= 0 ⇒ 2����"��
���� ��"��������

�� ����	��� �+	�!�
���� �� �����"��
���� 
������� �� ���	�� 7�<# ���� �
����O���� xt "�� �	�����	��� ��� 	
� ��
��O���� �������� y# ��
��E

VpI
∗
p = Es(−I∗s ) L7�5>M

����� ��� ���	
��� ��� ���������� �� � ��� �	��� �� ��	����� �� ��	��� �� �� !�"�
�� �����#���
�
� ���	�$�� ������ ��$�������� ��� ������ 
��� ��	������ � !�"� �� 
��%	��� ���#�

� � ���������

��������
�� ����������

y

���� ��������
�
�

� � �
 �

�

�
� �

Vp Es Vs

IsIp
� E 5

���	�� 7�<E ����	��� �+	�!�
���� �� �����"��
����
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� �
y
t

1−t
t2 y

a−1
t y

���	�� 7�>E ����	��� �+	�!�
���� �� �����"��
���� ��
 !����%(� �	��
,����
�� ��+ ��� �����

Vp

Es
= −I

∗
s

I∗p
= a L7�5=M

Is = −y(Es − Vs) = −y(Vp

a
− Vs) L7�5@M

Ip =
y

a∗
(Es − Vs) =

y

a∗
(
Vp

a
− Vs) L7�7DM

�� +	��� ����
�� ��	��� �� "��
� 
�������
[
Ip
Is

]
= y

[
1/aa∗ −1/a∗

−1/a 1

] [
Vp

Vs

]
L7�75M

B� ���� ��� 12�Y� Lφ = 0, a = tM# ��
��

[
Ip
Is

]
= y

[
1/t2 −1/t
−1/t 1

] [
Vp

Vs

]
L7�77M

� �� ���� ��� �����"��
������ ��"�������� Lt = 1, a = ejφM# ��
��

[
Ip
Is

]
= y

[
1 −ejφ

−e−jφ 1

] [
Vp

Vs

]
L7�79M

B� ���� ��� 12�Y�# � ������ �� �+	�%(� L7�77M � ����0!�
 �������$�� �

���
� π.�+	�!�
���� 
������� �� ���	�� 7�>� � 
��
� �(� � ����0!�

���� � ���� ��� �����"��
������ ��"�������� ��!��� ) ����
����� �� 
����$
�������� �� �+	�%(� L7�79M�

����� ��
�����	
����� ���� �����

�� �����"��
������ ���",�����# �� ���� �� �����%(� �
 �����%&�� �+	�
�.
������# 	��
�$�
 	
� ����������%(� �� 
���
� �� ��+	����� ������!� ��������
)+	�
� 
������� ��� ����� �����������
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�

xp xs

xt

�

���	�� 7�=E ����	��� �+	�!�
���� �� �����"��
���� ��
 ���� ����
�
�����

����# ��
�����	
����� ��	 ��$� �����
	�����

2����"��
������ ��
 ���� ����
�
����� �(�# ���
�

���# ������������� ���
����	���� �
 �����
� ��
� 
������� �� ���	�� 7�=� ���� ����������%(� ��.
����	$ 	
 �- *��0��� �� ���� L�- "M � +	�
 �(� �'���� *����
���� �� �����.
"��
����� �� ���O
����� �� ����	��� �+	�!�
���� �� ���	�� 7�= �(� �������
� ������ ��� !�
���� ��� ����O����� �� �������(� ����� �� ����
�
����� Lxps#
xpt � xstM �� +	��� �(� ������� ����!�� �� ������� �� �	���.����	��� �
 �����
�� ����
�
�����# ��
 � �������� ����
�
���� �������

�� !�
���� �� xp# xs � xt �(� ������� ����
!����.�� � ���	���� �����
� ��
�+	�%&��

xp + xs = xps L7�7:M

xp + xt = xpt L7�7;M

xs + xt = xst L7�7<M

L7�7>M

�� ���� ���	
��

xp =
1
2
(xps + xpt − xst) L7�7=M

xs =
1
2
(xps + xst − xpt) L7�7@M

xt =
1
2
(xpt + xst − xps) L7�9DM

��!�.�� ����� +	�# �� ������ ��
 L7�7=M# L7�7@M � L7�9DM# � ����0!�
 +	�
�'����
 ����O����� ������!�� �� ����������%(� �� ���	�� 7�=�

��� %�������� � ������������� �&�������

� ����	��� �+	�!�
���� ���
�

���� 	���� ���� ����������� 
,+	���� �0�.
������# �
 ��,
��� �� ����
� ���
������# � 	
� "���� �� ����(� ���������
�
 ����� ��
 	
� �
���O���� ��
� 
������� �� ���	�� 7�@L�M� / ���	��
7�@L�M ��������� � 
��
� ����	��� �+	�!�
���� 	����� 	
� "���� �� ��������
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�

���	�� 7�@E ����
� �� ������� �	 ��
�������� �0������

�
 ����
�
� ��
 	
� ��
��O����� / ���	�� 7�@L�M ��������� � 
���
� ��
������� �	 ��
�������� �0������ ���
�

���� 	��
�$��� �
 ���	��� �� T	'�
�� �������� � +	�
 � ����!��� �� ����	��� �+	�!�
���� �� 
,+	��� �0������
����!�� �� ��
�%(�E

Sk = VkI
∗
k = Pk + jQk L7�95M

������ � 
���
� �� ���	�� 7�@L�M � �+	�%(� L7�95M# � ������� ���� ���

���
��� ��
� 	
� "���� �� �������� ���!� � �����!� ���������� LPk � Qk

������*�����M �	 ��
� 	
� "���� �� �������� ���!� ��������� � ������
����
����
 �� ����(� LPk � Vk ������*�����M� �
 �
��� �� ���	�%&��# �� !���,!���
�(�.������*����� �� 
���
�# Vk �� ���
���� ���� � Qk �� ���	���# ��
����
����
 ���	
�� !�
���� �
 	
 �����!�
� L
�
���� �������!��M� B� ���� ��
��
�������� �0������# �����.�� � ���	��� "��
	
�%(� ��
 Pk = 0�

��' (����� �� ����������� � ���	�����

�� ������ �� ����������� � ���	����� �(� ������������� ��� !�
���� *'�� ��
����O����� ���	��!�� �	 ��������!�� ���������� ����� �� ������ � � ��"�������
��
� 
������� �� ���	�� 7�5D�

� ���������
� �

jblk jbck

L�M L�M

���	�� 7�5DE ����	��� �+	�!�
���� �� ������ �� ����������� � ���	�����

��) ������������� 
��*�����

�� ��
���������� ���,����� �(� ������ �� ����������� ���	 ���	����� ���!��.
��� �
��������
����� / ����
���%(� ���,���� !�
 �� "��� ��# ���������
����
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• ��������� ���!���� ��� ���������� L28�MU

• ������ ���!���� ��� ���������� L28�M�
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P = P0
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)2
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(
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)
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]
L7�97M

Q = Q0

[
q1

(
V

V0

)2

+ q2

(
V

V0

)
+ q3

]
L7�99M

L7�9:M

���� pi, qi, i = 1, 2, 3 �(� �������%&�� +	� ��*��
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������� �� 
���
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5 �������� ��������� P = V P0
V0

= V I0
7 6
���O���� ��������� P = V 2 P0

V 2
0

= V 2/Z2
0
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P = P0
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V
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L7�9;M

Q = Q0

(
V
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L7�9<M
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���� ��
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 5#D
�	� ��������� 	
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 �� ����� �� 5DD Z  >D �G/ �
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�� �� 5D �Q 
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3��� �� �������� �� �����
�E 5DD �G/
��
���
����E ;DD P

2���(� ��
���
E 9:; PG
����������� LΩ/kmME D#D:D
����O���� ���	��!� LΩ/kmME D#:DD
8	�����O���� ��������!� LΩ−1/kmME :#;DD ×10−6
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 �	M ��� �����"��
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���� 5E 12�
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E 9;D �G/
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���
 �� ���
,���E 79D PG
2���(� ��
���
 �� ���	��,���E 59#7 PG
����O���� �� �������(� �+	�!�
����E 5D R
3��� �� �������� �� �����
�E 5DD �G/
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� �ẏkm

ẏk ẏm

���	�� 9�5E ���
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�
����� �� ����

�� �
�
����� �� ���	�� 9�5 � 2���
� 9�5 ��
 � ���	���� �����*����

ẏkm = gkm + jbkm = 1/żkm L9�5M

żkm = rkm + jxkm L9�7M
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rkm ����������� �� 
���� �	 �����"��
����U
xkm ����O���� �� 
���� �	 �����"��
����U
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Pk + jQk = V̇k İ
∗
k = V̇k

⎛
⎝ ∑

m∈Ωk

V̇ ∗
mẎ

∗
km

⎞
⎠ k = 1, 2, ..., n L9�:M

Pk = PGk
− PLk

L9�;M

Qk = QGk
−QLk

L9�<M

�- � ����#�'�� ��� �,��'(�� 	����� 
��� ��� �	��	�����. 
�� �"� 
��. � /012�
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� %	����� �� >&*� �
 +��?���� �
��
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PG1 + j QG1 = V̇1 [ Ẏ11V̇1 + Ẏ12V̇2 + Ẏ13V̇3 ]∗

PG2 + j QG2 = V̇2 [ Ẏ21V̇1 + Ẏ22V̇2 + Ẏ23V̇3 ]∗

−PL3 − j QL3 = V̇3 [ Ẏ31V̇1 + Ẏ32V̇2 + Ẏ33V̇3 ]∗
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���� ���4�� ������ �� ����
�� )��� �
 ���.
�
�
�� 4�
��
� ��� +
����� 
���
������ +�
������� ���.
�
� � ��
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�
 +��?���� �& �
��� +��� ;���&
�� ����
���
��
 � +��%

�� � �
�
��	���
���.
�
� � ��
&�"� �� +��%

��F

� ��
&�"� �
	����� �� D��

��E ����� �������
 �� ������&�"� �� ����
���
�
 D6���� !
&�&���
E� ���� �� &�� %���� ���
 �
�*�,�
 D
� �%
���E �� 4�
��
�
�� +��?���� ���4� 
 �
���4� ���
����� �� �
�
� �� �
���� ���
�	������ ����

8&�4�

 � �
����� &�� ��� 
8&��9
� �� ����&��� ����� 1&+���� 8&
 � %����

���
.��� ���� %���� >&�&���
 �
�� � �
 �G�
�� �� 
��"� � ��4� ����
�� �


8&��9
� �
�	

PG2 + j QG2 = V̇2 [ Ẏ21V̇1 + Ẏ22V̇2 + Ẏ23V̇3 ]∗

−PL3 − j QL3 = V̇3 [ Ẏ31V̇1 + Ẏ32V̇2 + Ẏ33V̇3 ]∗

5
��
 ��4� ����
�� �
 
8&��9
� � %�
���� �
 +��?���� �"� +�
���� �
�
��
����� � ��;
�
��� �
�	 �&+���� +�� PG1 
 QG1  )��� ���+
���� �
�����&��"� �
 &�� 
8&��"�� �
4
,�
 :*�� � 4�
�� �
 &�� ��� ���B/����� )��
��'9
� �
 ���
� +�	����� � �
��"� 
���
.��� � � �� %���� >&�&���
 5
����
������9
�� � ����
�� �
 
8&��9
� ����� +��
 �
� �
��
4��� +��� �� 4���	4
��
V̇2 
 V̇3 �� �
/&���� +��
��� ��
�&
�� �� ���
�9
� �
 +��?���� ���4� 
 �
���4�
�� %���� >&�&���
 &����� � 
8&��"� �
�*��� �
 ;���� �& �
���

PG1 + j QG1 = V̇1 [ Ẏ11V̇1 + Ẏ12V̇2 + Ẏ13V̇3 ]∗

��
� 
������� �� �'�
�
� ��������# � ����(� L�
 
-�	
� � O��	
� ��
"���M �� ����� T	�	���� ��!� ��� ������*����# ���� �# "�������� ��
� 	
 ����
���� � ����
�
� �� T	'� �� ��������� ��� ���� ��$(�# � ��
� "��� ��� ������
������ ����
 �
������ ) 
��
�# � ����� T	�	���� ��!� ��� 	
� ����� ��
+	�
 ���, ��������� 	
 ������� ����$ �� "������� �������� ) ���� � ���	
��
� ����(� �
 ��	� ���
������ ��
� � O��	
� �� "��� �� ����(� ����� �����
��
��
 � ������*����# � ����(� �� ����� T	�	���� ����� � �'����� � ����

�� ��"������� ���	
�� �� �����
�� N ����0!�
# ����
 ��
 ��
��� ������,���#
	��
�$��.�� 
��� �� 	
� ����� T	�	���� �� "��
	
�%(� �� ����
�
� �� T	'�
�� ��������� /� ���	�%&�� +	�  	���*��
 � 	��
�$�%(� �� 
4
���
�� ������
T	�	����� ���(� ��������� �
 ��%&�� ���	����� ������ ����� �� �	
��

���� ����� 
�������. � ����	'� �� 
��%	��� �����#� + ��������� �� $�� � ��������)�� 
���
�	�����'�� ��� �3� ���� 
����� �� ��	��� ��	�������. �� � #��� �� � �������
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����

/
�
 �� ����� T	�	����# � 	�	�
 ������	$��.�� 	
 �	��� ���� �������
 ��
����� �� ���	�� �� T	'� �� �������� �� +	�
 � 
-�	
� �� ����(� � ������.
*����� ���� ���� �� ����� ��
 ��� *��
����� ����������� � �%(� �� �+	���.

����� ��
 ���������� �� ���	
�%(� �� ����(� L���������# ��
����������
�0������� � ���,�����# ����M� ���� ���� �� ����� ������ � ����
���%(� ��
6���� �
 $
��"� ������
���� /� ������ �� ����(� ������
��� ��
 	
 ����

�
�������� �� �����
���%(� �� ���*
 �� ����(� �� �����
� �# ��
� !���
��
�
 ��%&�� ���	�����# ��T	�����
 �� "��
� �����*����!� �� ��������0������ ��
���!�������� ��� 
������ �� ��
	%(� �� T	'� �� ���������

/ ���� ����� �� �����
� ���(� ���������� +	���� !���,!���E Pk# Qk# Vk# �
θk� Pk � Qk �(�# ��������!�
����# �� ��
�������� ���!� � �����!� �� ��������

0+	��� L����%(� 
���� �����M �� ����� �� ������ Vk � θk �(�# ��������!�
����
� 
-�	
� � O��	
� �� "��� �� ����(� �� k.���
� ����� �� �����
�� /� ����&��
����
 ��
��
 ��� ������������� �� "��
� ������	
�� �# ����� ���� Vk � θk

�����
 �	�����	0��� ��� ek � fk# ��������!�
����# �� ������ ����� � �
����,����
�� ����(��

/� +	���� !���,!��� ���������� � ���� ����� �� ���� ���(� ��
���������
��
 �� ��
��� !���,!��� �� 
���
� ����!�� �� �+	�%(� L9�:M � +	�
 ��*�� 	

��� 	��� �� 2n L� [ �4
��� �� ������M �+	�%&�� �
 !���,!��� ������� ��
�
�'����
 4n !���,!��� �����# ���� +	� � ����
�
� �� T	'� �� �������� �����
��
	%(� � ������,��� ������*��� � !�
�� �� 2n ������ !���,!���� ����������
�� ����
�� ������ !���,!���# �� ������ �� �����
�# ���� �"���� �� ���	�� ��
T	'� �� ��������# �(� �
����*����� �� ������ ��
 � 2���
� 9�7� B���� ����
�
��
��
 � ����������� 	
� ����
���%(� ��������� ���� �� ��!����� ����� ��
������ LV θ# PV � PQM ���
�

���� 	��
�$��� �� ��,���� � ������� ���
!���,!��� ������*����� �
 ���� ���� �� ������

2��� B�
� G���,!��� G���,!��� ��������0������
������*����� ��
�	
����

�
	�	����# ����� ���� � ��
��%�
1
��< V θ Vk, θk Pk, Qk �� ���������
�	 1-��/ ��"������� ���	
���

3����� �� ����%(�
2���(� �	 ��� +	��� �'����
������
��� PV Pk, Vk θk, Qk �
�	
 ���������!� ��

������
� �� ����(��
����� PQ Pk, Qk Vk, θk ��
��� �������

2���
� 9�7E 2���� �� ������

�4 $�� ���'�� �"
�)���� ������ �,��'(�� ���� �
����	���� 	� ��'�� �����	��
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#���# '��,���� � ���� �� �-�
�.��

/ �+	�%(� L9�:M ���� �� ���������# ���������.�� �� ��
�������� ����� � �
��.
��,����# ��
�

Pk = �
⎧⎨
⎩V̇k

∑
m∈Ωk

V̇ ∗
mẎ

∗
km

⎫⎬
⎭ k = 1, 2, ..., n L9�>M

Qk = �
⎧⎨
⎩V̇k

∑
m∈Ωk

V̇ ∗
mẎ

∗
km

⎫⎬
⎭ k = 1, 2, ..., n L9�=M

�'��������� �� ����&�� �
 �	� "��
� ��
��# �� �+	�%&�� L9�>M � L9�=M
����
 ��� ������������� �� "��
� ��
����� ���

Pk = gpk
(Θ,V) = Vk

∑
m∈Ωk

Vm(Gkm cos θkm +Bkm sen θkm) L9�@M

Qk = gqk
(Θ,V) = Vk

∑
m∈Ωk

Vm(Gkm sen θkm −Bkm cos θkm) L9�5DM

����
Θ !���� �	 �� ��
�������� �(� �� O��	
�� �� "��� ��� ����&��

������U
V !���� �	 �� ��
�������� �(� �� 
-�	
�� ��� ����&��

������U
θk O��	
� �� "��� �� ����(� �� ����� kU
Vk 
-�	
� �� ����(� �� ����� kU

�

θkm = θk − θm L9�55M

B� ���� ��� ����&�� ������ ����
 ��������� �
 �	� "��
� ������	
��# ��
�'�����&�� ���	����� ��!�
 ��� 	��
�$����

Pk = g′pk
(e, f) =

=
∑

m∈Ωk

[ek(Gkmem −Bkmfm) + fk(Gkmfm +Bkmem)] L9�57M

Qk = g′qk
(e, f) =

=
∑

m∈Ωk

[fk(Gkmem −Bkmfm)− ek(Gkmfm +Bkmem)] L9�59M

����
e !���� �	 �� ��
�������� �(� � ����� ���
 ��� ����&��

������U
f !���� �	 �� ��
�������� �(� ����� �
����,��� ��� ����&��

������U
ek ����� ���
 �� ����(� �� ����� kU
fk ����� �
����,��� �� ����(� �� ����� k�
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������ �� ��
	%(� �� ����
�
� �� T	'� �� �������� 	��.
��� ��	�

���� ��!���
 �� �+	�%&�� ��*����� �
 L9�@M � L9�5DM# �	 L9�57M �
L9�59M# �
 ���� �	���� 	���� W7DXE

• 1&%����&��� �E �����
 �� �+	�%&�� ��
���!�� )� �� �%&�� �� ��������
���!� � �����!� ��� ������ �� ����� � �� �+	�%&�� ��������������� )�
�� �%&�� �� �������� ���!� ��� ������ �� ����(� ������
���U

• 1&%����&��� �E ��	�� �� ��
��� �+	�%&��# �	 �� �# �+	�
�� �(� ���
	0���
�� ���
���� �	���� 	����

���� ��!��(� � 	��
�$��� ��
� "��� �� +	� �� 8	���� 	��� 5 �� !���,!��� �
����
 ��
�	
���� �(� "	�%&�� �
�
0����� ��� !���,!��� ������*������ ��������#
�'���� � ����������� �� ����
!�� ���� ��� 	��� �� �+	�%&�� 	��
�$���� �
�	


����� �� ��
	%(� �� �+	�%&�� �
�������� �(�.
�������� 6��� �(� ��������
��
 �� �+	�%&�� �� 8	���� 	��� 7 ��� +	���# ��-� � ��
	%(� �� 8	����.
 	��� 5# �� !���,!��� � ����
 ��
�	
���� �(� "	�%&�� �'�
0����� ��� !���,!���
����������� ���� "��� ���, �
	������ ����!�� �� ���	���� �'�
�
��

�#�� 
� !�� ������
�
 � ����
�� �
 ����� %����� ���� �� !�/&�� = =� ���
�� �
�+
���4�� �
:���9
� ��� ��+�� �
 %����� )��� 
��
 
*
�+
�� �� 4
���
�
Θ 
 V �"� �
:����� +��

Θ = [ θ2 θ3 θ4 θ5 ]T

V = [ V3 V4 V5 ]T

� +����� �
��� �
:���"� �
 4���	4
��� �� �&%����&���� �
 
8&��9
� � �
�
�
�
��
4���� �"� 
���%


����� ���� � �
/&��C

1&%����&��� �

P2 = gp2(Θ,V)
P3 = gp3(Θ,V)
Q3 = gq3(Θ,V)
P4 = gp4(Θ,V)
Q4 = gq4(Θ,V)
P5 = gp5(Θ,V)
Q5 = gq5(Θ,V)

1&%����&��� �

P1 = gp1(Θ,V)
Q1 = gq1(Θ,V)
Q2 = gq2(Θ,V)

)��� 
;
��� �
 �
&�����"�� �&�� ��� ;&��9
� &��
�'���� ��� 
8&��9
� �����
�
�"� 
������� +�� 
*�
���C

gp3(Θ,V) = V 2
3 G33 + V3V1(G31 cos θ31 +B31 sen θ31) + V3V2(G32 cos θ32
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Vθ � �� � ��

������

���	�� 9�9E 8����
� 	���� �� �'�
�
� 9�7

+ B32 sen θ32) + V3V4(G34 cos θ34 +B34 sen θ34)
gq3(Θ,V) = −V 2

3 B33 + V3V1(G31 sen θ31 −B31 cos θ31) + V3V2(G32 sen θ32
− B32 cos θ32) + V3V4(G34 sen θ34 −B34 cos θ34)

�� ;&��9
� ����� ;���� ���+
�:����� �%�
�4����,�
 8&
 θ33 = 0 

��� ���	
�� �� ���-����

/ ��
	%(� �� ����
�
� �� T	'� �� �������� �������� �� �	�� "����E

• 8�
	%(� �� 8	���� 	��� 5 �� �+	�%&�� ��� 	
 �������� �������!� !������
� �,
�	
� ��� ��
�������� ��� !������ Θ � VU

• 8	�����	�%(� ��� !�
���� �� Θ � V ��� �+	�%&�� �� 8	���� 	��� 7 ��

� �� ���!� �� �� ��
�	
�� �� !�
���� ��� �� �%&�� 
0+	���� �� ��������
���!� � �����!� �� ����� T	�	���� � ��� �� �%&�� 
0+	���� �� ��������
�����!� ��� ������ �� ����(� ������
����

��!��� ) ����������� �� �� ����������� �� 
�
���� �������!�� ��� ��
��������
�� �����
� � ���������!�� �� ������
�# ��� ����� ��,����� �'����# �����# �
����������� �� �� ���
�$�� � 	���� � 
	���%�� �� !���,!��� �	����� � ��������
�� ��
	%(�� ����� � 	���� �����������
 ) �
�
�
����%(� ��� ���+	�%&��
��������� �� "��
	
�%(� �� ����
�
� �� T	'� �� �������� ��
� ������ ��
��0��� ����� ���0�	
�� ���� "��� ���, �������� �
 ��%&�� ���	����� ������ �����
�� �	
��

��� ./����� �� ���	
��

�� 
������ �� ��
	%(� �� T	'� �� �������� W79X ����
 ��� �
����*����� �

���� ���������� �� +	���# �
 ����
 �����
-���� �� �������
���� �� 
������	��#
�(�
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5� ������� 3������� �� �����$ Y
����� 
������ �(� �������� �� ��
	%(� �������!� �� �����
� �� �+	�%&��
��*���� �
 L9�9M� / ������ ��� !�
���� ������*����� ��� �� �%&�� ��
�������� ���!� � �����!� � �� 	
� ����
���!� ������
 ��� ����&�� ������#
��
�	
�.�� � !���� �� ��������� �� ������� / �	�����	�%(� ����� !���� �

L9�9M ����	$��, � ��!� !�
�� ��� ����&�� � ����
 �	�����!�
����� ������
�� �
�����
�� +	� 	��
�$�
 Y# � 
��� ��������� � � �� ?�	��.8����

+	� ���, �������� �� ��%(� ���	����� / ���!�������� ����� 
����� �
�������� 
���� ��!��� ) "���� ������%(� ����� �� !���,!��� LY � �������M
� )� !�$�� �������� ��"0��
 �
 �����
�� 
�
.��������������

7� ������� 3������� �� �����$ Z
���� ��������� �� ����
�
�� �� ���!�������� ��� 
������ ��������
�
 Y "���
 �������� ��
 �	����� ��+	�
�� �������!�� 	��
�$���� �	�
��!���� Z� ����� 
������ ��
 ���!�������� �,���� � ���*,!�
 ����
� 
������ ��� ����
�
�� ��,����� ����
 ������	$�
 � ����
�
� �� ��

����� � ��
�$���� � 
����$ Z� /
�
 �����# � �����
���� �� ������ ��
����(� ������
��� � ��*��
 � ���*������ �� ����� �� !���� ��
�	�������
�

9� ������ �� B�C���.�������
� 
����� �� B�C���.������� ���� ��
	%(� �� �+	�%&�� �
��������
�(� 
������� � 	
 
����� �
,����� �� ����������� �*������� �� �,
�	
�
�	
������ 8	� ��
���%(� �� ��
	%(� �� ����
�
� �� T	'� �� ��������
��
���� �����	.�� ��,���� ��
 � ������	%(� ��� 
������ �� ��
	%(�
�� �����
�� �� �+	�%&�� 
������� ��
 
����$�� �� ���*������� ��������
��� "�����$�%(� ������	
�� ��������
��
 ��������� W7=# 7>X� / ������
����� ����� �,����# ��"������� !���&�� �� �
�����
�� ���� � ����
�
�
�� T	'� �� ��������# �������� �� 
����� �� B�C���.�������# "���

�����!�
!���� � �(� ������������ ��	�

���� �� 
��� �*������� ����
��
	%(� ����� ����
�
��

#���� '���
��� �� �������� �
 �������

���� �� �������
��� � �������� �������!� �� ��
	%(� �� T	'� �� �������� �
������,��� ��*��� 	
 �������� �	 ����� �� ������# � +	�
 
����, +	(� ��-'�
�
�� ��
	%(� �'��� �� ��������
 �� !�
���� ��������� ��� ����&�� �������

� �������� ���
�

���� 	��
�$��� �� ��,���� � � ��� ���0�	�� �� ��������
L)�-
� �������.
�M# �� +	��� �(� ��*����� ���

ΔPk = P esp
k − gpk

(Θ,V) k ∈ ΩPQ ∪ ΩPV L9�5:M

ΔQk = Qesp
k − gqk

(Θ,V) k ∈ ΩPQ L9�5;M

�&����  +����� ��� �
����	����� 	� 4
%	���� 4 ������ 	�����



����
���	� 9;

����
ΩPQ ��� 	��� ��� ������ PQU
ΩPV ��� 	��� ��� ������ PV U
P esp

k �������� ���!� 
0+	��� ������*���� �� ����� kU
Qesp

k �������� �����!� 
0+	��� ������*���� �� ����� kU�

� �������� �������!� ��!� ��� ���
����� +	�����

‖ΔP‖∞ ≤ εp L9�5<M

‖ΔQ‖∞ ≤ εq L9�5>M

����

ΔP =
[

ΔP1 ΔP2 · · ·
]T

L9�5=M

ΔQ =
[

ΔQ1 ΔQ2 · · ·
]T

L9�5@M

� εp � εq �(� ��
��O����� ������
���� �� �����!�
� �� D#D5 � 5D �Q��G/��
�
 �
�	�� 
������ �� ��
	%(�# ��� �'�
�
� �� 
����� �� ?�	�.8����
#

���� � �,
�	
� ��� ���0�	�� �� �������� �
�
������ �
 	
 �	
���� �'�����!�
�� ��
�� ��� �����%(�# ������ �������� �� !����%(� �� !�
�� ��� ����&�� �(�
	��
�$�����

#���� &
���� �� /
����������

� 
����� �� ?�	��.8����
 ���� ��
	%(� �� T	'� �� �������� � 	
 ��� 
���
������� ����������� �� 
������	��� 8	� �
����O���� ��	�
 � ������ ����-����
� ���,���� ����# ���� �����
�� �� ������ �����# �	� �*������� ��
�	�������

� 
	��� ��"����� �� 
����� �� B�C���.��������

� 
����� � "��
	
��� �
 ���
�� �� !���,!��� ��
�
�'�� � �(� 	��
�$�
� ��!��(� �
 �	���� 	���� �������� �� ��%(� ��������� 8	����� ������

����
+	� ����� �� ������ �(� �� ���� �K L�����M �'����# ��!��
����# � �����
T	�	����� B���� ���� � �
�����
� �� ?�	��.8����
 � ����!��� ������
���� ��
L9�:M � ���� ���

V̇ i+1
k =

1
Ykk

⎡
⎣P esp

k − jQesp
k

(V̇ i
k )∗

−
k−1∑
m=1

V̇ i+1
m Ykm −

n∑
m=k+1

V̇ i
mYkm

⎤
⎦

k = 1, ..., n; k �= flutuante L9�7DM

���� i � � �������� �� �����%&��� / !���*��%(� �� ���!�������� � ���
�$���
����!�� �� 
-�	
� �� ��"����%� ����� �� ��
�������� ��� !������ ��� ����&��

�4 	�� � �	*	��� �� � #���� + ��*	��� �� �

‖x‖∞ = max
i

|xi|
�



9< ������� �� 	���� 
���
����

����� �����%&��# ���� �# � �������� �������!� ���
��� +	����

‖V̇ i+1
k − V̇ i

k‖∞ ≤ εv

���� εv � � ������(� ���� ��� �� 
-�	
� ��� ����&���
� 
����� �� ?�	��.8����
 ����# ��
��
# ��� "��
	
��� �
 "��
���


�������
 ��
� � ���	��

I(V̇) = ẎV̇ L9�75M

���� 8 � 	
 !���� �	 �� ��
�������� �(� ����� ���

Ik(V̇) =
Pk − jQk

V ∗
k

, k = 1, ..., n L9�77M

/ �+	�%(� 
�������
 L9�75M ��*�� 	
 ��� 	��� �� �+	�%&�� 8&��
,
��
��
�
����������� 	
� ;���� �"�,
��
������
 ���/���
 ������������ ��
� ��������.
��� ��� !�
���� ��� ��������� �� ������ ��� ������ �� ���� �
 ��
�%(� ) ����(�
������ 
��
�� ������� ���� 	
 ���� !�
�� �� V̇# ��� �'�
�
�# � !�
�� ��
�����%(� ��������# � �����
� �� �+	�%&�� L9�75M ����� � ��� 	
 �����
� 
��.
��� � +	�
 ���� ��� ����
!��� ��� +	�
+	�� 	
 ��� 
������ ��������� ��
/������� /� �
 ������	
��# ����.�� 	��
�$�� 	
 
����� �� "�����%(� L1�#
��� �'�
�
�M �� +	�
 �����
��.�� ��
 � ��!���� �
�
0���� �� Y# �	 �� �# Z�
���� � � "��
� 	�	�
 �� �� �
�
�
����� 	
 
����� �� ��
	%(� �� T	'� ��
�������� 	����� � 
����$ Z�

�
 	
� ����� �G �� �,
�	
�� �(� 	
 ��	�� ��"������� ����� +	� � �� �%(�
�� �������� �����!� �(� � ������*���� � � 
-�	
� �� ����(� ��!� ��� 
������
�
 	
 !�
�� ��������� V esp� ��!��� � 
�
���%&�� �� �+	���
���� �������
�� �����!��# � �� �%(� �� �����!�� Qk �
 	
� ����� �G ��!� ��� 
������
����� 
�
���� Qmin

k � Qmax
k �

���� ��
	
�� ���� ���	�%(�# Qesp
k � �	�����	��� �
 ���� �����%(� ��� 	


!�
�� ��
�	
��� ���

Qcal
k = �

⎧⎨
⎩V̇k

∑
m∈Ωk

V̇ ∗
mẎ

∗
km

⎫⎬
⎭ L9�79M

��
 ���� !�
�� �� Qcal
k # � ����(� V̇ i+1

k � ��
�	
��� 	�����.�� L9�7DM� ��
�
� 
-�	
� ����� ����(� ��!� ��� 
������ ��	�
 � V esp

k # �� ������ ����� �
�
����,���� �� V̇ i+1

k �(� � 	������ ���� �����"�$�� ���� �����%(� 
�������.
��# ����
# � O��	
� �� "��� ��
�	
���� ���� �������� � ������������ ��
��
�+	�%&��

θi+1
k = arctan

f i+1
k

ei+1
k

L9�7:M

V̇ i+1
k = V esp

k cos θi+1
k + j V esp

k sen θi+1
k L9�7;M



����
���	� 9>

���� f i+1
k � ei+1

k �(�# ��������!�
����# �� ������ ���
 � �
����,��� �� ����(�
�� ����� k ��
�	
���� �� �����%(� i# ����� �� � 	����

���� �� 
�!�� �
 ���������%(� �� 
�
���� �� �� �%(� �� �����!��# � 	��.

�$��� 	
� ���������� �� 
	���%� �� ���� �� �����E ��
��� +	� � �� �%(� ��
�����!�� 	
��������� 	
 ��� 
�
����# ���� �� �%(� � *'��� �
 	
 !�
�� ��	�

�� 
�
��� !��
��� � � ����� ����� � ��� ������� ��
� 	
� ����� �� ������
���� ���������� � ���	
��� � ���	��

8� Qcal
k > Qmax

k =⇒ Qcal
k = Qmax

k

8� Qcal
k < Qmin

k =⇒ Qcal
k = Qmin

k

⎫⎪⎬
⎪⎭ k =⇒ {barra PQ} L9�7<M

8� ��� �����%&�� ���	����� Qk �������� � 	
 !�
�� ����� �� 
�
����# ���(� �
����� k !�
�� � ��� ������� ��
� 	
� ����� �� ���� �G�

�#�� 
� !�! 1&+��.� 8&
 �� ����
�� �� !�/&�� = � �� %����� �"� ���
�
/&���
� ��+��C %���� 1 = V θ� %���� � = PV 
 %���� = = PQ ���"��
�
/������ �
 #�&��,1
��

 �

V̇ i+1
2 =

1
Y22

[
P esp

2 − j(Qcal
2 )i

(V̇ i
2 )∗

− V̇1Y21 − V̇ i
3Y23

]

V̇ i+1
3 =

1
Y33

[
P esp

3 − jQesp
3

(V̇ i
3 )∗

− V̇1Y31 − V̇ i+1
2 Y32

]

(Qcal
2 )i+1 = �

{
V̇ i+1

2

(
V̇1Y21 + V̇ i+1

2 Y22 + V̇ i+1
3 Y23

)∗}

���
 i � � �������� �
 ��
���9
� 
 V̇1� P
esp
2 � P esp

3 � Qesp
3 
 V esp

2 �"� ����� 

#���# &
���� �� 0�1�����
(2���

� 
����� �� B�C���.�������# ���� � �,
�	
� ��� ��0$�� �� 	
� �+	�%(�
�
������� �(�.
�����# ������.�� �
 
������$�%&�� �	�����!�� �� "	�%(� � ������
�� 	
� �����%(� ������
 ������,���� 8	����� � �+	�%(�

f(x) = 0 L9�7>M

/ �'����(� ��
� ����� �� 2�J
��# � ��������� �
�
���%(� ��� ���
�� �� ����


���� �	 ��	�
 � ����# ����	$

f(x) ≈ f(x0) + f ′(x0)[x− x0] L9�7=M
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x

f(x)




�

x

f(x)

x0x1x2x3

L�ML�M

x0x1x2x3

�
�
�
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�
�
�
�
�
�
�
�
�

�
�
�
�
�
��

�
�
�
�
�
�
�
�
�
�
�
�
�

�
�
�
��

�
�
��

���	�� 9�:E 8�
	%(� �� �+	�%(� �(�.
����� ��
� 
����� �� B�C���.�������

�� ���� �� ����


x = x0 − f(x0)
f ′(x0)

L9�7@M

� !�
�� �� x ��
�	
��� ��� L9�7@M � 	
� ����'�
�%(� �� ��
	%(� �� L9�7>M �
+	�
 ���� ��� 
�
������ ���
�!����.�� ��!� 
������$�%(� �� f(x) �
 �����
����� ��!� !�
�� � ����
 ��� ������� � �������� �������!� ���� ��� �������$���
�� �'�����(�

xi+1 = xi − f(xi)
f ′(xi)

i = 0, 1, ... L9�9DM

/ *�	�� 9�: L�M �
	���� ���� �������� ���*��
����� B� *�	�� 9�: L�M �

������� +	� � �������� ���� ���!����� 
��
� +	� f ′(xi) �� � 
������
��	�
 � f ′(x0)� ���� !�
�� ���� ��� ��� ��"������ �� f

′
(x0) ����� +	� ���!�.

������
���� ����
�����
� ���� �.��
�������
 ���� ��� ������ ��
� 	
� �'����(� �� ���������

8	����� � �+	�%(�
f(x) = 0 L9�95M

����

f(·) =
[
f1(·) f2(·) · · · fn(·)

]T
x =

[
x1 x2 · · · xn

]T
/ �'����(� �
 ����� �� 2�J
�� ������ "	�%&�� ����	$

f1(x) = f1(x0) + ∂f1(x)
∂x1

∣∣
x=x0Δx0

1 + · · ·+ ∂f1(x)
∂xn

∣∣
x=x0Δx0

n = 0

f2(x) = f2(x0) + ∂f2(x)
∂x1

∣∣
x=x0Δx0

1 + · · ·+ ∂f2(x)
∂xn

∣∣
x=x0Δx0

n = 0

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

fn(x) = fn(x0) + ∂fn(x)
∂x1

∣∣
x=x0Δx0

1 + · · ·+ ∂fn(x)
∂xn

∣∣
x=x0Δx0

n = 0

L9�97M
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�	 �
 "��
� ��
�����

f(x0) + J(x0)Δx0 = 0 L9�99M

���� J(x0) � � 
����$ ���������� ��������� �� �����
� L9�95M ��
�	
��� ��
����� x0�

� �������� �������!� �� ���� �.��
�������
 � ����# ���(�# ���

xi+1 = xi + Δxi L9�9:M

Δxi = −
[
J(xi)

]−1
f(xi) L9�9;M

� �������� �������!� ���
��� +	���� ‖f(xi)‖∞ ≤ ε# ���� ε � 	
 !�
�� +	�
�����
��� � ��
��O���� �����,!�
 �� ���� ��
����� �� ��
	%(��

N ����0!�
 ��
������� W5;X +	� � 
����� �� B�C���.������� ���������
	
� ��'� �� ���!�������� +	���,����# ���� �# � ���
� �� !���� �� ���0�	��
f(xi) ��
��	� ��
 � +	������ �� �4
��� �� �����%&��� 6��� �����*�� +	� �

����� ���!���� ������
���� ���� � ��
	%(�� ����������# ���� ���!��������
� "����
���� ���������� ��� �����%&�� �������� Lx0M� ���� � �����%(� ������

�(� ���� � ������� �
 	
� ����(� ��-'�
� �� ��
	%(� ����	���� L�
/�"� �

�����"�M# � �������� �������!� �����, ���!����� ���� �	��� ��
	%(� �	 �(�
���!������

� 
�
�,-� �� "
	#� �� �����
�� �� ����������� ��
����

B���� ����# � �����
� �� �+	�%&�� � ��� ����
!���# �'���0�� �� L9�5:M � L9�5;M#
� ���� ���

ΔPk = P esp
k − gpk

(Θ,V) = 0, k ∈ ΩPQ ∪ΩPV L9�9<M

ΔQk = Qesp
k − gqk

(Θ,V) = 0, k ∈ ΩPQ L9�9>M

� �
�����
� �������!� � ���� ���[
Θi+1

Vi+1

]
=

[
Θi

Vi

]
+

[
ΔΘi

ΔVi

]
L9�9=M

[
ΔPi

ΔQi

]
=

[
Hi Ni

Mi Li

] [
ΔΘi

ΔVi

]
L9�9@M

�4  ����� 5������	�. �� � 5������	�. �� � � $�	'�� f : IRn → IRn + ��*	��� �� �

J(x) =

⎡
⎢⎢⎣

∂f1(x)
∂x1

∂f1(x)
∂x2

· · · ∂f1(x)
∂xn

∂f2(x)
∂x1

∂f2(x)
∂x2

· · · ∂f2(x)
∂xn

� � � � � � � � � � � � � � � � � � � � � � � � � � � �
∂fn(x)

∂x1

∂fn(x)
∂x2

· · · ∂fn(x)
∂xn

⎤
⎥⎥⎦



:D ������� �� 	���� 
���
����

���� � � 9 �(� �� !������ ��� ���0�	�� �� �������� ���!� � �����!�# ������.
��!�
����# � �� �	�
����$�� Hi# Ni# Mi# � Li ��
 � ���	���� �����*����

Hi =
∂gpk

(Θi,Vi)
∂Θ

Ni = ∂gpk
(Θi,Vi)

∂V L9�:DM

Mi =
∂gqk

(Θi,Vi)
∂Θ

Li = ∂gqk
(Θi,Vi)

∂V L9�:5M

/� ��
�������� �� H# N# M# � L �(� ����� ���

Hkm =
∂Pk

∂θm
= VkVm(Gkm sen θkm −Bkm cos θkm)

Hkk =
∂Pk

∂θk
= −V 2

k Bkk − Vk

∑
m∈Ωk

Vm(Gkm sen θkm −Bkm cos θkm)

Nkm =
∂Pk

∂Vm
= Vk(Gkm cos θkm +Bkm sen θkm)

Nkk =
∂Pk

∂Vk
= VkGkk +

∑
m∈Ωk

Vm(Gkm cos θkm +Bkm sen θkm) L9�:7M

Mkm =
∂Qk

∂θm
= −VkVm(Gkm cos θkm +Bkm sen θkm)

Mkk =
∂Qk

∂θk
= −V 2

k Gkk + Vk

∑
m∈Ωk

Vm(Gkm cos θkm +Bkm sen θkm)

Lkm =
∂Qk

∂Vm
= Vk(Gkm sen θkm −Bkm cos θkm)

Lkk =
∂Qk

∂Vk
= −VkBkk +

∑
m∈Ωk

Vm(Gkm sen θkm −Bkm cos θkm)

�� �
�
����� Hkk# Nkk# Mkk � Lkk ����
# �����# ��� ��
������ �
 "	�%(�
��� �� �%&�� �� �������� ���!� � �����!� �� ����� k ��
� � ���	��

Hkk = −Qk − V 2
k Bkk

Nkk = (Pk + V 2
k Gkk)/Vk

Mkk = Pk − V 2
k Gkk

Lkk = (Qk − V 2
k Bkk)/Vk L9�:9M



����
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�
 ����
# �� �
�
����� �� ΔV �(� ��!������ ��
� !�
�� ��� ��������!�� ���.
�&�� ���� ����	$�� ���
�� ��
�
���� �
 M � L� B���� ���� L9�9@M ���	
� �
"��
�� [

ΔPi

ΔQi

]
=

[
Hi (N′)i

Mi (L′)i

] [
ΔΘi

ΔVi/Vi

]
L9�::M

���� �� �
�
����� �� N′ � L′ �(� ��	��� ��� �� N � L 
	
���
������ ��
�

-�	
� ��� ��������!�� ����&���

� 
����� �� B�C���.������� �
 ����������� ��
���� ���� ��� �����.
��$��� �� �
�����
�	 �� ���	�� 9�;� B���� �
�����
�# �� 
�
���� �� ����%(�
�� �������� �����!� �
 ������ �G �(� �������� ��
� ����� �� ���� �� �����
L�G⇔ �KM ��
��� +	� 	
 ��� 
�
���� "�� 	
����������# �� 
������ ��
�
��
�� �������
���� ������� �� 
����� �� ?�	��.8����
� B���� ����# �����.
�����# ���� 
���*��%(� �
�
��� �� �
����%(� �� ����	�	�� ��� 8	������
��
�� �+	�%&�� 5 � 7# �	 �� �# �� ���
	�(� �	 �'�
	�(� �� �+	�%&�� ��
���!�� )
�����%(� �� 
-�	
� �� ����(� � �� ���0�	� �� �������� �����!� �� ����� �

+	���(� ��� �����
�� �� �+	�%&�� ��*����� �
 L9�9=M � L9�9@M�

6�����
�$� �� !������ Θ � V
��%�\��+	���� ‖ΔP‖∞ > εp � ‖ΔQ‖∞ > εq

��
�	
� ΔP � ΔQ
��
�	
� � ��������� ��*���� �
 L9�9@M
������ � ���������
����
!� L9�9@M ������� ΔΘ � ΔV
/�	�
�$� � !�
�� ��� ����&�� ����!�� ��

Θ← Θ + ΔΘ
V← V + ΔV

6
�
�
���� � 	���� � ������
��
��
 ��%�\��+	����

���	�� 9�;E /
�����
� �� B�C���.������� ���� ��
	%(� �� T	'� �� ��������

� 
�
�,-� �� "
	#� �� �����
�� �� ����������� :����2	
����

/ !���(� �� �
�����
� �� B�C���.������� ������������� �� ����&�� �
 ��.
��������� ������	
���� � 
���� 	���� +	� �+	�
� �
 ����������� ��
����
��� �,��'�� ���66� + ��������� � 	���'�� ΔV/V 
��� ���	�*��� � ��#���� �� ����

�� 
�	�	��� �� ΔV 
���� ���
����#�� �� 
�	�	�� �� V� &��� 	���'�� 	�� + �������. ��
� 
�	�� �� #���� ������� �	��  ��� �����. 
��+ + ����� 	� ���������� ����� !�"� ��

��%	����
�7+�	���� �� $�����'�� ��  ������� ������ 	� ����'�� �� ����� �� �� �,��'(�� ��	�����.

���� �� �  +����� �� � 
�� �	��'�� �� �8����� � ��	������ ��$������ 	���� ������� �.
����� �	���������� � ��'(�� �����	��� ������ 	���� �� �����



:7 ������� �� 	���� 
���
����

��� ���
	�� 	
 �4
��� 
���� �� �+	�%&�� � ��� ��� 
������
���� 
���� ���.
*,!�
� B���� ���� � �����
� �� �+	�%&�� � ��� ����
!���# �'���0�� �� L9�57M �
L9�59M# � ���� ���

ΔPk = P esp
k − g′pk

(e, f) = 0, k ∈ ΩPQ ∪ ΩPV L9�:;M

ΔQk = Qesp
k − g′qk

(e, f) = 0, k ∈ ΩPQ L9�:<M

ΔVk = V esp
k − (ek + fk)

1
2 = 0, k ∈ ΩPV L9�:>M

� �
�����
� �������!� � ���� ���[
ei+1

f i+1

]
=

[
ei

f i

]
+

[
Δei

Δf i

]
L9�:=M

⎡
⎢⎣ ΔPi

ΔQi

ΔVi

⎤
⎥⎦ =

⎡
⎢⎣ J1 J2

J3 J4

J5 J6

⎤
⎥⎦
[

Δei

Δf i

]
L9�:@M

B�� �+	�%&�� ���
�# �� !������ e# f # P# Q � V ��
 �� ��
�������� ��
 ��
0������ ��*����� ��
� �
 L9�:;M � L9�:>M�

�#�� 
� !�% )��� � ����
�� �� !�/&�� = =� � ����
�� �
 
8&��9
� 
��
��
�
� �
� �
��
4��� 
� ���� ��
���"� �� ������ 5
-���,��+.��� 
� �����
�����
+�
��
� �

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

ΔP2

ΔP3

ΔQ3

ΔP4

ΔQ4

ΔP5

ΔQ5

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

H22 | H23 N
′
23 | | H25 N

′
25

H32 | H33 N
′
33 | H34 N

′
34 |

M32 | M33 L
′
33 | M34 L

′
34 |

| H43 N
′
43 | H44 N

′
44 | H45 N

′
45

| M43 L
′
43 | M44 L

′
44 | M45 L

′
45

H52 | | H54 N
′
54 | H55 N

′
55

M52 | | M54 L
′
54 | M55 L

′
55

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

Δθ2
Δθ3

ΔV3/V3

Δθ4
ΔV4/V4

Δθ5
ΔV5/V5

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

� �/�&+��
��� ��� 


�
���� �
 H� N � M 
 L 
� %
���� ;���
��� � ������&,
�"� 
 ;������"� �� ����%���� 

#���� &
���� 3��
��(�
�� � (���

� 
����� �� ��
	%(� �� ����
�
� �� T	'� �� �������� ��������� ��
� ��.
�����
��� �,����# �����!�
!��� ��� 8���� � /
��� W79X# � ����!��� �� 
�����
�� B�C���.������� ��
� ������	%(� �� �	�� ����'�
�%&��E

• /��%(� �� ��������� ��������� �	����� � �������� �������!�U

• �������
�
���� ��� �+	�%&�� ��� T	'�� �� �������� ���!� � �����!�
������$����.�� �� �	�
����$�� N � M �� "��
	
�%(� ��
���



����
���	� :9

/
��� ����"0����  , ��!��
 ���� 	��
�$���� ��������
���� ��� �	���� ���.
+	�������� �� �������!� �� ������ 
��� �*������ � �
�����
� �� B�C���.
�������# ��
 ������ �	������ B���� ����# ����
# ����!�.�� 	
 
�����
�'���
�
���� �*������ ��!��� � 	
� ����� �� ��
�
�*��%&�� ���������� ��.
����	$���� ��
�� �	����� �� +	��� ��T���
 ��������0������ "0����� ��� �����
�
��������

8	����� � "��
	
�%(� �,���� �� �
�����
� �� B�C���.������� ���� ���
L9�::M� ��!��� ) "���� ������%(� �'������� ����� �� �� �%&�� �� �������� ���!�
� �� 
-�	
�� ��� ����&�� � ����� �� �� �%&�� �� �������� �����!� � �� O��	
��
�� "��� ��� ����&��# �� �
�
����� �� M � N �(� 
	��� 
������ +	� �� �� H
� L�
� ����� �	�
����$�� ����
# ���(�# ��� ������$���� ���	
����� �
 ����
�����
�� ������������� �� �+	�%&�� ����� ���

ΔP = HΔΘ

ΔQ = L′ΔV
V

L9�;DM

����� �+	�%&�� ����
# �����# ��� 
��� ��
�
�*����� �� "�� 
�!��� �
 �������.
��%(� � "��� �� +	�# ������	
��
���� �
 �����
�� �� �����
��(� �
 �/2 �
�/2��# �� ��
�%&�� ����'� �(� !�
����

cos θkm � 1.0

Gkm sen θkm � Bkm

Qk � BkkV
2
k

L9�;5M

/� �	�� ���
����� ��
�%&�� �
 L9�;5M �(�  	���*����� ��
� "��� �� ��
�%(�
Bkm/Gkm ��� �
�!��� �
 
����� �� �����
���(� �
 �/2 � �/2� ���� ��.

�%(� � ����

���� 
���� +	� ; ���� 
����� �� 79D PG � ���� ������� !�
����
�� ����
 �� 7D ���� 
����� �� ;DD PG� / �������� ��
�%(� �  	���*���� ��
�
"��� ��� ����O����� �.&�� L������# ��������# �����������# �.&�� ��� 
�����#
����M ����
# �
 ����
# 
	��� 
������ +	� � ����O���� ����� �� 
����� � �����.
"�
�������

6�����	$���� �� ����'�
�%&�� �	������� ��� L9�;5M ��� �'�����&�� �� H
� L

′
# ����
.��

Hkk = L′
kk = −V 2

k Bkk

Hkm = L′
km = −VkVmBkm

L9�;7M

��
 $���� ���
�� �	�� �	��� �� #����'(�� 	�� 9	����� �� $��� ��� ��	�(�� � � !�"� ��

��%	��� �����#�. ���� �� � �	��� �  :���� ��� ��	�(�� � � !�"� �� 
��%	��� �����#�.
+ � � ��������)����� $)���� ��� ����� �� �� 
��%	��� ��������� �����	�� �	�� 	� �
���'��
������ ����� �� � ��!����� 	�  �����  ��� ����� �� 
����� � �� !�"� �� 
��%	��� 
����
#������ ������#�� ��� ��� �	��� ��� ��� ������� �� 5������	��
��&47� &"��� 4��� 7�	���; -47� -���� 4��� 7�	����



:: ������� �� 	���� 
���
����

/� �'�����&�� 
������$���� � �������
���� �� ���0�	�� �� �������� �(� �����#
���(�# ���⎡

⎢⎢⎢⎣
ΔP1

ΔP2

· · ·
ΔPn

⎤
⎥⎥⎥⎦ = −

⎡
⎢⎢⎢⎣
V 2

1 B11 V1V2B12 · · · V1VnB1n

V1V2B12 V 2
2 B22 · · · V2VnB2n

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
V1VnB1n V2VnB2n · · · V 2

nBnn

⎤
⎥⎥⎥⎦
⎡
⎢⎢⎢⎣

Δθ1
Δθ2
· · ·
Δθn

⎤
⎥⎥⎥⎦ L9�;9M

⎡
⎢⎢⎢⎣

ΔQ1

ΔQ2

· · ·
ΔQn

⎤
⎥⎥⎥⎦ = −

⎡
⎢⎢⎢⎣
V 2

1 B11 V1V2B12 · · · V1VnB1n

V1V2B12 V 2
2 B22 · · · V2VnB2n

� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
V1VnB1n V2VnB2n · · · V 2

nBnn

⎤
⎥⎥⎥⎦
⎡
⎢⎢⎢⎣

ΔV1/V1

ΔV2/V2

· · ·
ΔVn/Vn

⎤
⎥⎥⎥⎦L9�;:M

�	 �����⎡
⎢⎢⎢⎣

ΔP1/V1

ΔP2/V2

· · ·
ΔPn/Vn

⎤
⎥⎥⎥⎦ = −

⎡
⎢⎢⎢⎣
V1B11 V2B12 · · · VnB1n

V1B12 V2B22 · · · VnB2n

� � � � � � � � � � � � � � � � � � � � � � � � � � �
V1B1n V2B2n · · · VnBnn

⎤
⎥⎥⎥⎦
⎡
⎢⎢⎢⎣

Δθ1
Δθ2
· · ·
Δθn

⎤
⎥⎥⎥⎦L9�;;M

⎡
⎢⎢⎢⎣

ΔQ1/V1

ΔQ2/V2

· · ·
ΔQn/Vn

⎤
⎥⎥⎥⎦ = −

⎡
⎢⎢⎢⎣
B11 B12 · · · B1n

B12 B22 · · · B2n

� � � � � � � � � � � � � � � � � � � �
B1n B2n · · · Bnn

⎤
⎥⎥⎥⎦
⎡
⎢⎢⎢⎣

ΔV1

ΔV2

· · ·
ΔVn

⎤
⎥⎥⎥⎦ L9�;<M

��
� � 
-�	
� ��� ����&�� ������ ��
 ��	�� ��T	����� �� T	'� ��
�������� ���!�# �(� �� ��
��� ������ ���� ����'�
����.�� � !�
�� ��� ����&��
��� �
�
����� �� 
����$ �� �����
� �� �+	�%&�� L9�;;M ��� 5#D �	� B����
���� ����
.��

ΔP/V = B′ΔΘ L9�;>M

ΔQ/V = B′′ΔV L9�;=M

���� B′ � B′′ ��"���
 ������ ��
 ��
�%(� )� �+	�%&�� ��� ������ �� ����(�
������
���� �� �
�
����� ������ 
����$�� �(� �� ��
�������� �
����,����
��� �
�
����� ��������������� �� Y� /
�	
� 
�
���� �� ����
����� ��

����� � ������ ������$����.�� � ����������� �� 
����� � �����"��
������ ��
�,
�	
� ��� �
�
����� �� B′� B���� ����# �� �
�
����� �� B′ � B′′ �����

����� ���

B′
km = −1/xkm B′

kk =
∑

m∈Ωk

1/xkm

B′′
km = −Bkm B′′

kk = −Bkk

L9�;@M

/���'�
�%&�� ���������� +	� 
�
����
 � ����
����� �� 
����� ��.
��
 ��� ������	$���� �'�
	����.�� �� ����������%(� �� B′ � B′′ �� �
�
�����



����
���	� :;

�� ���� +	� �"���
 ���
�����

���� �� T	'�� �� �������� ���!� � �����!�#
��������!�
����� /���
# �� �,
�	
� �� B′ �(� �(� ���
	0��� �	�����O�����
�.&�� � �����"��
������ ��"���������

/� 
����$�� B′ � B′ �(� �����# ��
������� L��
 �'����(� �� B′ �� ���� ��
���
	�� �����"��
������ ��"��������M � �������
 ������ ��� ���O
����� ��
����� ��������# ��!�
 ��� "�������� ������ 	
� !�$ �� ��0��� �� ��������
�������!��

� 
����� �������
��� �,���� ���� ��� �������$��� �� �
�����
� ��
���	�� 9�<� B���� �
�����
�# � ��
	%(� ��� �����
�� �� �+	�%&�� 
�������
�������
���� ��*����� �
 L9�;>M � L9�;=M � ���
�$��� �� "��
� ��+V�����

���������.�� ��
� �����
� �� �+	�%&�� �������������� ) ����� ���!�� / ��$(�
�� ����
�� ����� ����
 ���, ��
�������� ) 	�	�

���� "���� �(�.
����������
��������� )� �+	�%&�� �� T	'� �� �������� ���!�� ����� "��
�# �� ���
����
��	�
�$�%(� ��� !�
���� ��� O��	
�� �� "��� ��� ����&��  , �� ��
 	
� ���
����'�
�%(� �� ��
	%(� ���� ����� !���,!��� �# ��������# ����.�� ��
�	
��#
�� ��+V�����# 	
 !�
�� 
��� ������� ��� ���0�	�� �� �������� �����!��

B���� �
�����
�# � 
���*��%(� �� ����	�	�� ��� �+	�%&�� ��*����� �

L9�;>M � L9�;=M# ���� ����������� 	
� �!���	�
 ����� �� ���� �� ����� ����.
����� ��� !��
�%(� �� 
�
��� �� �� �%(� �� �����!��# �
�
��� �
 	
� ��!�
"�����%(� �� 
����$ B′′� ���� �������
���� �'��� 	
 ��"��%� ��
�	��.
�����
 ��������,!�
� �
 ��%&�� ���	�����# ���(� ������������ �	���� "��
��
�� �������� 	
� ��
	%(� �� ����
�
� ��
 � ����������� �� ��"�����%(��

6�����
�$� �� !������ Θ � V
��
�	
� B′ � B′′

������ B′ � B′′

��%� κp = 1 � κq = 1
��%�\��+	���� κp = 1 �	 κq = 1

��
�	
� ΔP
8� ‖ΔP‖∞ < εp ���(� κp = 0
8� κp = 0 � κq = 0 ���(� �/��
����
!� L9�;>M ������� ΔΘ
/�	�
�$� � !�
�� ��� O��	
��E Θ← Θ + ΔΘ
��
�	
� ΔQ
8� ‖ΔQ‖∞ < εq ���(� κq = 0
8� κp = 0 � κq = 0 ���(� �/��
����
!� L9�;=M ������� ΔV
/�	�
�$� � !�
�� ��� 
-�	
��E V← V + ΔV
6
�
�
���� � 	���� � ������
��

��
 ��%�\��+	����

���	�� 9�<E /
�����
� �� 
����� �������
��� �,����



:< ������� �� 	���� 
���
����

��� ��������� �  ������ �� ���	
�� �� ��	0� ��
���1����

�� ���������� ����� �� ������
�� ������������� ��� ���	��� �� T	'� �� �����.
��� �(�E

• �-�	
� �� ����(� ��� �� �%(� �� �����!�� L
���
 �	 ��
���MU

• �-�	
� �� ����(� ��� � 	��� �� ����U

• �
	'� �� �������� ���!� 	����� �����"��
������ ��"��������U

• ������
� �� ������O
��� ����� ,�����

�� ���������� ����� �� 
�
���� ���
�

���� �
�
�
������� ��� ������
��
�� T	'� �� �������� �(�E

• 6� �%(� �� �������� �����!� �
 ������ �GU

• �-�	
� �� ����(� �
 ������ �KU

• ����%(� �� ���� �� �����"��
������U

• �
	'� �� �������� ��� ��
�� �� �����

#���� &
����� �� *	(��	���
���

5� �
����;
�,-� �� /� � �� 3����E �� ������
�� � 
�
���� �(� �
�
�.

������� ��
� ������
���
���� �� ����� ��������� �� ������ �� "��
	.

�%(� �� ����
�
� �� T	'� ��������� �	����� � �������� �������!� ��
��
	%(� ��� �+	�%&�� ���� ������� � 
	���%� �� ���� �� ����� ����
���
���� ���	�%&�� ���� �
�	
�� !���,!��� ������
 ��	� 
�
����� �

�'�
�
� �0����  , 
��������� ����� ���0�	
� � � ��� ������ �� ����(�
������
��� L������ �GM�

7� ��	���� �
��������E �������� �� ��
�$�%(� �� � 	���� ��� !���,!���
�� ������
� ����� �� �����%&�� �� ��
	%(� �� 8	������
� 6� / !���,!�
 �
��� ������
��� � 
������ ��������� �	����� � �,
�	
� �� 	
� �����%(�
� � 	������ ����� �� �����%&�� ��
� "-�
	
�E

Δyi = αΔxi = α(xesp − xi) L9�<DM

����
xE !���,!�
 � ��� ������
��� L����������MU
yE !���,!�
 �� ������
� L������������MU
αE ��
�%(� �� �������
����� ����� x � yU
xespE !�
�� ������*���� ���� x�
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9� 8�

	�-� �� <���.+��� � �0	�,1��E B���� �������
����# !���,!���
� �+	�%&�� ���������� �(� ���
	0��� ��� �+	�%&�� �� 8	������
� 6 ����
����������� � �%(� �� ���������!�� �� ������
� � 
�
���� � !�
�� �� �
�	��
���O
������

����
��� ��
���!�� ) �
�
�
����%(� �� 
�
���� � ���.
���
�� ��� �
�����
�� � ��
	%(� �� T	'� �� �������� ��.
��
 �� ����������� �
 /� �������

�# !
&*� �
 ���/�

� �
�
� �
 ��
�/�� �
������# ��� ����� 3
V����#
5@=9# ���� <

��' �*��	�� �� ������ � ��	0�� �� ���1���� #��2�
� �����2�

/�-� � ���!�������� �� �������� �������!� �� ��
	%(� ��� �+	�%&�� � ��.
�+	�%&�� 
���
���� � ����
�
� �� T	'� �� ��������# �� ������ � �� T	'��
�� �������� ���!� � �����!� �
 ����� �� ��
�� �� ���� ��!�
 ��� ��
�	
�.
���� /� ������ � �� T	'�� �(� "	�%&�� ��� ����&�� ������ ��� ���
����� ���
�
�
����� � ��� ���O
����� ��� 
��
���

/� ���	�� �(� ������������ �'�����&�� ������ ���� � �,
�	
� ��� T	'��
��� !,���� �
�
����� �� ����� �� T	'�� �� �������� ���!� � �����!� �
 	

�
�
���� ��������� ����� �� ������ k � m �(� ����� ���

fP
km = (tkmVk)2gkm − (tkmVk) Vm gkm cos (θkm + φkm)

−(tkmVk) Vm bkm sen (θkm + φkm) L9�<5M

fQ
km = −(tkmVk)2(bkm + ys)− (tkmVk) Vm gkm sen (θkm + φkm)

+(tkmVk) Vm bkm cos (θkm + φkm) L9�<7M

/� �'�����&�� ����� �
 L9�<5M � L9�<7M ����
 ��� ������	
���$���� ���� ��
��!����� �
�
����� �� ���� ��
� ��*���� � ���	��E

• 1����� �� �����
���(�E tkm = 1 � φkm = 0U

• 2����"��
������ ��
 ��� *'�E tkm = 1# ys = 0 � φkm = 0U

• 2����"��
������ ��
 !����%(� �	��
,���� �� ��� ��� ����� L12�Y�ME
ys = 0 � φkm = 0U

• 2����"��
������ ��"��������E tkm = 1 � ys = 0�

/� ������ �� �
�
���� �� ���� ����
 ��� ��
�	
���� ��
����.�� �� T	'��
��� ���� ���
����� �� 
��
�� ���� � ���� �� 
����� �� �����
���(�# �� ������



:= ������� �� 	���� 
���
����

�(� ����� ���E

LP
km = fP

km + fP
mk

= gkm (V 2
k + V 2

m − 2Vk Vm cos θkm) L9�<9M

LQ
km = fQ

km + fQ
mk

= −(bkm + ys) (V 2
k + V 2

m) + 2Vk Vm bkm cos θkm L9�<:M
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	%(� ��
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� 
����� �� B�C���.������� ���� � �����
�
�� *�	�� ����'�� 6���+	� ��
� �����
 ����
!���� ����� �	������
���
/��	
� ���������� �� ���O
����� ��� ��
�������� +	� ��������� ��.
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7� ���� � ���� �� *�	�� ����'�# ������������ � ����� 5 ��
� ����� T	�	.
����# 	�� �� ���	����� 
������ ���� ��
�	
�� �	�� �����%&�� �� ��
	%(�
�� T	'� �� ��������

L�M ?�	��.8����
U

L�M B�C���.�������U

L�M �������
��� �,�����

����� <����� �
��

<���� =���'�� >���� ?� ��� 7�	���
=��� @���� &�
�

0 A A � � A 0.�

� �.� A � � B.� 0.0

� � � 6.B �.B A A

����� �� @� �� �
��

<���� @�����%	��� @���9	��� �����
�9	���
�� 
���

0 � � �.0 �

� � � �.� �

0 � � �.0 �
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9� B� �����
� ����'�# � ����(� ��� ���
����� ��� ��������� � 
������
��	�
 ) ����(� ��
���
 L5#D �	M� ��
�	
� � ��"�����
 ���	
�� ����� ��
����&�� ��� ������ 5 � 7 	����� � ������ �� B�C���.������� ����
��
	%(� �� ����
�
� �� T	'� �� ���������

��
��
 �

��
��

�


� �

ya = 0, 8 − j 4 pu

yb = 1, 2 − j 6 pu

100  ! 400  !

���  "#$��  "#$ SBASE = 100  "#

200  !



���	
��
 �

����� �� �������� �����
�����

�� �����
�� �� ������� �
������# �
 �����%&�� ���
��� �� �����%(�# �������.
��
 	
 ���*
 �� ����(� �
���# ���� �# � 
-�	
� ��� ����&�� ��� �����
�����
���(� ��-'�
�� �� ��	 !�
�� ��
���
 L5�D �	M# � +	� "�$ ��
 +	� � T	'� ��
�������� �����!� ��� 
����� � �����"��
������ �� � ��+	���� ����� "��
�#
� T	'� �� �������� ��� ��
�� �� ���� �# �������
����# �������	0�� ������
��
� T	'� �� �������� ���!�� /
�
 �����# �� ������ �� �����
� �� �����
��.
�(� �(� ��
���!�
���� ��+	����� ��� ����� ��$&��# � ��
	
 	��
�$��.�� �

!,���� ��
���%&�� � "��
	
�%(� 
������$��� �� 
���
� �� T	'� �� ��������
L�	 T	'� �� �������� ���M� B���� "��
	
�%(�# �� 
-�	
�� ��� ����&�� �(�
������������ ��	��� � 5#D �	 � �� �����"��
������ ��
 ��� !���,!�
 �(� ���.
��������� �������� �
 �	� ����%(� ��
���
� /� !�������� ����� "��
	
�%(�
�(� � ���	���$ � �� ���'�� ��+	������ ��
�	��������� ���� �	� ��
	%(��

��� 
3	�
4�� (*�����

� T	'� �� �������� ���!� �
 	
� 
���� �� �����
���(� �
 �������� �
���.
����# �	 �
 	
 �����"��
���� ��
 ��� *'�# � ���� ��
� ���	���� �'�����(�#
��
� 
������� �� ��%(� 9�<E

fkm = V 2
k gkm − VkVmgkmcosθkm − VkVmbkmsenθkm L:�5M

����

gkm =
rkm

r2km + x2
km

; bkm =
−xkm

r2km + x2
km

L:�7M

����

�4 ��	� �	�'�� �> ������� �� $��� ��� �,��'(�� ��  ����� �� !�"� �� 
��%	���
��	�������� ���� �� ��3�	��� C� �,��'(�� �� � �������� � �����	�� ��	�)	��� &���
 ����� 	�� �	���� � ��
����	��'�� �� ��	3�� �� ���	� ����� � �����	�� ��	�)	���

;5



;7 ������� �� 	���� 
���
����

fkmE T	'� �� �������� ���!� �� 
���� ��������� ����� �� ������ < � �#
������ �� ����� < �
 ����%(� ) ����� �U

VkE 
-�	
� �� ����(� �� ����� <U

θkmE ��"�����
 ���	
�� ����� �� ����&�� ��� ������ < � �U

rkmE ����������� ����� �� 
����U

xkmE ����O���� ����� �� 
�����

������$����.�� �� ������ Lrkm = 0M# � ������������

Vk = Vm ≈ 1.0; senθkm ≈ θkm; bkm ≈ −1/xkm; L:�9M

� T	'� �� �������� �� 
���� ���� ��� ����'�
��� ���

fkm =
θkm

xkm
=
θk − θm

xkm
L:�:M

���� θk � θm �(� �� O��	
�� �� "��� ��� ����&�� ��� ������ k � m# ������.
��!�
����# �
 ��
�%(� ) ����(� �� 	
� ��� ������ �� ���� ��
��� ��
�
��"��������

B� ���� ��� �����"��
������ ��"��������# � T	'� �� �������� ���!� �
���� ���

fkm = V 2
k gkm − VkVmgkmcos(θkm + φkm)− VkVmbkmsen(θkm + φkm) L:�;M

���� φkm � � ��"�����
 ���	
�� ������	$��� ��
� �����"��
���� ��"�������
6�����	$����.�� �� 
��
�� ����'�
�%&�� 	��
�$���� �� ���� �� 
����� ��

�����
���(�# � T	'� �� �������� ���!� �� �����"��
���� � ����# ����'�
���.

����# ���

fkm =
θkm + φkm

xkm
L:�<M

��� ����	��
�� .��������

������������ ������

���� ������ 
����� �� �����
���(� � �����"��
������
�
 "���# � �� �%(� 
0+	��� �� �������� ���!� �
 	
� ����� �� ���� � ����
���

Pk =
∑

m∈Ω′
k

θkm

xkm
, k = 1, ..., n L:�>M

����
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���	� ;9

Ω′
kE ��� 	��� ��� ������ ������
���� ���������� ) ����� <U

nE �4
��� �� ������ �� �����

/ �+	�%(� L:�>M ���� ��� ������� ��
� � ���	��

Pk =

⎛
⎝ ∑

m∈Ω′
k

1
xkm

⎞
⎠ θk +

∑
m∈Ω′

k

(
− 1
xkm

θm

)
, k = 1, ..., n L:�=M

����� "��
�# ����.�� ������ ) ����������%(� 
�������


P̄ = B̄Θ̄ L:�@M

����

P̄E !���� �	 �� ��
�������� �(� �� �� �%&�� 
0+	���� �� �������� ���!� �

����� �� ������ �� ����U

Θ̄E !���� �	 �� ��
�������� �(� �� O��	
�� �� "��� ��� ����&�� �
 ����� ��
������ �� ���� �
 ��
�%(� ) ����(� �� ����� �� ��"�������U

B̄E 
����$ �� ��
���(� n× n �	 �� �
�
����� �(� ����� ���E

Bkm =
−1
xkm

; Bkk =
∑

m∈Ω′
k

1
xkm

. L:�5DM

� �����
� �� �+	�%&�� 
������� ��*���� �
 L:�@M ��
 	
� �+	�%(� ���	�.
����� ��!��� �� "��� �� ��
� ��� �� �%&�� �
 ����� �� ������ �� ���� ��� �	
�
L�� ������ �(� ������$����M� 6��� �
�
��� �� ����	
������� �� B̄� ��� �	���

���# �� O��	
�� �� "��� �(� ������$�� ��
���!�� �� +	��� ��!�
 ��� ��*�����
�
 ��
�%(� � 	
� ��"������� *'�� ���� ����
!�� �
��� �� ����
�
��# �
�
���.
�� 	
� ��� �+	�%&�� �� �����
� �� �+	�%&�� � �����.�� � ����(� �� �����
�������������� ��
� ��"������� ���	
�� Lθk = 00M� ����� "��
� �����.�� ��
�����
� �� n− 1 �+	�%&��

P = BΘ L:�55M

���� "�� �
�
����� � �+	�%(� �������������� ) ����� �� ��"��������
B� ���� �� ���� ������ �����"��
������ ��"��������# � ����������%(� �

�������� )+	�
� 
������� �
 L:�55M# �'���� ��
� !���� � � +	�
 ��
 �	��
��
�������� ���������� ��� �-� ���
����� ��� �����"��
������ �
������� ��
�
���%(� �� �����
�� ��������������� � ����%(� � ����� *��0���� ��
� 
�������
�� ���	�� :�5 W7DX�



;: ������� �� 	���� 
���
����

���	�� :�5E ����
� �� �����"��
���� ��"������

�#�� 
� %�� 1
�� � ����
�� ��� ��?� %����� �� !�/&�� H �� �� 8&�
 ��
�
��I����� ��� ����� �� �
�
 �"� ����� 
� +& �� %��
 �
 ��� �J� K=L ��
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���� �� ���

� �
 >&*� �
 +��?���� 
��
���'��� �"� ����� +��C

P̂ =

⎡
⎢⎣ 0, 4

0, 4
−0, 8

⎤
⎥⎦ ; Θ̄ =

⎡
⎢⎣ θ1
θ2
θ3

⎤
⎥⎦ ; B̄ =

⎡
⎢⎣ 22, 5 −10, 0 −12, 5
−10, 0 30, 0 −20, 0
−12, 5 −20, 0 32, 5

⎤
⎥⎦

)��� �
 �%�
� � ��
&�"� �� >&*� �
 +��?���� � �
�
��	��� �
:���,�
 &��
%���� �
 �
;
�?���� 1&+��.� 
���
.��� � %���� � ���� �
;
�?���� 5
��

���� �
��� θ1 = 00 


[
θ2
θ3

]
=

[
30, 0 −20, 0
−20, 0 32, 5

]−1 [
0, 4
−0, 8

]
=

[
0, 0565 0, 0348
0, 0348 0, 0522

] [
0, 4
−0, 8

]
=

[
−0, 0052
−0, 0278

]
rad =

[
−0, 2979o

−1, 5928o

]

� >&*� �
 +��?���� ��� 
��.�� � ���� +��

f12 =
0− (0, 0052)

0, 10
= 0, 0520pu = 5, 2MW;

f13 =
0− (0, 0278)

0, 08
= 0, 3475pu = 34, 8MW;

���	�� :�7E 8����
� 	��
�$��� �� �'�
�
� 5



����
���	� ;;

���	�� :�9E ���	
����� �� �'�
�
� 5

���	�� :�:E ���	
����� �� �'�
�
� 5 ������������ 	
 �����"��
���� ��.
"������ �� ��
� 7.9

f23 =
−0, 0052 − (−0, 0278)

0, 05
= 0, 4520pu = 45, 2MW.

�� �
�&
����� �� �	
�&
� �� >&*� �
 +��?���� 
��"� �
�&����� �� !�/&��
H = 1&+��.�� �/���� 8&
 � ���� �,= � &� �����;������� �
;������ � 8&�

������&' &� �
;����
��� ��/&
�� φ = −10 @,�����H ���A �� �
����� �
 �
+��� = � ��4� ��
&�"� �� >&*� �
 +��?���� �
�	 ���� +��

[
θ2
θ3

]
=

[
0, 0565 0, 0348
0, 0348 0, 0522

] [
0, 4 + 0, 0174/0, 05
−0, 8− 0, 0174/0, 05

]
=

[
0, 0024
−0, 0339

]
rad =

[
0, 1375o

−1, 9423o

]

� 8&
 +���&'��	 � ��4� ������%&��"� �
 >&*� �� �
�
� �������� �� !�/&��
H H 

�
����#� ,�� � !�"� 	� �� � ��	��	�� � ���	�$�� ���� ��$������ + ���� 
�� P23 =
(0, 0024 + 0, 0339 − 0, 0174)/0, 05 ≈ 37, 6�
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/� ������ �� �����
� �� �����
���(� ����������
 �����
� �
�������� �� �.
������ ���������
�$��� �
 	
 �����
� �� ������� �
������� 8	� ���
	�(� �


���
�� �� T	'� �� �������� � �
�������� �
 !,���� ���	���# ������	
��.

���� ��+	�
�� ��!�
!���� �������� ����S
���� �� �����%(� ������ �����
���
/ ����������%(� ��� ������ ���!�� �� 
���
� �� T	'� �� �������� 
������$���
���� ��� ���
�$��� �� "��
� ����'�
����

��
� 
������� �� ��%(� 9�<# �� ������ ���!�� �
 	
 ��
� �� ����# ��

��
��O���� ����� ���� ��� ykm = gkm + jbkm# �(� ����� ���

Lkm = gkm(V 2
k + V 2

m − 2VkVmcos θkm) L:�57M

/��	
����.�� �� ���	����� ����'�
�%&��

Vk = Vm ≈ 1.0pu ; cos θkm ≈ 1− θ2
km

2
; L:�59M

����
.��

Lkm = gkmθ
2
km L:�5:M

/ ���
	�(� ��� ������ �� 
���
� �� T	'� �� �������� 
������$��� ���� ���
���
�$���# ����'�
���
����# ��
� ���%(� �� ������ *��0���� ��� ������ ���
�.
���� ��� 
����� ��������������� ) 
����� ��� ������ ��� 
����� ����������
����� �� ������� /���
# � 
���
� ���� �� �+	�%(� L:�55M ����� � ��� �
���	���� �������

P− L = BΘ L:�5;M

���� 1 � 	
 !���� �	 �� ��
�������� �(� ����� ���

Lk =
∑

m∈Ω′
k

1
2
gkmθ

2
km L:�5<M

/ ��
	%(� ��� �����
� �� �+	�%&�� ��*���� �
 L:�5;M �'��� 	
 �������� �����.
��!� ���� �� �
�
����� �� 1 �������
 �� �������
���� �� !���� �� ��
	%(�
Θ� ����������# �� 
������ ��� ��
���%&��# � �	*������ ������ � ���	����
�������
���� W7DXE

• ����
!�.�� � ����
�
� ��
 ���������� �� ������ L:�55MU

• ���
�$�.�� ���� ��
	%(� ���� ��
�	
�� �� �
�
����� �� LU

• ����
!�.��# ���(�# � �����
� �� "��
� ���� �
 L:�5;M�



����
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�#�� 
� %�� ������
�
 � ����
�� &���� �� �*
�+
� H �� ���
��
������
���+��
��
� �
�����4�� M� ��+
�I����� ��� 
��.�� �
 4�
��
� r12 N ����� +&�
r13 N ���H� +& 
 r23 N ����� +&� �
�+
���4��
��
 

�� +
���� ���������� ��� ����� �� �
�
 �"� ����� +��

L12 = 4, 0 × (0 + 0, 0052)2 = 10, 82 × 10−5

L13 = 5, 0 × (0 + 0, 0278)2 = 386, 42 × 10−5

L23 = 8, 0 × (−0, 0052 + 0, 0278)2 = 408, 61 × 10−5

� ��
&�"� �� ����
�� �
 
8&��9
�� ���
&���� �� +
����� � ����� 
��"�� +��[
θ2
θ3

]
=

[
0, 0565 0, 0348
0, 0348 0, 0522

] [
0, 4− 209, 71 × 10−5

−0, 8− 397, 51 × 10−5

]
=

[
−0, 0055
−0, 0281

]
rad =

[
−0, 31o

−1, 61o

]

� 8&
 +���&'��	 � ��4� ������%&��"� �
 >&*� �� �
�
 �������� �� !�/&��
H �� �� 8&�
 �� �
��� +����
.���� ������� � ���/� ��������
 
� ���� %����
����
�+���
��
 M� +
���� ��� ����� �� �
�
 ���
������ M� �
���� 

���	�� :�;E ���	
����� �� �'�
�
� :�5 ������������ �� ������

��� ����
�� �� �����-�������

/ ������ �� 
���
� 
������$��� �� T	'� �� ��������# � ����0!�
 ������
����
��
�%&�� �� �������
����� ����� �� T	'�� �� �������� ���!� ��� ��
�� �� ����
� �� �� �%&�� �� �������� ���!� ��� ������� ����� �������
������ �(� 4����
�
 !,���� ���	��� � 
���
��� � ��
��%� �� �������� L1a 1�� �� ]�����^M
������
��� +	� � ��
� �
������� ��� ��������� +	� �����
 � ���
 �� 	
�
����� ��!� ��� �	
�# �	 �����# +	�

Af = P L:�5>M

����



;= ������� �� 	���� 
���
����

AE 
����$ ���������� ���	$���� ����� × ��
�# ��
 ��
���(� (n− 1)×mU

mE �4
��� �� ��
�� �� ����U

�E !���� �	 �� �
�
����� �(� �� T	'�� �� �������� ��� 
����� Lm× 1M�

�� T	'�� �� �������� ��� 
����� ����
 ��� �'������� ��
� �+	�%(� ����'�
L2a 1�� �� ]�����^M

f = Γ[A]TΘ L:�5=M

����

ΓE 
����$ �������
 �	 �� �
�
����� �(� �� �	�����O����� ��� ��
�� L1/xjM#
��
 ��
���(� m×m�

8	�����	���� L:�5>M �
 L:�5=M# ��
��

AΓ[A]T Θ = P L:�5@M

�� ���� �� ����
	�# ��� ��
����%(� ��
 L:�55M# +	�

B = AΓ[A]T L:�7DM

�� L:�5=M# ����
.��

f = Γ[A]T [B]−1P L:�75M

f = βP L:�77M

����

β = Γ[A]T [B]−1 L:�79M

/ 
����$ β � � �����' �
 1
���%�
����
� ����� �� T	'�� ��� 
����� � �� ��.
 �%&�� ������ �� ��������� 8�	� �
�
����� "������
 � ��
�%(� ����� !����%&��
�� �� �%&�� �
 ������ � T	'�� �� �������� �
 ��
�� �� ����� B� 
����$ β
�(� �'���� � ��
	�� �������������� ) ����� �� ��"�������� ����� "������ �(�
���	
���� ��	��� � $��� ����# �� 
���
� �� T	'� �� �������� 
������$���#
+	�
+	�� !����%(� �� �� �%(� �� �������� �� ����� �� ��"������� � �����!���
��
� ��-���� ����� �� ��"������� �(� �
�
������# ��������# �
 !����%(� ��
T	'� �� �������� ��� ��
�� �� �����

�4  ����� �	���%	��� ��*	� � ��	�"�� ��� �� �� ��� 	:� �� ����� D����� ��� �	���
������ � 0 � A0 	� �	�����'�� �� ����	� ��	+���� j ��� �� �� �� ��	3�� k � m �	:�
��� �	��� �� �� � j�. ���
����#� �	��� 
� �� ��� ��� �	��� ��  ����� ��� 	����� 4
 ����� �	���%	��� �������� + ������ 
��� ��� �	�'�� �� ��	3� ������
�	��	�� C ����� ��
��$��%	��� ��  ����� �	���%	����



����
���	� ;@

�#�� 
� %�! )��� � ����
�� &���� �� �*
�+
� H �� � �����' �
 �
���%�
�,
���
 β � ���� +��

β =

⎡
⎢⎣ 10, 0

12, 5
20, 0

⎤
⎥⎦
⎡
⎢⎣ −1 0

0 −1
1 −1

⎤
⎥⎦
[

0, 0565 0, 0348
0, 0348 0, 0522

]
=

⎡
⎢⎣ −0, 5652 −0, 3478
−0, 4348 −0, 6522

0, 4348 −0, 3478

⎤
⎥⎦

�� 


�
���� �
 β +��
� �
� &��
�'���� +��� ��
�&
�� 4�����9
� ��� >&*��
�
4��� � 4�����9
� ��� ���
�9
� )�� 
*
�+
�� �&+��.� 8&
 � ���/� �� %����
= ��;�
 &� ��������� �
 ��O +������� �� 4�
�� PP �Q � ��4� 4�
�� ��
>&*� �� 
��.� �,= � ���� +��

fnovo
13 = f velho

13 + (−0, 08) × (−0, 6522) =
= 0, 3475 + 0, 0522 = 0, 3997 ≈ 40MW

��� #�*���� �� #�����
4�� �� .�����  ������5���

�
 !,���� ��
���%&�� ��,�����# ���� ��
� ��,
��� �� �������������# �!�
��%(�
�� ���*���
�����# ����# �(� ������,���� ��
	%&�� �� ��+V������ �� �����
�� ��
�+	�%&�� �� 
���
� �� T	'� �� �������� 
������$��� L:�55M ���������������
) ��
	
�%(� �� �
����%&�� �� �����%(� �� ����� � ����%(� �	 �� ���� ��
�����
���(�� ����� �����
�� �� �+	�%&�� ���������
 ��+	���� ��"����%��
����� �� � +	� ���
��� ����� � ��
	%(� ��� 
��
�� ��
 ��"��%� ��
�	�������

���	$���� /� ���	�� �(� ������������ �������
����� ���� � �����%(� ������
��
	%&�� � ������ �� ��
	%(� �� ���� ����# �	 �� �# �� ���� �
 �	� ���*�	��%(�
���
�
�

����� 4����
�.�� �
 �������� �� �
�"
�"��
���

8	����� 	
� !����%(� �� !���� �� �� �%&�� �� �������� ���!� � +	�
 ��������
�� 	
� �����%(� ������
 P ���� P + ΔP� 6��� �������� 	
� !����%(� ���
O��	
�� �� "��� �� !�
�� Θ ���� Θ+ΔΘ� 8	����� +	� �(� �'���� �
����%(�
�� ����# ���� !����%(� � ���� ���

P + ΔP = B(Θ + ΔΘ) L:�7:M

�� ���� �� ����
	� +	�

ΔΘ = B−1ΔP L:�7;M

��
� ����.�� �����!�� �� :�7;# � �,
�	
� �� ΔΘ �'��� ��	�� ��"��%�
��
�	�������
 ��������
 ���� B−1  , ���, ������0!�
# �� "��
� �'�
0���� �	
�
�
0���� L"������M# ����� � ��
	%(� �� ���� �����
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����� 4����
�.�� �
 ����

� ����
�
� ����� �������� �
 ��
�	
�� �� �
����%&�� ��� O��	
�� �� "��� ��
����&�� ΔΘ ��	����� ��� �
����%&�� �� !�
�� ��� ����O����� ��� ��
��# �	
�� "��
� �+	�!�
����# ��� �
�
����� �� B � +	�
 ���	
� � !�
�� B + ΔB�
�
� ���-���� 	�	�
 ����� ��,
��� � �	��� +	� �(� �, �
����%(� ��� �� �%&��

0+	���� �� ��������� � ��!� !�
�� �� ΔΘ ���� ��� ��
�	
��� ����
!����.��
� �+	�%(�

P = (B + ΔB)(Θ + ΔΘ) L:�7<M

� +	�
 ���� ��� ��������� ��
�

BΔΘ + ΔBΘ + ΔBΔΘ = 0 L:�7>M

/ �+	�%(� ���
� ���� ��� ����
!��� �� "��
� ����'�
��� �	 �'��� ��
� ��

����� ��� ��%&�� ���	������

�
 L:�7>M# � �
����%(� �
 B ���� ��� ������������ ���

ΔB = ΔbkmekmeT
km L:�7=M

����

eT
km = [ 0 · · · 0

k
1 0 · · · 0 −m

1 0 · · · 0 ]

� Δbkm � � !����%(� �� �	�����O���� �� ��
� ����

��
	,-� � ��#�����

N ������ ������$����.�� � ���
� ΔBΔΘ �
 L:�7>M� B���� ����# � ��
	%(� �
���� ���

ΔΘ = B−1ΔBΘ L:�7@M

6�����	$���� L:�7=M# � ��
	%(� ����� � ��� ���� ���

ΔΘ = −ΔbkmXekm eT
kmΘ L:�9DM

���� X = B−1� ����

����# � �'�����(� ���
� ���� ��� ��
����� �� "��
�

ΔΘ = −ΔbkmXkmθkm L:�95M

���� Xkm � � ��"����%� ����� � k.���
� � � m.���
� ��
	��� �� X � θkm �
� ��"������ ���	
�� �� ��
� ��� ����� �� �
����%(� �� �����



����
���	� <5

��
	,-� �#���

�� L:�7>M# ����
��

ΔΘ = −B−1ΔB(Θ + ΔΘ)
ΔΘ = −B−1ΔbkmekmeT

km(Θ + ΔΘ)
ΔΘ = −Δbkm(Θkm + ΔΘkm)B−1ekm

ΔΘ = −Δbkm(Θkm + ΔΘkm)Xkm L:�97M

B� �'�����(� ���
� ΔΘ � ���� �
 "	�%(� �� ΔΘkm# ���� �# �	�� �� �	��
��
��������� ���� �� ����� � !�
�� �� ΔΘkm# ���.
	
���
���.�� � �'�����(�
��� eT

km �������.��

eT
kmΔΘ = ΔΘkm = −Δbkm(Θkm + ΔΘkm)eT

kmXkm

ΔΘkm(1 + Δbkmα) = −ΔbkmΘkmα, α = eT
kmXkm

ΔΘkm = −ΔbkmΘkmα

1 + Δbkmα
L:�99M

8	�����	���� L:�97M �
 L:�99M# ��
��

ΔΘ = −Δbkm

[
Θkm − ΔbkmΘkmα

1 + Δbkmα

]
Xkm

ΔΘ = −Δbkm

[
Θkm − Θkm + ΔbkmΘkmα−ΔbkmΘkmα

1 + Δbkmα

]
Xkm

ΔΘ = −Δbkm
Θkm

1 + Δbkmα
Xkm

�� ����# *��

����# ����
	�.��

ΔΘ = −c XkmΘkm L:�9:M

����

c =
1

1
Δbkm

+ eT
kmXkm

L:�9;M
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� �� T	'� �� ��������

������$��� �������� ��� ��%&�� ����������� ����� "������ ����������
 ��
�%&��
�� �������
����� ����� !���,!��� �� ���� � �(� 	����� �
 ��!����� ��
���%&���
�
 ������	
��# �(� 	��
�$���� �� /�,
��� ���,���� �� �������������# �� "��
	.

�%(� 
������$��� �� �
	'� �� �������� H��
� � �� �!�
��%(� �� ����������
�� 2����
���(� ������0!�
 ����� ,���� �� ����� / ���	�� �(� ������������ ��
"������ �� �������	�%(� 
��� 	��
�$���� �� ��,�����
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Pkm+ΔPkm

Pi+ΔPi
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i

k m

'

���	�� :�<E ����� �� ���
���
���� �� ����%(�

��5�� 6
��� �� 3�����!����� (
�
 3�����
	���� �� /��
���

���� "���� ��
������ !����%&�� �� T	'� �� 	
� ��
� �� ���� ��!��� ) !����%(�
�� �� �%(� �� �������� ���!� �
 	
� ��� ������ �� ����� ���� ���	�%(� �
�
	������ �� ���	�� :�<� � "���� �� �������	�%(� ���� ���
���
���� �� ����%(�
� ��*���� ���

φG
km,i =

Δfkm

ΔPi
L:�9<M

���� Δfkm � � !����%(� �� T	'� �� �������� ���!� �
 	
 ��
� ��� ��!���
) !����%(� ΔPi �� �� �%(� �� 	
� ����� �������� i�

6�����

����# !�
�� ���������� +	� � !����%(� �� �� �%(� �� 	
� �����
+	�
+	�� � ��
������� ��� 	
� !����%(� ��	�
 � �� ������� �����,��� ��
�� �%(� �� ����� �� ��"�������� 8	����� � !����%(� �� ����� i# ��
���

Δθk = XkiΔPi

Δθm = XmiΔPi

�	

Δθkm = (Xki −Xmi)ΔPi

Δfkm =
Δθkm

xkm

�� ���� ����
��

φG
km,i =

Xki −Xmi

xkm
L:�9>M

���� �� ���� � ��
�'�� � ���-���� �� ��
�����%(� �� !����%(� �� �� �%(�
�� ����� i ��
� !����%(� �� �� �%(� �� ����� T	�	����# ��!�.�� ������ �� 	
�
����� �� �������	�%(� ����� !����%(� ��
�� ��
��� ������ �� ���� ��*����
��� ;����
� �
 �%����"� γji �� !����%(� �� �� �%(� �� ����� i ��
�� ��
���

���� �,��'(�� �����	���. � �) ���� Xkm ��
����	�� � ��� �	�� km ��  ����� �� ���
��#� ��� ��	$�	���� �� � �) ���� Xkm. ����� �	������ �	��. � ,��� ��	��� � ��$���	'�
�	��� �� ����	�� k � m ��  �� �  ����� ��



����
���	� <9

Δxrs
r s

Pkm+ΔPkm



k m

�

�




�
���	�� :�>E ����� �� �������	�%(� ���� ���
���
���� �� ��
�

��������� �� �����
�� B���� ����# � !����%(� �� T	'� �
 	
 ��
� ��� ��
����# ��!��� ) !����%(� �� �� �%(� ΔPi �� ����� i ���, ���� ���

Δfkm =
∑

j∈ΩG

φG
km,iγjiΔPi L:�9=M

���� ΩG � � ��� 	��� �� ��������� �� �����

�� "������ �� �������	�%(� ���� ���
���
���� �� ����%(� ��*����� �����
��%(� �(� ��	��� ��� �
�
����� �� 
����$ �� �������
����� β ��*���� �� ��%(�
:�:�

��5�� 6
��� �� 3�����!����� (
�
 3����"
	���� �� �
	�

���� "���� ��
������ !����%&�� �� T	'� �� 	
 ��
� �� ���� ��!��� ) !����%(�
�� ����O���� �� 	
 �	��� ��
� �� ���� ��	����# ��� �'�
�
�# ��
� ���
���.

���� �� 	
 ��� ����	���� �
 ����
�
� +	� "��
� ���� ��
�� ���� ���	�%(�
� �
	������ �� ���	�� :�>�

� "���� �� �������	�%(� ���� ���
���
���� �� ��
� � ��*���� ���

φD
km,rs =

Δfkm

frs
L:�9@M

���� Δfkm � � !����%(� �� T	'� �� �������� ���!� �
 	
 ��
� ��� ��!��� )
!����%(� Δxrs �� ����O���� �� ��
� rs# �� +	�
 ��!�� 	
 T	'� �� ��������
���!� frs ����� ����� !����%(� �� ����O�����



<: ������� �� 	���� 
���
����

�� L:�;�7M � L:�9;M !�
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⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
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	%(� ���� � ��� +	� ����
 "��
�� � ���� ���
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��� ���+	���� ���� 	��
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��,����� ������ ����� 
������ ��!�
 ��� �������E

• ������
�%(� 1����� 8�+V�����
 W7;XU

• ������
�%(� K	���,���� 8�+V�����
 W;XU

• ������ �� B�C��� W5DXU

• ������ ��� ������ 6��������� W5<X�

��� 7��	��5� �� ���-����
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���� �# �
 ����
# ����������� ��������� � ���������� /

�
��� 
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���� � ������ ����
!����.�� � ����
�
�
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 !���� � �������
�
���� ���	��
 ����� T	'�� �� ��������
���!� � �����!�# � ��
	
 ����������.�� ��������
���� �� "����� � ������$��
������
,!��� ��
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�� ����
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�
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<���.+��� �� �������� �	 �� ������ �x�
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�
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�����
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������� �� ��
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• �
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6 �-�	
� �� ����(� �
 ������ �� ����%(�U

6 �������� �����!� ������ �	 �
�����U

6 ����%(� �� ��+ �� �����"��
������U

6 8	�����O���� �.&�� �� ������ �� �����������U �	 ���������
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� ����� �� ����%(�# � !���,!�
 �� ������
� ��������� �� T	'�
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 �	 �� �	��� ������� �� ���������!� �� ������
�
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	%(� �������� /
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��
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/ ��
	%(� �� ��� ����������� � 	
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�$� � ��������
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 ����������� ��
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Pk = PGk − PLk

= Vk

∑
m∈Ωk

Vm(Gkm cos θkm +Bkmsenθkm), k ∈ ΩP L;�:M

Qk = QGk −QLk

= Vk

∑
m∈Ωk

Vm(Gkmsenθkm −Bkm cos θkm), k ∈ ΩQ L;�;M

����

θkm = θk − θm

{Ωk} E ��� 	��� "��
��� ��
� ����� k � �� ������ ���������� ) ����� kU

ΩP � ΩQE ��� 	���� �� ������ �� ���� �	 � ��*��%(� ������� �� 
�����
�� ��
	%(� �� ��� ����
����U

Gkm + jBkm E �
�
����� �� 
����$ �� ��
��O����� ����
 �� ����U

PLk � QLk E ����� ���!� � �����!� ��������� ) ����� k�
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6 8	�����O���� �.&�� �� ������ �� ����������� �	 ��������U

6 �
	'� �� �������� �����!� �
 ��
�� �� ����U

6 �
	'� �� �������� �����!� �� ������O
��� ����� ,����

• �
	'� /��!� � �����!�E

6 ?���%(� ��
�
�'� L�G/MU

6 �������� ��� ��
���



>: ������� �� 	���� 
���
����

��#�� 6����� ;!,�����

� ������
���
���� �� "	�%&�� �� ���!� +	� �������
 ������!�� ���+	���.

���� � �

.�� �����%(� �������!� �� ���� �
������ � � ������� 
��� ��
.
�
�'� �� "��
	
�%(� �� ����
�
� �� ���� �
 
	���� �����# � 	��
�$�%(� ��
	
� ��
�
�� �'�����(� 
���
,���� �(� ������	� ������!�� ���+	���
����
!,���� �� ���!�� ���T������� � �(� ���"����
���� ���������$,!��� ��� "-�
	
��

���
,������ �
 �	���� �����# � �����"�%(� ��� ������%&�� � 
��� �
��������
+	� � ���
�$�%(� �� "	�%(� �� ���!�� B���� ����# ����.�� 	��� 	
� "	�%(�
�� ���!� *��0��� L�&��2M �	 ��� �(� ��*��� ����	
� "	�%(� �� ���!��

/ ���	�� �(� ������������ �
�	�� �'�
�
�� �� "	�%&�� �� ���!� 	�����
�
 ��
���%&�� ��,������

�	��� �� 2���,-� �>����

N � "	�%(� �� ���!� 	���� ���� 
���
�� � ����
�
� �� �������� ����S
����
B� ���� �� �����
�� �������	���� ������ ��� 	����� ���
����# ���� "	�%(�
���	
� � ������� ���	����E

f(z) =
∑

i∈ΩG

Ci(PG,i) L;�<M
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∑
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f(z) =
∑

i∈ΩL

ωi(PL,i) L;�=M

���� ΩL ��*�� � ��� 	��� �� ������ ���� � ��
����� � ����� �� �����# PL,i
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� �� ����� � ��� ������� �� ����� i � ωi � 	
� �������%(� +	�
��*�� � �
����O���� �� ����� ����� ������
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f(z) =
∑

k∈Ωd

[
ωk(yk − y0

k)
]

L;�@M

���� Ωd � � ��� 	��� �� !���,!��� yk �����������# y0 � � !�
�� �����
�����
��
� ���	�� �������� � ωk � 	
� �������%(��

��� ��	0� �� ���1���� 8����  ������5���
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Minimizar z = c1PG1 + c2PG2 + · · · + cnPGn L;�5DM

1&�
��� �
⎡
⎢⎢⎢⎢⎣ B̄

⎤
⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎣
θ1
θ2
���
θn

⎤
⎥⎥⎥⎥⎦−

⎡
⎢⎢⎢⎢⎣
PG1

PG2

���
PGn

⎤
⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎣
−PD1

−PD2

���
−PDn

⎤
⎥⎥⎥⎥⎦ L;�55M

Pmin
Gi

≤ PGi ≤ Pmax
Gi

, i = 1, 2, ..., n L;�57M

1
xij

(θi − θj) + sij = fmax
ij , ij ∈ Ωr L;�59M

0 ≤ sij ≤ 2fmax
ij , ij ∈ Ωr L;�5:M

θref = 0 L;�5;M

����

n E �4
��� �� ������ �� ����U

ref E 0����� �� ����� 	��
�$��� ��
 ��"������� ���	
�� �� ����U

ciE �	��� �����
����
 �� ����%(� �� ����� i L�`��Q�MU

PGi E ����%(� ���!� �� ����� i L�QMU

PDi E ����� ���!� �� ����� i L�QMU

θiE O��	
� �� "��� �� ����(� �� ����� i L���MU

B̄E 
����$ ��*���� �
 L:�@MU

Pmin
Gi

, Pmax
Gi

E 
�
���� 
0��
� � 
,'�
� �� ����%(� �� ����� i L�QMU

fmax
ij E 
�
��� 
,'�
� �� T	'� �� �������� �� ��
� ij L�QMU

sijE !���,!�
 �� "�
�� ��������� �� T	'� �� �������� �� ��
� ij L�QMU

ΩrE ��� 	��� �� ��
�� �� �����

/� ������%&�� ������
������ �
 L;�59M � L;�5:M ����������
 �� 
�
���� ��
T	'� ��� ��
�� �� ���� � �(� �+	�!�
����� �

−fmax
ij ≤ fij ≤ fmax

ij , ij ∈ Ωr L;�5<M
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� ij L�QM�
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c1 = 80 R$/MWh; Pmin
G1

= 0 MW ; Pmax
G1

= 50 MW ;

c2 = 100 R$/MWh; Pmin
G2

= 0 MW ; Pmax
G2

= 50 MW ;

fmax
12 = 10 MW ; fmax

13 = 50 MW ; fmax
23 = 50 MW.
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������'�� z = 80PG1 + 100PG2

1&�
��� �

⎡
⎢⎣ 22, 5 −10, 0 −12, 5
−10, 0 30, 0 −20, 0
−12, 5 −20, 0 32, 5

⎤
⎥⎦
⎡
⎢⎣ θ1
θ2
θ3

⎤
⎥⎦−

⎡
⎢⎣ PG1

PG2

0

⎤
⎥⎦ =

⎡
⎢⎣ 0

0
−0, 80

⎤
⎥⎦

0 ≤ PG1 ≤ 0, 50
0 ≤ PG2 ≤ 0, 50

1
0, 10

(θ1 − θ2) + s12 = 0, 10

1
0, 08

(θ1 − θ3) + s13 = 0, 50

1
0, 05

(θ2 − θ3) + s23 = 0, 50

0 ≤ s12 ≤ 0, 20
0 ≤ s13 ≤ 1, 00
0 ≤ s23 ≤ 1, 00

θ1 = 0
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������'�� z = 80PG1 + 100PG2

1&�
��� �

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

22, 5 −10, 0 −12, 5 −1

−10, 0 30, 0 −20, 0 −1

−12, 5 −20, 0 32, 5

10, 0 −10, 0 1

12, 5 −12, 5 1

20, 0 −20, 0 1

1

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

θ1
θ2
θ3

PG1

PG2

s12
s13
s23

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0

0

−0, 80

0, 10

0, 50

0, 50

0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

0 ≤ PG1 ≤ 0, 50
0 ≤ PG2 ≤ 0, 50
0 ≤ s12 ≤ 0, 20
0 ≤ s13 ≤ 1, 00
0 ≤ s23 ≤ 1, 00
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π1 N ����� �TU�Q.V π12 = PP��� �TU�Q.V

π2 N ������ �TU�Q.V π13 = ���� �TU�Q.V

π3 N P���� �TU�Q.V π23 = ���� �TU�Q. 
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����
�$�� c1PG1 + c2PG2 + · · ·+ cnPGn

8	 ���� �

⎡
⎢⎢⎢⎢⎣ β

⎤
⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎣
PG2

PG3

���
PGn

⎤
⎥⎥⎥⎥⎦+

⎡
⎢⎢⎢⎢⎣
s12
s13
���

smn

⎤
⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎣
fmax
12

fmax
13
���

fmax
mn

⎤
⎥⎥⎥⎥⎦+

⎡
⎢⎢⎢⎢⎣
r12
r13
���

rmn

⎤
⎥⎥⎥⎥⎦ L;�5>M

Pmin
Gi

≤ PGi ≤ Pmax
Gi

, i = 1, 2, ..., n L;�5=M

0 ≤ sij ≤ 2fmax
ij , ij ∈ Ωr L;�5@M

���� ⎡
⎢⎢⎢⎣
r12
r13
���

rmn

⎤
⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎣ β

⎤
⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎣
PD2

PD3

���
PDn

⎤
⎥⎥⎥⎥⎦ L;�7DM
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������'�� z = 80PG1 + 100PG2

1&�
��� �

PG1 + PG2 = 0, 80⎡
⎢⎣ −0, 5652 −0, 3478
−0, 4348 −0, 6522

0, 4348 −0, 3478

⎤
⎥⎦
[
PG2

0

]
+

⎡
⎢⎣ s12
s13
s23

⎤
⎥⎦ =

⎡
⎢⎣ 0, 10

0, 50
0, 50

⎤
⎥⎦+

⎡
⎢⎣ −0.2782
−0.5218
−0.2782

⎤
⎥⎦

0 ≤ PG1 ≤ 0, 50
0 ≤ PG2 ≤ 0, 50
0 ≤ s12 ≤ 0, 20
0 ≤ s13 ≤ 1, 00
0 ≤ s23 ≤ 1, 00
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������'�� z = c1PG1 + c2PG2

1&�
��� �

⎡
⎢⎢⎢⎢⎢⎢⎣

1 1 0 0 0

0 −0, 5652 1 0 0

0 −0, 4348 0 1 0

0 0, 4348 0 0 1

⎤
⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎢⎣

PG1

PG2

s12
s13
s23

⎤
⎥⎥⎥⎥⎥⎥⎦

=

⎡
⎢⎢⎢⎢⎢⎢⎣

0, 8000

−0, 1782

−0, 0218

0, 2218

⎤
⎥⎥⎥⎥⎥⎥⎦

0 ≤ PG1 ≤ 0, 50
0 ≤ PG2 ≤ 0, 50
0 ≤ s12 ≤ 0, 20
0 ≤ s13 ≤ 1, 00
0 ≤ s23 ≤ 1, 00
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� km# �� ������%&�� � ����
 ���������� �� ��� �(�E

−ηfmax
km ≤ f c

km ≤ ηfmax
km L;�75M

���� f c
km � � T	'� �-�.������������ � η ≥ 1 � 	
 "���� �����
������ �

���������� ��
���0!�
 �	����� � ������������ �� ��
� km# ��������!�
�����
/� ������%&�� ������������� �
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 ;�59 � ;�5:# ��
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1
xkm

(θk − θm) + φD
km,rs

1
xrs

(θr − θs) + skm,rs = ηfmax
km L;�77M

0 ≤ skm,rs ≤ 2 η fmax
km L;�79M

���� φD
km,rs � � "���� �� �������	�%(� ���� ���
���
���� �� ��
� ��*���� �
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φD
13,23 =

Δf13

f23
=

55, 56 − 38, 46
41, 54

= 0, 4116
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1&�
��� �

⎡
⎢⎣ 22, 5 −10, 0 −12, 5
−10, 0 30, 0 −20, 0
−12, 5 −20, 0 32, 5

⎤
⎥⎦
⎡
⎢⎣ θ1
θ2
θ3

⎤
⎥⎦−

⎡
⎢⎣ PG1

PG2

0

⎤
⎥⎦ =

⎡
⎢⎣ 0

0
−0, 80

⎤
⎥⎦

0 ≤ PG1 ≤ 0, 50
0 ≤ PG2 ≤ 0, 50

1
0, 10

(θ1 − θ2) + s12 = 0, 10

1
0, 08

(θ1 − θ3) + s13 = 0, 50

1
0, 05

(θ2 − θ3) + s23 = 0, 50

1
0, 08

(θ1 − θ3) + 0, 4116 × 1
0, 05

(θ2 − θ3) + s13,23 = 0, 50 (∗)
0 ≤ s12 ≤ 0, 20
0 ≤ s13 ≤ 1, 00
0 ≤ s23 ≤ 1, 00
0 ≤ s13,23 ≤ 1, 00 (∗)

θ1 = 0
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�
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���� � ���� ���E

min
u

f(x,u) L;�7:M

�� � g(x,u) = 0 L;�7;M
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�%(�# �� ��� 	���� �� �+	�%&�� ��*����� �� ������%&�� �� ��	�
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 L;�7;M �(�

ΩP E 2���� �� ������ �� ���� �'���� � ����� T	�	����U

ΩQE 3����� �� ������

���� � ����
�
� ���
�# � "	�%(� 1���������� � ��*���� ���E

L(x,u, λ) = f(x,u) + λTg(x,u) L;�7<M

/ �����%(� ������,��� ���� +	� 	
 ����� �� � ��
	%(� �� ����
�
� ��*����
�
 L;�7:M � L;�7;M# ��
� 
������� �� /������� 3# �	���%(� 3�9�7# �

∂L

∂x
=

∂f

∂x
+
[
∂g
∂x

]T

λ = 0 L;�7>M

∂L

∂u
=

∂f

∂u
+
[
∂g
∂u

]T

λ = 0 L;�7=M

∂L

∂λ
= g(x,u) = 0 L;�7@M

�� L;�7>M# ����
��E

λ = −
{[

∂g
∂x

]T
}−1

∂f

∂x
L;�9DM

� +	�
# �	����	0�� �
 L;�7=M# ����	$E

∇uf(x,u) =
∂L

∂u
=

∂f

∂u
−
[
∂g
∂u

]T
{[

∂g
∂"
b
x

]T
}−1

∂f

∂x
L;�95M
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 � ��������� ��
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 �
�&'��� �� f(x,u) �
 ��
�%(� )� !�.
��,!��� �� ������
� (u)� ���� !���� ������ � ����%(� ������ )+	�
� �� +	�
 ��
!���,!��� �� ������
� ��!��(� ��� �
������� ���� ��
��	�� � !�
�� �� "	�%(�
�� ���!�� ���� �
����%(� ��� !���,!��� �� ������
� ���!��� 	
� ���������.
����� �
����%(� ��� !���,!��� �� ������ (x) �����
����� ��� L;�7@M�
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�$� � ��������E k = 0
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 )� !���,!��� �� ������
�E u0

��%� ��+	���� ‖∇uf(xk,uk)‖ > ε
����
!� � T	'� �� �������� ��
� 
����� �� B�C���.

������� ���� uk ������� ��
� ��
	%(� xk

��
�	
� ∇uf(xk,uk)
��
�	
� Δuk = −αk∇uf(xk,uk)
��
�	
� uk+1 = uk + Δuk

/�	�
�$� � ��������E k = k + 1
��
\"�%�

� !�
�� �� ����� αk �� �
�����
� ���
� ���� ��� ������
����� ��� 	

�������� �� 
���
�$�%(� �� f(x,u) �� ����%(� �����,��� � ∇uf(x,u) �	 ���
�������
����� ��	�0�������
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������%&�� �� �����	�
���� ��� !���,!��� �� ������
�# ������������� 
�
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�������!�� ��� ���������!�� �������,!��� ��� �%&�� �� ������
�# ����
 ���
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���� ������	$���� �� �
�����
� ����������� �� ��%(� ��������� B�
����� k �� �
�����
�# �� !���,!��� �� ������
� �(� ��	�
�$���� �� ������
��
 � ���	���� 
-����E

uk+1
j =

⎧⎪⎨
⎪⎩
umax

j �� uk
j + Δuk

j > umax
j

umin
j �� uk

j + Δuk
j < umin

j

uk
j + Δuk

j �
 ���� �����,����
L;�97M
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/ ������� �������� �� ��%(� ��������# ���� � �����
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F (xk,uk) = f(xk,uk) +
np∑
i=1

ωi pi(xk,uk) L;�99M

���� ωi � 	
� �������%(� � pi � ��*����# ��� �'�
�
�# ��
�

pi(xk) =

⎧⎪⎨
⎪⎩

(xk
i − xmin

i )2 �� xk
i < xmin

i

(xk
i − xmax

i )2 �� xk
i > xmax

i

0 �
 ���� �����,����
L;�9:M
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pi(xk) =

⎧⎨
⎩

0 �� hi(xk) ≤ 0[
hi(xk)

]2
�� hi(xk) > 0
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P1 P2
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 /
���"�C C1(P1) = αP 2
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 C2(P2) = αP 2
2 V
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u =
[
P2

]
e x =

[
θ2
θ3

]

� ;&��"� �%�
��4� � �
:���� ����

f(θ2, θ3, P2) = α1 [P1(θ2, θ3)]
2 + α2P

2
2

���


P1(θ2, θ3) = G11 +G12 cos θ2 −B12 sen θ2 +G13 cos θ3 −B13 sen θ3

�� �
�����9
� �
 �/&�
���
 �"� ����� +��

g1(θ2, θ3, P2) = P2 −G22 −G21 cos θ2 −B21 sen θ2 −G23 cos (θ2 − θ3) +
− B23 sen (θ2 − θ3) = 0 L;�9<M

g2(θ2, θ3, P2) = −PD −G33 −G31 cos θ3 −B31 sen θ3 −G32 cos (θ3 − θ2) +
− B32 sen (θ3 − θ2) = 0 L;�9>M
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P1(θ2, θ3)− Pmax
1 ≤ 0

−P1(θ2, θ3) + Pmin
1 ≤ 0

P2 − Pmax
2 ≤ 0

−P2 + Pmin
2 ≤ 0
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 P2 � ���� +��

∇uf(x,u) = ∂f
∂u −

[
∂g
∂u

]T {[∂g
∂x

]T}−1
∂f
∂x

���


∂g
∂x

=

⎡
⎣ ∂g1

∂θ2

∂g1

∂θ3

∂g2

∂θ2

∂g2

∂θ3

⎤
⎦ ;

∂g
∂u

=

⎡
⎣ ∂g1

∂P2

∂g2

∂P2

⎤
⎦ =

⎡
⎣ 1

0

⎤
⎦

∂f

∂x
=

⎡
⎣ ∂f

∂θ2

∂f
∂θ3

⎤
⎦ =

⎡
⎣ 2α1

∂P1
∂θ2

2α1
∂P1
∂θ3

⎤
⎦ ;

∂f

∂u
=

∂f

∂P2
= 2α2P2
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∇P2f(θ2, θ3, P2) = 2α2P2 −
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1 0
] ⎡⎣ ∂g1

∂θ2

∂g2

∂θ2

∂g1

∂θ3

∂g2

∂θ3

⎤
⎦
−1 ⎡
⎣ 2α1
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∂θ3

⎤
⎦
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�
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 !,���� �����������
�� ��
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�
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min
z

f(z) L;�9=M

s. a g(z) = 0 L;�9@M

ha(z) = 0 L;�:DM
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���� ha : IRm+n → IRa ���������� �� a ������%&�� �� �����	�
���� ���!���
���� � ����
�
� ���
�# � "	�%(� 1���������� � ��*���� ���

L(z, λ, μ) = f(z) + λTg(z) + μTha(z) L;�:5M

/ �����%(� ������,��� ���� +	� 	
 ����� �� � ��
	%(� �� ����
�
� ��*.
���� �
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∂L

∂z
=

∂f

∂z
+
[
∂g
∂z

]T

λ+
[
∂ha

∂z

]T

μ = 0 L;�:7M

∂L

∂λ
= g(z) = 0 L;�:9M

∂L

∂μ
= ha(z) = 0 L;�::M
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� �� �+	�%&�� �(�.
�.
������# � +	�
 ������������
�� �� "��
� ��
����� ���

φ(y) = 0 L;�:;M

���� y = [zT λT μT ]T �
� �����
� �� �+	�%&�� L;�:;M ���� ��� ����
!��� ��
� 
����� �� B�C���.

������� ����!�� �� ���	���� �������� �������!�

yk+1 = yk + Δyk, k = 0, 1, 2, ... L;�:<M

���� Δyk � ������ ����
!����.�� � �����
� �� �+	�%&�� 
�������⎡
⎢⎢⎢⎣

∂2L(zk ,λk,μk)
∂z2

[
∂g(zk)

∂z

]T [
∂ha(zk)

∂z

]T
∂g (zk)

∂z 0 0
∂ha(zk)

∂z 0 0

⎤
⎥⎥⎥⎦
⎡
⎢⎣ Δzk

Δλk

Δμk

⎤
⎥⎦ =

⎡
⎢⎢⎣
−∂f(zk)

∂z −
[

∂g(zk)
∂z

]T
λk −

[
∂ha(zk)

∂z

]T
μk

−g(zk)
−ha(zk)

⎤
⎥⎥⎦ L;�:>M

����

∂2L(zk, λk, μk)
∂z2

=
∂2f(zk)
∂z2

+

[
∂2g(zk)
∂z2

]T

λk +

[
∂2ha(zk)
∂z2

]T

μk
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 ��� 	��� ������
 �� ������%&�� ���!��� �
 ����
# �� ������%&��
���!�� �� ��
	%(� �� ���� ���� LT	'� �� �������� ���!�������
M�

7� ����
!� � �����
� �� �+	�%&�� ��*���� �
 L;�:;M�

9� 8� �
�	
� ������%(� �(� ���
	0�� �� ��� 	��� ���!� "�� !��
���# ��.
�
	� ���� ������%(� �� ��� 	��� ���!� �� ��-'�
� ���
� �� �������� ��
��
	%(��

:� ������ �� ��� 	��� ���!� �� ������%&�� ������������� 
�
���� �	��������
L��"�������M �	 �� 
	
���
�������� �� 1������� ������� ����� ���
� ��
�������� �� �
 ������!�� L������!��M��

;� G�
�� ���� � ����� 7�

��+ ./���� ��� ������ ����������

���� ��
	%(� �� ��� ��
� 
����� ��� ������ ����������# � "��
	
�%(� ��
����
�
� ���� ��� L;�5M � L;�9M ���, 
���*���� ���� 	
� "��
� �+V�!�
����#

��� ���+	��� ���� � �����!�
!�
���� �� ������ 
�����# �� +	�
 �� ���.
���%&�� �� �����	�
���� �(� �� ���� ������%&�� ����
�'���� ��� !���,!���� �
����
�
� � ��� ����
!��� �����# ���(�# � ��� � ���	���� ��	�������

min
z

f(z) L;�:=M

s. a g(z) = 0 L;�:@M

l ≤ z ≤ u L;�;DM

���� l � u �(� !������ �
 IRn ��*����� 
�
���� ��"������� � �	�������� ���
!���,!��� �� ������# !���,!��� �� ������
� � !���,!��� �� "�
�� ���������� )�
������%&�� "	����������

B� �����!�
!�
���� �� 
����� ��� ������ ���������� ���
�
.�	�
 W5<# 95#
9DX# �� ���	����� ������ ��!�
 ��� ���	����E

�- � 8����*����#� 
��� ���� 
������ �	�� + ����#��� ��� ��	��'(�� �� G����3AG�3	A
7��H�� �� � �
����	���� � /0I2���
)���� 0���
�4�  �� �� �����#�'(�� ������#�� � #����#��� � �,��'(�� �� !�"� �� 
��%	��� ��	����

	� �	�����'�� ��  +���� �� �����	 ��� #������ 
��� �  +���� ��� 
�	��� �	���������
�4� ������'(�� �� ������������ $�	���	���. �� ��
� hi(z) ≤ 0. 
��� ��� ���	�$�� ����

� ������'(�� �� ��������� 
��� �	�����'�� �� #����#��� �� $����. 
����	�� � ��� � ��
����
�����	��� hi(z) + vi = 0, vi ≥ 0�



����
���	� @5

5� 2����"��
�� �� ������%&�� �� �����	�
���� ��*����� ��� L;�;DM �
 ���.
���%&�� �� ��	�
���� ��
� ������	%(� �� !���,!��� �� "�
��

z− sl = l L;�;5M

z + su = u L;�;7M

sl ≥ 0 L;�;9M

su ≥ 0 L;�;:M

���� sl � su �(� !������ �
 IRn �	 �� ��
�������� �(� �� !���,!��� ��
"�
�� ���������� )� ������%&�� ����
�$���� ��� !���,!����

7� 2����"��
�� � ����
�
� ��
 ������%&�� �� ��	�
���� � �����	�
����
L�(� ������!����� �� sl � suM �
 	
� ��+V����� �� ����
�
�� ��

������%&�� �� ��	�
���� ������# 
������� � ���%(� ) "	�%(� �� ���!� ��
"	�%&�� ����
������ �� ���� �������� 
������
��� ���������� � sl � su�
���� ����
�
� ����� ��+V�����# ����
����$��� ��
� +��I�
��� %���
���
μ > 0# � ��*���� ���

min f(z)− μ
m∑

j=1

ln slj − μ
m∑

j=1

ln suj L;�;;M

s. a g(z) = 0 L;�;<M

z− sl = l L;�;>M

z + su = u L;�;=M

9� 2����"��
�� ���� ����
�
� �� ��+V����� ��*���� ���
� �
 	
 ���.
�
�
� ��
 ������%&�� 	����� � ���	���� "	�%(� 1����������

L(z, λ, πl, πu, sl, su) = f(z)− μ
m∑

j=1

ln slj − μ
m∑

j=1

ln suj + λTg(z) +

+πT
l (z− sl − l) + πT

u (z + su − u) L;�;@M

���� λ# πl � πu �(� !������ �� 
	
���
�������� �� 1������� ����������
)� ������%&�� �� ��	�
���� L!���,!��� �	���M�

/ "	�%(� 1���������� ��*���� �
 L;�;@M ��
 	
 ����� ��������,���
�����"�$���� �� ���	����� �����%&��

∂L

∂z
= ∇f(z) + λT∇g(z) + πl + πu = 0 L;�<DM

∂L

∂λ
= g(z) = 0 L;�<5M

∂L

∂πl
= z− sl − l = 0 L;�<7M

∂L

∂πu
= z + su − u = 0 L;�<9M



@7 ������� �� 	���� 
���
����

∂L

∂sl
= −μS−1

l e− πl = 0 ⇔ −μe = Slπl L;�<:M

∂L

∂su
= μS−1

u e + πu = 0 ⇔ μe = Suπl L;�<;M

���� Sl � Su �(� 
����$�� ��������� �	 �� �
�
����� �(� �� ��
�������� ��
sl � su# ��������!�
����# � e � 	
 !���� ��
 ����� �� �
�
����� ��	��� � 5�

� �����
� �� �+	�%&�� ��*���� ��� L;�<DM � L;�<;M ���� ��� ����
!���
��
� 
����� �� B�C���� B���� ����# � �����
� �� �+	�%&�� 
������� � ���
����
!��� �
 ���� �����%(� � ���� ���[

∇2f(z) + λT∇2g(z)
]
Δz +∇g(z)Δλ + Δπl + Δπu = t L;�<<M

∇g(z)Δz = −g(z) L;�<>M

−ΠlΔsl − slΔπl = −(μe− slπl) L;�<=M

−ΠuΔsu − suΔπu = −(μe + suπu) L;�<@M

Δz−Δsl = −(z− sl − l) L;�>DM

Δz−Δsu = −(z + su − u) L;�>5M

����

t = −∇f(z)− λT∇g(z) − πl − πu L;�>7M

� Πl,Πu �(� 
����$�� ��������� �	 �� �
�
����� �(� �� ��
�������� �� πl �
πu# ��������!�
�����

/��	
���� +	� ���, 
������ � !����
����� ��� ����'�
�%&�� �� ��
	%(�
�	����� � �������� �������!�# ���� �# �� �����
�� (z− sl− l) � (z+ su− u) �(�
�	
��# �� L;�>DM � L;�>5M# ����
.��

Δsk
l = Δzk L;�>9M

Δsk
u = −Δzk L;�>:M

8	�����	���� ����� �+	�%&�� L;�<=M � L;�<@M# ����
.��

Δπl = −S−1
l (μe− Slπl −ΠlΔz) L;�>;M

Δπu = −S−1
u (μe− Suπu −ΠuΔz) L;�><M

��������# �� �������
�� Δsk
l # Δsk

u# Δπk
l # � Δπk

u ����
 ��� �'������� �

"	�%(� �� Δzk � Δλk� ����� "��
�# � �����
� �� �+	�%&�� L;�<<M � L;�<<M
���� ��� ��������� ��
�[

H −JT

−J 0

] [
Δzk

Δλk

]
=

[
tk

g(zk)

]
L;�>>M

����

H = ∇2f(zk) + λT∇2g(zk) + S−1
l πl − S−1

p πp

J = ∇g(zk)
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�
� !�$ ��
�	
���� Δzk � Δλk# �� �������
�� ��� ��
��� !���,!��� ����

��� ������� � ������ �� L;�>9M � L;�><M�

/�-� � ��
	%(� �� L;�>>M# 	
� ��!� ����'�
�%(� ��� !���,!��� � ��
�	
���
���

zk+1 = zk + αpΔzk L;�>=M

λk+1 = λk + αdΔλk L;�>@M

πk+1
l = πk + αdΔπk L;�=DM

πk+1
u = πk

u + αdΔπk
u L;�=5M

sk+1
l = sk

l + αpΔsk
l L;�=7M

sk+1
u = sk

u + αpΔsk
u L;�=9M

���� αp � αd �(� ����
����� �� 
������ � ������!�� � !����
����� L�����"�%(�
��� ������%&��M �� ��
	%(�� 6��� � �
���%��� ����
�����.�� αp � αd �� ������
��
 W5<X

αp = min{1, σ( min
Δslj>0

slj

|Δslj| , min
Δsuj>0

suj

|Δsuj
|)} L;�=:M

αd = min{1, σ( min
Δπlj>0

πlj

|Δπlj| , min
Δπuj>0

πuj

|Δπuj
|)} L;�=;M

���� 0 < σ < 1� N ����0!�
# ��
��
# �
�
�
����� � 
����� ��
 αp = αd�
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5� /�������� 	
� ����������%(� ���
������ L�	�!�� �� �0!�
M ���� ��
���	����� ����
�
�� �� ���
�$�%(�� 8� ����0!�
# ����+	� � ��
	%(� ���.
��� ����
�
���

min f(x) = 3x1 − x2

s. a 2x1 + x2 ≥ 2
x1 + 3x2 ≥ 3
x2 ≤ 4
x1 ≥ 0
x2 ≥ 0

min f(x) = x2
1 + x2

2 + 2x2

s. a x2
1 + x2

2 − 4x1 = 0
2x1 + x2 − 2 ≥ 0
x1 ≥ 0
x2 ≥ 0

7� ������ �� �����%&�� �� ]��	��.]	��.2	�P��# �������� �L�M !�
��L��M
�� β ���� �� +	��� � ����� x∗ = [1 2]T ���, � ��
	%(� �� ����
�
�
����'�

max f(x) = 2x1 + βx2

s. a x2
1 + x2

2 − 5 ≤ 0
x1 − x2 − 2 ≤ 0

9� � ������
� �� *�	�� ����'� ���������� � �+	�!�
���� �� ���� �����
��
�����
������ ���� � ������
���� ) ����� �� �����
� 7 ���� ��� ���
�$���
��� ����%(� ��-���� � �
�����%(� �� ������� �� �����
� 5� 8	����� �
!�
�� ��� ������ �� �����
���(� ���� ��
� "-�
	
� ����'� LPLM# ����.
��E

L�M ���
	
�� � ����
�
� �� �������� ����S
��� L�	��� 
0��
� ��
����%(�M �� "��
��� ����(� �� 	
 ����
�
� �� ������
�%(�
B(�.1�����U

L�M ����
!�� � ����
�
� "��
	
��� �
 L�M ����!�� �� ������
���
����
��� �����%&�� ������,���� �� ���
�
����� � ��
	%(� �� ��������!�
�����
� �� �+	�%&������+	�%&��� ��������� � ���� ��
 � ��

������%&�� �� �����	�
���� L
�
����MU

L�M 6������� �� ���
 L�M# ����
 	����� � 
����� �� ?��������U
L�M 6������� �� ���
 L�M# ����
 	����� � 
����� �� B�C����

C1(P1) = 250 + 5, 6P1 + 0, 001P 2
1 $/h

C2(P2) = 350 + 6, 2P2 + 0, 002P 2
2 $/h

PL = 0, 0001P 2
1

PD = 300MW

0 ≤ P1, P2 ≤ 200MW





 �

��	

��	


G1

G2


 �

P1 PL

P2 PD



���	
��
 �

� ����!"� 
������� ��

���#������� �� $���"�

'�� ������	
��

����*��%&�� ����	�	���� �� ����� �
������# ���� ��
� �+	�
�� ��	����� ��
��
���!���$�%&�� � ������	�	��%(� �� �����# ����
 ��
� � ���������
����� ��
���������!�� �,����� �� ������
� � ��
�����%(� �� �����!��# ��
 
�!��� ��
�����
�� �
������� �� �������� � ������ ��-'�
�� ) �	� ���������� 
,'�
�
�� �����
���(�� �
 ����������� ����� ��,���� �������!�# � ������
����� ��
����(� �����	.�� ������� �
��������# ���(� ������!�# �� �����
���%(� ���

�
���� 
,'�
�� �� �����"������� �� �������� ����� ����&��# �	�������# �


	���� �����# �+	�
�� �
������ ��
� ������
����� ���	
�� W7<# 5=X�

/ ������
����� �� ����(� ���, ��������� ) ���������� �� �����
� �� �����.
��� �
 
����� 	
 ���*
 �� ����&�� ���+	���# ����� �
 �����%&�� ���
���
�� �����%(� +	���� �� ���� �� ���������� �� ����	���%&�� ��!����� ���� ����
�����%(� �(� �� � �����"����# �������, � "��S
��� �� �����%�
����
 �
 �
��"�#
���������$��� ��� 	
� ���	%(� ���������!� � ��������
,!�
 �� 
�����	�� ��
����(� �
 	
� �	 
��� ������ �� �����
�# �������# ���� �(� �� �
 ��
����

������ �������!��# ��������.�� � ����&�� !�$�����# ���	
����� �
 	
 ��
����
������
 �	 ����
 �� �����
��

/ �������
����� �� ����(� ���, "����
���� ��������� ) ��*������� �� �	.
����� �� �����!�� � 
�
���%&�� �� ���������� �� �����
���(� �� �����
�� ����
��*������� �� 
���"����# ��� �'�
�
�# �
 	
� ���	�%(� �� +	�
 �� ����������
������� �� �����
���(� ��������
.�� �������� ��-'�
�� ��� ��	� 
�
���� ��

,'�
� �����"������� � �� �����!�� �� ����%(� �� �������� �����!� ��� �������
�� ����� ���(� �������
���� ����������

� "��S
��� �� �������
����� �� ����(� ���� ��� �������� �� �	�� 
�������E

• #����
� +
��&�%��9
� �� �����
� ���!������# ��� �'�
�
�# ��� �	���.
����	����# ���
���
����� �� 
����� �� �����
���(�# ���� B���� ����#
� �������
����� �� ����(� ���� �� 
���"����� �
������
���� L��	���

@;



@< ������� �� 	���� 
���
����

���	����M ��-� � ����	���%(�# �� "��
� ��
�
�� �� ����
�
� �� ���.
����
����� ���	
�� L�������
����� �� ����(� �������-���M# �	 ���������
�
�	
 ��
�� L!,���� 
��	���M ��-� � ����	���%(�# ����!�� �� �����.
��%(� 
���� �� ���*
 �� ����&�� L�������
����� �� ����(� �� 
���� �

���� ���$��M�

• )
8&
��� +
��&�%��9
� ��	����� ��
� !����%(� ���
�
 �� ������ ����
���� �� "��S
��� � ���
�

���� ������� ����!�� �� 	
� ��,
��� ��.
�,���� �	 �
 ����
� ���
�������

/ �������
����� �� ����(� �������-��� � ��T	������� "����
���� ��� ��
.
�������� �� ����� ��
 ���O
��� �,���� L
������ �� ���	%(�# ��� �'�
�
�M
� ���������!�� �,����� �� ������
� �� ����(�� B� ���� �� �������
����� ��
����(� �� 
���� � 
���� ���$��# �� ���������� �������,!��� ��
� "��S
���
�(� �� �����"��
������ ��
 ��
	��%(� �	��
,���� �� ��� ��� ����� L12�M#
�� 
�
�������� �� �����'����%(� ��� ��������� L��1M# � �	���� ���������!��
�� ������
� 
������

�� 
������ �� �!�
��%(� �� ������
����� �� ����(� ����
 ��� ��!������
�
 �	�� ����������E ���,����� � ���O
����� �� 
������ ���,����� ������
.��
�� ��,
��� �� �����
�� �� �+	�%&�� �
�������� ������� � ������ �� 
���
�
�� T	'� �� �������� �
 �	� !���(� ���!�������
 �	 
���*����� �� 
���.
��� ���O
����# �
 ����
# ������
.�� �
 ��
	%&�� �� ��
�� �� �����
�� ��
�+	�%&�� ��"��������� � �
�������� ������������� � ����
����� ���O
��� ���
��
�������� �� �����
�� �
���� � "��S
��� �� �������
����� �� ����(� �� �
��������

���� ���O
���# �� 
������ ���,����� �(� �
��������� ��
� �	� �*.
������� ��
�	�������
 � ��
�� ��"��
�%&�� +	� ����	$�
 ��
 ��
�%(� � ���.
����
������# ���	� �� �������
����� � 
������ �� ������
������ �� 
������ ��
��
	
�%(�# ��� �	� !�$# ������	$�
 �� "��
� 
��� ������� � ��
�����
����
�� �����
� � �(� � 4���� "��
� �� �� �����
���� � �����
���� ��� �!�����
+	�# �!���	�

����# ����	$�
 � 	
� ���	�%(� �� �������
������

�� 
������ ���O
���� �(� ���������,!��� �� ���	�� �� �������
����� ��
����(� �������-��� ���� ��
���� ��
 ���� ���� �� 
����� � ����0!�
 ��������.
���# �� "��
� �������# � ��
�����
���� ��� ��
�������� �� �����
� ��

�������� �,����� �� 
������ ���,����� �(� ���+	���� ���� �� ���	��� ��
�.
�������� ) �������
����� ��	���� ��� ��+	���� ����	���%&��# ��� +	��� �
�� ���!� ��������
 � � �����
���%(� ��� 
�
���� 
,'�
�� �� �����"�������
�� �������� � ��"��%�� �� �	����� �� �����!�� !������ �	
����� ����� 
�
�.
���� / �������
����� �� ����(� �� 
���� � 
���� ���$�� ��!� ��� ���	����
��� 
������ ���O
����# ��!��� ) ����������� �� ����������%(� �� �����
����
��� �!�����# ����
 �(� �'���# ����������
����# 	
� ����������%(� �������
��� �"����� �������-���� 
��� �,������ ������� �������� �
 
���
�� ��
�
�.
*����� �� ���O
��� �� �����
�# 
�!���� �
 ���������%(� ������ �� ��������
��
�!����� ) �!�
��%(� �� ������
����� �� ����(�# ��
 ���� 	��
�$���� ��

�	����� ����� ���� �� ���	�� W@X�



����
���	� @>

'�� ��������&������ �9= � �9>

�
 "��
� 	�	�
 �� �� ������	$�� �� ��������� �,����� ���������� ) �!�
��%(�
���,���� �� ������
����� �� ����(� � ����!�� �� ��,
��� ��� ��������0������ �.G
� �.K �� 	
 �����
� �����
 ��
�
�� ��
� �+	�
� 
������� �� ���	�� <�5�

����
Zt � α

Zc � φ

İ

 �
%

%%

%
Z

c
E � 0o V � θ


P + jQ

���	�� <�5E 8����
� �����
 ��
�
��

/ �������� �� ����	��� �� ���	�� <�5 � ���� ���

İ =
E � 0o

Zt � α+ Zc � φ
L<�5M

�	

İ =
E � 0o

Zt( cosα+ j senα) + Zc( cos φ+ j senφ)
L<�7M

�� ���� �� ����
 � 
�����	�� �� ��������

I =
E

[(Zt cosα+ Zc cosφ)2 + (Zt senα+ Zc senφ)2]1/2
L<�9M

��*�����#

κ =
Zc

Zt
L<�:M

!�


I =
E

Zt
√
ρ

L<�;M

����

ρ = 1 + κ2 + 2κ cos (α− φ) L<�<M

/ ����(� �� ����� � ���� ���

V = ZcI =
EZc

Zt
√
ρ

L<�>M



@= ������� �� 	���� 
���
����

�	 �����

V =
κE√
ρ

L<�=M

/� ��������� ���!� � �����!� "��������� ) ����� !�
�


P = V I cosφ e Q = V I senφ L<�@M

�� +	���# 
������� � �	�����	�%(� �� L<�;M � L<�=M# ����	$�


P =
κE2 cosφ
Ztρ

e Q =
κE2 senφ

Ztρ
L<�5DM

�� !�
���� �� ��������# ����(� �� �����# �������� ���!� � �����!� ����
#
�����# ��� ���
�
�$���� ��
� �������� �� �	���.����	��� LIcc = E/ZtM# ����(�
�� "���� LEM � �������� 
,'�
� �����"����� LPmax = E2/2ZtM# ��
� � ���	��

I

Icc
=

1√
ρ

;
V

E
=

κ√
ρ

L<�55M

P

Pmax
=

2κ cos φ
ρ

;
Q

Pmax
=

2κ sen φ
ρ

L<�57M

/��	
���� �� !�
���� tanα = 10 � cosφ = 0.95 L��������M ���� � ����	���
�� ���	�� <�5# ����
.�� �� �	�!�� 
�������� �� ���	�� <�7� /� �	�!�� ��
�������� ���!� � �����!� ����
# �����# ��� ���
�
�$���� ��
 ��
�%(� ) 
,'�.

� �������� ���!� ���������� �� ��������0�����# ���� �# P/Pmax# ���	
�����
��� �	�!�� 
�������� �� ���	�� <�9�

��� ���	��� <�7 � <�9# ����.�� �����!�� +	� �� ��������� 
,'�
�� �����.
"������ ) ����� ������
 +	���� κ = 1 LZt = ZcM� ���� !�
���� �� κ >
1 (Zc > Zt)# �� ��������� �����"������ �	
����
 ��
 � �
�!�%(� �� �����
L���	%(� �� ZcM� ��� �	��� 
���# ���� κ < 1 (Zc < Zt)# � �
�!�%(� ��
����� ����	$ 	
� ���	%(� ��� ��������� �����"������� / ���	��� ���-����
�# �
���
����# 	
� ���	�%(� ����,!�
�

�	�� �	�!�� ��������0������ 
	��� �
��������� �� ���	�� �� ������
�����
�� ����(� �(� �� ��������0������ �.G � �.K� / ��������0����� �.G ��
������ �
����(� �� ����� �� ����� LV/EM ��
 � !�
�� �� �������� ���!� ����	
��� ��
�
����� LP/PmaxM# ���� ��"������� !�
���� �� κ� ���� �	�!� ���� ��� ������ ��
���	�� <�9 ���� ����� �� !�
���� �� ����(� � �������� ���!��

���� � ����	��� ��
�
�� ���
����� ����� ��%(�# � ��������0���� �.G � ����
�� ���	�� <�:� B���� *�	�� � 
�
��� �� �����"������� �� �������� L�����
��0����M# �������������� ) ����(� �� D#< �	# �����
��� � �����%(� 
�
���
�� ������
����� �� ����(�� / ����� �	������ �� ��������0����� �.G 
�����
+	� � �	
���� �� �������� ���!� �����"����� ) ����� ��	�� 	
� ���	%(� ��
����(�� ��� �	��� 
���# �� ����� ��"����� �� �	�!� ������ � �"���� �����,���#
���������$���� 	
� ���	�%(� �� �������
������



����
���	� @@

���	�� <�7E ��������0������ �� ��������# �� ����(� � ��� ��������� �
 "	�%(�
�� ������

���	�� <�9E ��������0������ �� ��������# �� ����(� � ��� ��������� �
 "	�%(�
�� ����� L��
 ��!� ���
�
�$�%(�M�



5DD ������� �� 	���� 
���
����

���	�� <�:E ��������0����� �.G�

/ ��������0����� K.G �� ����	��� ���
����� ����� ��%(�# ������������� )
�����%(� �� ����� ���!� P/Pmax = 0, 67# � ���� �� ���	�� <�;� B���� *�	��#
� �������� �����!� Q ���������� ) �������� ������	� ) �����# �	 �� �# � �
!�
�� ������!� �� �������� �����!� ����	
��� ��
� ������ ���� �����%&�� ��
�����%(� �� ����� ) ��+	���� �� �������0����� K.G# 	
 �	
���� �� ��������
�����!� �� ����� �� ����� ����	$ ���	%(� �� ����(�� ���� ����(� �����������#
��������# � �����%&�� ����,!��� �� �����%(��

/ ���	�� <�< 
����� � ��T	����� �� "�
�� �� 	
 ��
������� L���������.
���M �� �����
� �� �����
���(� �� ��������0����� �.G� 8	����� +	� Zt ��.
�������� � �
���O���� �+	�!�
���� �� �����
� �� �����
���(� +	� �������
� ����%(� ) �����# � ���
���
���� �� 	
 ��
������� ����� �����
� ��
 �
�"���� �� �	
����� � !�
�� �� Zt� ���� "��� �������� 	
� ���	%(� �� 
�
���
�� �����"������� �� �������� ��
� 
������� ��
� �	�!� �.G ���� � ���	�%(�
�-�.�������������

�� 
���
� ��� ������ ��
 	
� ��T	����� �
�������� �� �!�
��%(� ��
������
����� �� ����(�� ���� �
	����� ���� ��T	�����# �	����� +	� �� �'�
�
�
����� ��%(� � ����� ���!� �� � ������������ ��� �����
�� �� ���� �
���O����
��������� � �������� ���������# �	 �� �# � ����� ���!� � ���� ���

P = P0(a+ b V 2) L<�59M

8	����� ���� ���	�%&�� ������	
���� �0����� �� ����������%(� �� ������ �

�����
�� �����E

• ����� 2��� 5E a = 0.25 � b = 0.75U

• ����� 2��� 7E a = 0.75 � b = 0.25U



����
���	� 5D5

���	�� <�;E ��������0����� K.G�

���	�� <�<E ��������0������ �.G ���� �� �����%&�� ���
�
 � �-�.��"�����



5D7 ������� �� 	���� 
���
����

���	�� <�>E ��������0������ ��� �������

• ����� 2��� 9E a = 1.00 � b = 0�

/� ��������0������ �.G ������ ���� 
���
�� �� ����� �(� 
�������� �� ���	��
<�>�

/ ������%(� ��� 
���
�� �� ����� ���
� ��������� ��
 � �����
� �� �����.

���(� � 
������� �� ���	�� <�=� B���� *�	�� ����.�� �����!�� +	� ���� �
����� �� ���� 9 L�������� ���������M# � �����
� ����� �
 �����%&�� 
�
����
+	���� �� ��������� � ����
� ���
�
 �� �����%(� L����� �M � ���������.
�� ����,!�
 ���� � �����%(� �������!� �-�.������������ L�(� �, �������%(�
����� �� ��������0������ �� ����� � �� ���*�	��%(� �-�.������������M� ���
�	��� 
���# �� � �����
� ����!�� �������� ��
 	
� ����� �� ���� 7# � 
��
�
���������.�� ���,!�
 ���� � �����%(� ���
�
 L����� �M � �����%(� 
�
��� ��
�����%(� ���� � �����%(� �-�.������������ L����� �M� ����

����# ���� 	
�
����� �� ���� 5# � �����
� ���������.�� ���,!�
 ����� ���� � �����%(� ���
�

L����� �M +	���� �� ���*�	��%(� �-�.������������ L����� �M# ������� 
���
��-'�
�# ����������# �� ����� �� ��
���� ����� 4
��
� ���*�	��%(��

/ ���	�� <�@ 
����� � ��T	����� �� "���� �� �������� �� ����� �� ��.
������0����� �.G� ����� *�	�� ����.�� ����
	�� +	� +	���� 
��� �
�!��� �
� "���� �� ��������# 
���� ���, � 
�
��� �� �������� +	� ���� ��� �����.
"����� �� ������� ) ����� � 
��� �
�!��� ���, � ����(� �������������� ��
����� ��0����� ��������# � ��
���� �� ����(� ���� ��������� ��
 
����.
�	��� �� ����(� ������������ ���
��� L> 0, 95 puM +	���� �� ������ �� �����



����
���	� 5D9

���	�� <�=E ��������0����� ��
����� �����������
� �� �����
���(��

�����������
 "������ �� �������� �
�!����# �	 ��� ����������# ��!���# ���
�'�
�
�# ) 	��
�$�%(� �� ����������� �.&�� ���� ��
�����%(� �����!��

B� ���� �� ����� ��
 
4
���
�� ��������� � ������# �� ��������0������ �.
G � K.G ����
 ��� ������� ����
!����.�� 	
� ��+V����� �� ����� �� T	'�
�� �������� ���� ���������� �0!��� �� ������ / ������ ��� ���	
����� ������
����� �� T	'� �� ��������# ����.�� ������	�� �� �	�!�� �.G � K.G ���� ��
������ �� ����� �� �����
� � �����
���� � ����'�
�%(� �� ����� �� 
,'�
�
�����"������� �� ��������� ���� ����� � �����
����� ��
� ���
���� �	�!� +	�
������� � ����� ��0���� � � ����� �������������� � ���� �	�!� � ����
�������
����� ��0�����

'�� #�*���� �� �����-������� >9= � �9=

����
	�&�� �
�������� ��
���!�� ) ������
����� �� ����(� �� 	
 �����
� ��
�������� ����
 ��� ������� � ������ �� 	
� ��,
��� �� �������
����� ���
!����%&�� ��� 
-�	
�� ��� ����&�� ��� ������ �� ����� �
 ��
�%(� )� !����%&��
��� �� �%&�� �� �������� ���!� � �����!�� ���� ��,
��� ���� ��� ��
�$��� �
������ �� 
���
� 
������$��� ��� �+	�%&�� �� T	'� �� �������� !����� ��
���0�	
� 9 L�+	�%(� 9�9@M � ������	$���� � ���	�� ��
 � ����%(� 
������
����

���*����
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���	�� <�@E ��������0������ �.G ���� ��!����� "������ �� �������� �� ������

[
ΔP
ΔQ

]
=

[
JPθ JPV

JQθ JQV

] [
Δθ
ΔV

]
L<�5:M

���� JPθ# JPV # JQθ � JQV �(� �	�
���$�� �� ����������
8	�����# ������

����# ΔP = 0# �	 �� �# +	� �'���� ��
���� !����%&�� ��

��
���� �� �������� �����!� LΔQ �= 0M# ��
��

0 = JPθΔθ + JPV ΔV L<�5;M

ΔQ = JQθΔθ + JQV ΔV L<�5<M

�� ���� ����
��

ΔQ = [JQV − JQθJ−1
PθJPV ]ΔV L<�5>M

�	

ΔQ = JRQΔV L<�5=M

JRQ = JQV − JQθJ−1
PθJPV L<�5@M

���� JRQ � �����' �
 1
���%�
����
 X,J�
/��
���
����# ����.�� �	��� ΔQ = 0# �	 �� �# +	� �'���� ��
���� !�.

���%&�� �� ��
���� �� �������� ���!� LΔP �= 0M# � �����

ΔP = [JPV − JPθJ−1
QθJQV ]ΔV L<�7DM



����
���	� 5D;

�	

ΔP = JRP ΔV L<�75M

JRP = JPV − JPθJ−1
QθJQV L<�77M

���� JRP � � �����' �
 1
���%�
����
 ),J�
/� 
����$�� JRQ � JRP ����
 ��� !����� ��
� �+	�!�
����� 
	
����
��.

������� ��� ���
���%&�� ��� �	�!�� K.G � �.G# ��������!�
����# �� �����
�� �����%(� ������������ �	��� ����������� �
�������� ������ 
����$�� �
+	� �
�� �� �����
 ����	
����# ����
 ��
� � 
����$ ��������� �� �+	�%(�
L<�5:M# +	���� � �����
� ������ � ��	 
�
��� �� 
,'�
� �������
���� L�����
��0����M�

'�� #�*���� .����

/ �����$ �� 8������
����� K.G ���� ��� ����
����� �� "��
�

JRQ = UΛW L<�79M

���� Λ = [λ1, λ2, · · · , λn] � 
����$ �������
 ��� �	��!�
���� �� JRQ# ��+	����
+	� W = [w1,w2, · · · ,wn]T � U = [u1,u2, · · · ,un] �(�# ��������!�
����# ��

����$�� ��� ��	� �	��!������ ) ��+	���� � ) ��������

��
� � ��
��� ����0!�
 ���
�
�$�� �� �	��!������ �� "��
� +	� U−1 =
W# �	�����	����� L<�79M �
 L<�5=M � ��!�������# ��
��

ΔV = UΛ−1WΔQ L<�7:M

�	

ΔV =
n∑

i=1

uiwT
i

λi
ΔQ =

n∑
i=1

Pi

λi
ΔQ L<�7;M

���� Pi � ��*���� ��
� � 
����$ ��� !����
� �
 )������+��"� ���������� ��
�� �.���
� 
��� LλiM�

�� L<�7:M# ����
.��

WΔV = Λ−1WΔQ L<�7<M

�	

v = Λ−1q L<�7>M

��


v = WΔV; q = WΔQ L<�7=M

���� v � q �(�# ��������!�
����# �� !������ �� !����%(� 
���
 �� ����(� �
�� �������� �����!��



5D< ������� �� 	���� 
���
����

���� � �.���
� 
���# ��
��

vi =
1
λi
qi L<�7@M

8� �(λi) > 0, i = 1, · · · , n# �� �.���
�� ��
�������� ��� !������ �� ����(�

���
 � �� �������� �����!� 
���
 �����(� �� 
��
� ����%(�# ��������� +	�
� �����
� � 
��	4

� �
 ���� �����,���# �� ���� �
�	
 i# �(λi) < 0# � �����
�
� ����	4

� � ����� ��0���� � ���������$��� ��� �
�	
 �(λi) = 0 ����# �����
����# +	�
+	�� !����%(� �� �� �%(� �� �������� �����!� ��	�� 	
� !����%(�
��*���� �� ����(��

/ 
����$ �� �������
����� K.G ���������# ���� �� �����
�� �� ��������
�����# 	
 �
�� ���	 �� ��
�����# "�$���� ��
 +	� �� ��	� �	��!�
���� � �	.
��!������ �� �
# �
 ����
# ������

'�� ��	0� �� ���1���� ������	���

�� 
������ ���!��������� �� ��
	%(� �� ����
�
� �� T	'� �� ��������# ����
��
� �� 
������ �� B�C���.������� � �������
��� �,���� ��������� ����.
����
����# �
 �	� "��
	
�%(� �,����# ���������
 ��*�	
����� �� ���!�����.
��� +	���� � �����
� �� �����
���(� ����'�
�.�� �� 	
 ����� �� 
,'�
�
�����"������� �� �������� L����� ��0����M� �
 
	���� ���	�%&��# ��� �'�
�
�
�� ��,
��� �� ������
����� �� ����(�# ���� �� ������ ������,��� � �����%(�
�� ��
	%&�� �� T	'� �� �������� 
	��� ��-'�
�� �� ����� ��0���� �	 
��
�
�
�
 �� ����� ��0����# �	 �� �# �� ����� ��"����� �� �	�!� �.G�

�'����
 !,���� 
������ ���� ����
!�� � ����
�
� �������� ���
�� �����
�� 
��� ���������� ��������.�� � ���
��� �
	'� �� �������� ������	���
L������&����� )�-
� !
�-M �������� �
 W5X# W<X � W5=# ��� 5D57c5D5=X� ����

����� � ����$ �� ����	$�� 	
� ��+	����� �� ��
	%&�� �� ����
�
� �� T	'�
�� �������� ���� 	
 ���� ���,��� �� !����%(� �� ������ � 
����� 	��
�$� 	

��+	�
� �� ���!��(�.�����%(� ���� ��������� 	
� ��� ��-��� �� ��
	%&�� ��
�����
� �� �+	�%&�� ��*����� � ����
�
� �� T	'� �� ��������# ��"��
	
���
���� ���
	�� 	
 ���O
���� ������������� � !����%(� �� ������ / ����� �,����
�� 
����� � �
	������ �� ���	�� <�5D�

5���� �����	��
��� �
� �-�
�.�� �� 6��+� �� ���$���


/ !����%(� �� ����� ���!� � �����!� ��� ������ �� �����
� � ������������ ��
�
!����%(� �� 	
 4���� ���O
���� λ �� "��
� ���	����E

PLk = P 0
Lk + λ [γk S cosψk] L<�9DM

QLk = Q0
Lk + λ [γk S senψk] L<�95M

����

P 0
Lk, Q

0
LkA ����� ���!� � �����!� ������
 �� ����� kU



����
���	� 5D>




�

� &� &�
&�

�
���

(������	

�

�	�����	

⊗
(	�
	 ��)
� 	

�*+�,

(*-.,

���	�� <�5DE 6
	����%(� �� ��+	�
� �� ���!��(�.�����%(� �� �
	'� �� �����.
��� ������	���

γkA "���� �� !����%(� �� ����� �� ����� kU

ψkA "���� �� !����%(� �� "���� �� �������� �� ����� kU

SA !�
�� ������,��� �� �������� �������� L�G/�M 	���� ��
� ��"������� ����
� ����
�
���� �� ���O
���� λ�

�
� !���(� ��
�
�*���� ��� �'�����&�� ���
�# �	����� 	
 ������
���� 	��.
"��
� �� ����� ��
 "���� �� �������� ���������# � ���� ���

PLk = P 0
Lk(1 + λ) L<�97M

QLk = Q0
Lk(1 + λ) L<�99M

���� ���
������ � ������
���� �� �����# � ����%(� �� �������� ���!� ��!�
��� ��
��
 � 	����� �� ������ ��
 � �'�����(�

PGk = P 0
Gk(1 + λβk) L<�9:M

����

P 0
GkA ����%(� ���!� ������
 �� ����� kU

βkA "���� �� !����%(� �� ����%(� �� ����� k�

� 8	������
� 6 �� �+	�%&�� �� T	'� �� �������� �����# ���(�# � ��� �������
�� "��
� ���	����

P 0
Gk(1+λβk)−P 0

Lk−λ [γk S cosψk]−gpk
(Θ,V) = 0, k ∈ {PV,PQ} L<�9;M



5D= ������� �� 	���� 
���
����

Q0
Gk −Q0

Lk − λ [γk S senψk]− gqk
(Θ,V) = 0, k ∈ {PV,PQ} L<�9<M

����

gpk
(Θ,V) = Vk

∑
m∈Ωk

Vm(Gkmcosθkm +Bkmsenθkm)

gqk
(Θ,V) = Vk

∑
m∈Ωk

Vm(Gkmsenθkm −Bkmcosθkm)

/� �+	�%&�� L<�9;M � L<�9<M ����
 ��� ��
������ �� "��
� ��
�����

f(x) = 0 L<�9>M

���� x = [ΘT VTλ]T � 0 ≤ λ ≤ λcritico� B� ���� �� λ = 0# ����� �+	�%&�� ��
���	$�
 )� �+	�%&�� 	�	��� �� T	'� �� ���������

5���� ��
(
 �� ��������

/ ������ �� ��
	%(� �� ���� ����# 	
� ���!��(� �� ��-'�
� ��
	%(� ����
��� ������ �����.����,�
 	
 ����� +���� �� ����%(� �� �������� ) �	�!�� �
!���� �������� � ������ ��
����.�� � ��"�������
 ����
 �� �
��� �� 
���� ��
L<�9>M

df(x) =
∂f(x)
∂(Θ)

dθ +
∂f(x)
∂(V)

dV +
∂f(x)
∂(λ)

dλ = 0 L<�9=M

�	
[
FΘ FV Fλ

] ⎡⎢⎣
dΘ
dV

dλ

⎤
⎥⎦ = 0 L<�9@M

����

Fθ =
∂f(x)
∂(Θ)

; Fv =
∂f(x)
∂(V)

; Fλ =
∂f(x)
∂(λ)

.

B��� +	� � �����%(� [FΘ FV] �
 L<�9@M � � ��������� �� 
����� �� B�C���.
��������

� �����
� �� �+	�%&�� L<�9@M ��
 	
� ���-����� � 
��� +	� � �4
���
�� �+	�%&��� ���� ����
!�� ���� �����
�# � ������,��� +	� 	
� ��� ���-������
����� ��	 !�
�� ������*���� L��� �'�
�
�# �� !�
�� ±1M� ���� !���,!�
 ������
� ��
� �� )��I�
��� �
 ������&��"�� B���� ����# ��
��

[
FΘ FV Fλ

ek

] ⎡⎢⎣ dΘ
dV
dλ

⎤
⎥⎦ =

[
0
±1

]
L<�:DM

����

ek = [ 0 · · · 0
k
1 0 · · · 0 ]



����
���	� 5D@

� ���O
���� �� ������	�%(� ��!� ��� ����
���� �� 
������ ��
 +	� �����
� 
���� ��'� �� !����%(� ��-'�
� ) ��
	%(� �
 +	���(�� �	�� ���	�%&��
��!�
 ��� �����!����E

• ��-'�
� �� ���� ���� L����� ���
�
ME !����%&�� ��
���!�
���� �������
�� ����� LλM ����	$�
 ��+	���� !����%&�� ��� ��
�������� �� Θ �
V� B���� ����# λ ��!� ��� ����
���� ��
� ���O
���� �� ������	�%(��

• ��-'�
� �� ����� ��0���� L����� ������ME ��+	���� !����%&�� �� �����
LλM ����	$�
 ������� !����%&�� �
 �
�	
�� ��
�������� �� Θ � V�
B���� ����# � ��
������� �� θ �	 v ��
 
���� ��'� �� !����%(� ��!�
��� ����
���� ��
� ���O
���� �� ������	�%(��

�
� !�$ ��
�	
��� � !���� ��������# � ���!��(� �� ��
	%(� � ��
�	
���
��� ⎡

⎢⎣ Θp+1

Vp+1

λp+1

⎤
⎥⎦ =

⎡
⎢⎣ Θp

Vp

λp

⎤
⎥⎦+ σ

⎡
⎢⎣ dΘ
dV
dλ

⎤
⎥⎦ L<�:5M

���� σ ��*�� � ����� � ��� ���� �� ����%(� �� !���� �������� � p � � ��������
�� ������ �� �������� �� ������	�%(�� / ����
�� �� σ �"��� �������� �
����
����� �� 
������ 8� σ "�� ��+	���# � �4
��� �� ������ ������,����
���� �� �
���%�� � ��
	%(� ���� ��� � 
	��� ������ �# �����+	����
����# �
��
�� �� ��
�	��%(� 
	��� �
�!���� 8� σ "�� ��
������
���� ������# �
����� �� �����%(� ���� �(� ���!������

5���# ��
(
 �� '�������

B���� ����� �� ��������# � �����
� �� �+	�%&�� ��*���� �
 L<�9>M � �	
��.
���� �� 	
� �+	�%(� +	� ��*�� � !�
�� �� !���,!�
 ����
���� ��
� ���O
����
�� ������	�%(� �� ����� �� ���!��(�� � !�
�� �����	0�� � ���� !���,!�
 � ��	�

�� !�
�� ���!���� ���� � 
��
�# �� ������ ��
 L<�:5M� � ��!� ��� 	��� ��
�+	�%&�� ��
 � ���	���� �������

[
f(Θ,V, λ)
xk − η

]
=
[

0
]

L<�:7M

���� k � � 0����� �� !���,!�
 ����
���� ��
� ���O
���� �� ������	�%(� � η
� � !�
�� ��
�	
��� ���� ���� !���,!�
 �� ����� �� ���!��(��

� �����
� �� �+	�%&�� ��*���� �
 L<�:7M ���� ��� ����
!��� ��
� 
�����
�� B�C���.������� ��
 	
� �
�
�
����%(� 
	��� ��
�
����� �� ���� ��
T	'� �� �������� ���!�������
�

�#�� 
� )�� 1
�� � ����
�� ���+

� �������� �� !�/&�� � �� ���
 � %����
� � &�� %���� ��:���� @�B�&
� 
 I�/&
� �
 ;��
 �� �
��"� ��������
�A 
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 �

1.0 � 0o V � θ

PL + j QL
jx

���	�� <�55E 8����
� ���� �'�
�
� �� ������ �� ������	�%(�

� J�����"� �� ���/�C

PL = P 0
L(1 + λ)

QL = Q0
L(1 + λ)

� �8&��9
� �� >&*� �
 +��?���� ���
&���� � +��I�
��� λ

gp(θ, V, λ) = −P 0
L(1 + λ)− V B21senθ = 0

gq(θ, V, λ) = −Q0
L(1 + λ)− V 2B22 + V B21cosθ = 0

�&

f(x) = 0

���
 x = [θ V λ]T  

= J
��� ���/
��

�
 @� =SA� �%�
��� +��� 
��
 ���� +�����&
��

[
∂fp

∂θ
∂fp

∂V
∂fp

∂λ
∂fq

∂θ
∂fq

∂V
∂fq

∂λ

]
θp,V p,λp

⎡
⎢⎣ dθp

dV p

dλp

⎤
⎥⎦ = 0

� ����
�� �
 
8&��9
� ����� �
� � 
8&��9
� 
 = ���B/����� Y��
�
��
��� 
8&��"� +��
 �
� ���
��
����� �� ����
�� ;�'
���,�
 dλ = ±1 
� ����
 �� 
*+�
��"� ���
���� �
+
��
 �� ;��� �
 λ 
���� ��
��
��� LZM
�& �
��
��
��� L−M ������ �
���C

⎡
⎢⎣

∂fp

∂θ
∂fp

∂V
∂fp

∂λ
∂fq

∂θ
∂fq

∂V
∂fq

∂λ
0 0 1

⎤
⎥⎦

θp,V p,λp

⎡
⎢⎣ dθp

dV p

dλp

⎤
⎥⎦ =

⎡
⎢⎣ 0

0
±1

⎤
⎥⎦

X&���� 
���4
���� +�B*���� �� +���� ��(����� �
4
��� 
���
.
� �&���
+��I�
��� �
 ������&��"� )�� 
*
�+
�� V = ±1 5
��
 ����� �
�
,
���C ⎡

⎢⎣
∂fp

∂θ
∂fp

∂V
∂fp

∂λ
∂fq

∂θ
∂fq

∂V
∂fq

∂λ
0 1 0

⎤
⎥⎦

θp,V p,λp

⎡
⎢⎣ dθp

dV p

dλp

⎤
⎥⎦ =

⎡
⎢⎣ 0
±1

0

⎤
⎥⎦
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��%�� �� ����� ����� +��
� �
� 
�������� �
 ;���� ���+����� ����[
J ′(xp)

ek

]
[dxp] =

[
±eT

k

]

���

ek =

[
0 0 1

]
ou ek =

[
0 1 0

]



J ′(xp) =
[
J(xp) Jλ(λp)

]
���


J(xp) =

[
∂fp

∂θ
∂fp

∂V
∂fq

∂θ
∂fq

∂V

]
θp,V p

; Jλ(λp) =

[
∂fp

∂λ
∂fq

∂λ

]
λp

.

5
��
 
*
�+
�� �� �����'
� J(xp) 
 Jλ(λp) �"� ����� +��

J(xp) =

[
−V pB21cosθ

p −B21senθ
p

−V pB21senθ
p −2V pB22 +B21cosθ

p

]

Jλ(λp) =

[
−PL0

−QL0

]

H ���+� �
 )�
4��"�
� +�
4��"� �� ��
&�"� �� +���� p+ 1 � ���� +��⎡

⎢⎣ θp+1

V p+1

λp+1

⎤
⎥⎦ =

⎡
⎢⎣ θp

V p

λp

⎤
⎥⎦+ σ

⎡
⎢⎣ dθp

dV p

dλp

⎤
⎥⎦

���
 σ � � 
���
�� 8&
 �
�
����� � +���� � �
� ���� �� ���
�"� 
���,

.��� 

� ���+� �
 ����
�"�
� 
��+� �
 ����
�"� �������
 
� �
��
4
�� +

� ������ �
 5
-���,
��+.���� � ����
�� �
 
8&��9
� @� H�A �� ���� ��
���"� �� +���
���
�
 ��
&�"�� � ����
�� 
��
�� � �
� �
��
4��� �

[
J ′(x)

0 0 1

] ⎡⎢⎣ θ̄
V̄
λ̄

⎤
⎥⎦ =

⎡
⎢⎣ fp(θ, V, λ)
fq(θ, V, λ)
−(λ̄− λ)

⎤
⎥⎦

�� ���� 
� 8&
 � +��I�
��� �
 ������&��"� 
���
.��� � λ� �&

[
J ′(x)

0 1 0

]⎡⎢⎣ θ̄
V̄
λ̄

⎤
⎥⎦ =

⎡
⎢⎣ fp(θ, V, λ)
fq(θ, V, λ)
−(V̄ − V )

⎤
⎥⎦

�� ���� 
� 8&
 � +��I�
��� �
 ������&��"� 
���
.��� � V  
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���� �����
��

#�� ������	
��

�
 ��� ����
�
�� �	
������ 
��� ����������� �� ��,
��� �� �����
�� 
	
.
��!���,!��� � � ��
	%(� �� ��� 	��� �� �+	�%&�� ��*���� ���

Ax = b L/�5M

����E
AE 
����$ ���
 �	 ��
�
�'� (n× n)
bE !���� ��������� ���
 �	 ��
�
�'� (n × 1)
xE !���� ������������ �	 ����	���� (n× 1)

��
 �'��%(� �� ����
�
�� ��
 ��
���&�� �������� ���	$����# � !�
.
	
� �� �,
�	
� ������,��� ���� ����
!�� � ����
�
� ���
� � 
	��� �
�!���
���� ��� ���
�$��� ��
 � � 	�� �� ��
�	�������� ����
�
�� ��
 
�
�����#
� ��� 
�
�&��# �� �+	�%&�� �(� ��
	�� �� ��,����� ��������# � �*�������
��
�	�������
# �
 ���
�� �� �4
��� �� �����%&�� ����
������ � 
�
-���
������,����# � "���� ������!� �� ����
�� �� 
����� �� ��
	%(��

� ����
�
� ���
� ���, ��
	%(� ��
��� +	� A "�� �(�.����	
��# ���� � A−1

�'������ B���� ����# �� ��
� 
���� 	
� ��� ��
�������� �� b "�� ��"������
�� $��� � ��
	%(� ���, 4���� � ���� ���

x = A−1b L/�7M

�
 ������ ���	�%&��# 
	��� �
���� A �� � �(�.����	
��# � �����%(� ��
��
	%(� �� �����
� � ��"0��
 ��!��� � ����
�
�� �� ������(�� B���� ����#
� �����
� �� �+	�%&�� L�	 
����$ �� ���*�������M � ���� 
�
.�������������
���� "���# ��
 ��
� �	���� ��"������ ���
�# � �
	������ �� *�	�� /�5�
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�x1 x1 x1

x2 x2 x2

L�M L�M L�M

���	�� /�5E �'�
�
�� �� �����
�� �� �+	�%&�� L�M ��
 ������������# L�M
��
 ��
	%(� � L�M 
�
 ������������

#�� ./����� �� ���	
��

�� 
������ �	
������ �� ��
	%(� �� �����
�� �� �+	�%&�� �
�������� ����

��� �
����*����� �
 ���� ��	���E

5� 6�!���(� �'�
0����E �����%(� �� ��!���� �� 
����$ �� ���*������� A �

	
���
���%(� ��
� !���� b�

7� ������� 6�������� �	 6������!��E � ��
	%(� � ������ ����!�� �� ����'�.

�%&�� �	�����!�� � ������ �� 	
� �����%(� ������
 ������,����

9� ������� �������E � �����
� �������
 � �����"��
��� �
 	
 �����
�
�+	�!�
���� �� ��
	%(� �
������ ����!�� �� �����%&�� �
�
������� ��

���� � ��
	�� �� 
����$ �� ���*������� � !���� �� ���
�� �������.
�������

/ �����%(� �� ��!���� �'�
0���� �� 	
� 
����$ � 	
 �������� �	
�����
�����
����# ��!�
!���� 	
 �4
��� �
�!��� �� �����%&�� ����
������ (� N3

���� 	
� 
����$ ����� N×N)� �
 �����
�� �� ������� ��
���&�� � ����0!�

� �����%(� �� ���	
����� ����

���� ������� ��!��� �� ���� �� ���������.

����� �
� ���!������
 ��������
 ����� 
�����# �
�������� ��� ����
�
��
�� 	
� 
����$ ������� ���� ���	
��� �
 	
� 
����$ ������

�� 
������ �������!�� �(� "���

���� �
�
�
���,!���# ���������
 ��+	�.
����� �� 
�
-��� �������� 
�������# �(� �������
���� ������0!��� ) �����.
��%(� �� ����� �� ���������
���� L�� ���,���� �������!�� �(� �������������M
�# �
 ����
# ����	$�
 � ��
	%(� �
 	
 �4
��� �� �����%&�� 
���� +	� �
��!���(� �'�
0���� (� N2 ���� 	
� 
����$ ����� N ×N)� ����������# ����.
�����
 ������ ���!������
 �� ���� �� ��
	%&�� ��������� L
��
� 
����$ ��
���*������� � ��"������� !������ �� ���
�� �������������M ���� �'���
 	
�
������%(� ����
 �� �������� �������!� �
 ���� �����

�� 
������ �������# 
	��� �
���� �� �
�
�
����%(� 
��� ��"0��
 +	�
�� 
������ ���������# ���������
 � ������ !������
 �� ����	$���
# �����
+	� �
�
�����
����# � ��!���� �� 
����$ �� ���*�������� B� ���� �� 
����$��
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��������# ����� +	� ����

���� ������
����# ����� 
������ ����
 �� ������
�(� �*������� +	���� �� 
������ �������!�� �� ��
	%(� �� �����
�� ���
���� �
�����
����# 
	��� 
��� �*������� ��� ��
	%&�� ��������� �	 +	���� ��
��

�� ���� � � ��
	%(� �� �����
�� ��
� Atx = b# (At)−1x = b# ����

#�� ./����� 6������

������� ����
��� ����� �� ���	���� �������� ����� ��%(� ����
 ��� �����.
������ ��� ��"�������� W57# 5;X�

4�#�� ���	��
��� �� /
���

� 
����� �
�
���%(� �� ?�	�� L�?M ���, �
	������ ����!�� �� ���	���� ���.
��
� �� �+	�%&�� ��������E

a11x1 + a12x2 + · · · + a1nxn = b1
a21x1 + a22x2 + · · · + a2nxn = b2
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
an1x1 + an2x2 + · · · + annxn = bn

L/�9M

/��	
���� +	� aii �= 0# ����.�� �����"��
�� � �����
� �� �+	�%&�� ��
�
� ���	��E

a11x1 + a12x2 + · · ·+ a1nxn = b1

a
(1)
22 x2 + · · ·+ a

(1)
2n xn = b

(1)
2

� � � � � � � � � � � � � � � � � � � � � � � � � �

a
(1)
n2 x2 + · · ·+ a

(1)
nnxn = b

(1)
n

L/�:M

����

a
(1)
ij = aij − a1j

ai1

a11
L/�;M

b
(1)
i = bi − b1 ai1

a11
L/�<M

/�
������.�� � 
��
� �������
���� )� n− 1 �+	�%&�� ���������# ����
.
�� � ���	���� �����
� ������	
���$����E

a11x1 + a12x2 + · · ·+ a1nxn = b1

a
(1)
22 x2 + · · ·+ a

(1)
2n xn = b

(1)
2

� � � � � � � � � � � � � � � � � �

a
(n−1)
nn xn = b

(n−1)
n

L/�>M

�
 ����������� (n) �	���� ,�� � ���
����#� ���*���	�� $�� ��� ����� � n �
���'(�� 	�

������� �� &=�
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���� k = 1, . . . , n − 1
���� i = k + 1, . . . , n

lik = aik
akk

���� j = k + 1, . . . , n
aij = aij − likakj

��
\����
bi = bi − likbk

��
\����
��
\����

���	�� /�7E /
�����
� �? L���� �� �
�
���%(�M

����� k = n, n− 1 . . . , 1
xk = bk
���� i = k + 1, . . . , n

xk = xk − akixi

��
\����
xk = xk/akk

��
\����

���	�� /�9E /
�����
� �? L���� �� 8	�����	�%(�M

� �����
� �� �+	�%&�� ������	
���$��� ���� ��� L/�>M ���� ��� "���

����
����
!��� ����!�� �� 	
 �������� �� �	�����	�%(� ��!���� �	 �����.�	����	��%(�
L%��<-��� �&%����&�����ME

xn =
b
(n−1)
n

a
(n−1)
nn

xn−1 =
b
(n−2)
n − a(n−2)

n−1,nxn

a
(n−2)
n−1,n−1

L/�=M

���

x1 =
b1 − a12x12 − . . .− a1nxn

a11

� 
����� �?# �
 �	�� �	�� "���� L�
�
���%(� � �	�����	�%(�M# ��������.
�� ���	
��� ��� �
�����
�� ��� ���	��� /�7 � /�9�

��� ����	�� ���� ����� ������� �. 
��� k = n. � #����#�� i �
����	�� � � #����'��
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8&��9
� �%��*� +

� ������
�#C ⎡

⎢⎣ 4 −9 2
2 −4 4
−1 2 2

⎤
⎥⎦
⎡
⎢⎣ x1

x2

x3

⎤
⎥⎦ =

⎡
⎢⎣ 2

3
1

⎤
⎥⎦

�+B� � ;��
 �
 

������"�� � ����
�� �+�
�
��� � ��+
��� �
/&���
C⎡
⎢⎣ 4 −9 2

0 0.5 3
0 0 4

⎤
⎥⎦
⎡
⎢⎣ x1

x2

x3

⎤
⎥⎦ =

⎡
⎢⎣ 2

2
2.5

⎤
⎥⎦

� ��
&�"� ��� ����
��� �%���� �� ;��
 �
 �
����&%����&��"�� +���&' �� 4�
��
�
x1 = 0.75� x2 = 0.25 
 x3 = 0.625 

� ����
�� �����/&
���'��� ����� +��
 �
� 
*+�
��� �
 ;���� ���+����
���� Ux = b′ �� �+
���9
� �
�
�'���� �� ;��
 �
 

������"� +��
� �
�
����
��'���� �� �����' �����/&
�� ��;
����

L =

⎡
⎢⎣ 1 0 0

0.5 1 0
−0.25 −0.5 1

⎤
⎥⎦

�%�
4
 8&
 � +���&�� LU �
+���&' � �����' �
 ��
:��
��
� �� ����
�� ���,
/���
 ���
 �
�&
���� � 4	
��� +��� 8&�
8&
� �����' �"� ���/&
�� 
 �
�4��	 �

%��
 +��� � �
�
�4�
4��
��� �
 ��+������
 ������ �
 ��
&�"� �
 ����
���
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8&��9
� 
��
��
� � �
� �+�
�
����� �� +�B*��� �
�"� �
���� ����� 

4�#�� 6
���
��� =>

K	�
+	�� 
����$ �(�.����	
�� A ���� ��� ����
����� �� ����	�� �� �	��

����$�� ��
� � ���	��

A = LU L/�@M

����

U E 
����$ ������	
�� �	������U

LE 
����$ ������	
�� ��"����� ��
 �������
 	���,����

���� ����
����%(� � 4���� �# ��
� 
������� �� �'�
�
� /�5# �� 
����$��
"������ ����
 ��� ������� ��
� �������� �� �?�

� �����
� �� �+	�%&�� �����,# ���(�# ��� ����
!��� �
 �	�� ������E

Ly = b L/�5DM

Ux = y L/�55M

�	��� n + 1 � n� &#���	�� �	�� ���� ���� 	�� ��#� ��� �"�������� &��� $��� + 
��#���� 	�
 ������ ��� ��	�����	� �� 
������	��� ���������� 	� � 
�� �	��'�� ������ ������� ���
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/ ��
	%(� ��� �����
�� �� �+	�%&�� ���
�# ��!��� ) �	� ����	�	�� ������	
��#
���� ��� ������ �� "��
� ��
�
�� ��� ��������� �� �	�����	�%(� ������ �
��!���� L;��-��� ��� %�<-��� �&%����&����M�

� �,
�	
� ��� �
�
����� �� L � U # � ������ �� �������� �� �?# ����
��� 
�
��� ��������� �� �����������
�� ���� ����� ����� �������� ����!�� ��

����$��� 8� � � �����
� �� �+	�%&�� ���� �
 L/�9M� / �����%(� �� �����
�
�+	�!�
���� L/�:M ���� �� ������������ ��
� ���	����� �����"��
�%&��E

L1Ax = L1b L/�57M

����

L1 =

⎡
⎢⎢⎢⎢⎣

1
−l21 1

���
� � �

−ln1 1

⎤
⎥⎥⎥⎥⎦ ; li1 =

ai1

a11
, i = 2, ..., n L/�59M

�� ������ ���	����� �� �������� �� �
�
���%(� ����
# ��
��
# ��� �����.
�������� ��� 
����$�� L2, ..., Ln−1# ��
 ����	�	�� ��
�
�� ) �� L1# �	 �� �#

Ux = L̂Ax = L̂b L/�5:M

����

L̂ = Ln−1Ln−2...L2L1

Li =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1
� � �

1
−li+1,i

���
� � �

−ln,i 1

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
, i = 1, ..., n − 1 L/�5;M

li1 =
ai1

a11
, i = 2, ..., n

�� L/�5:M# ����
�� ����
	�� +	�E

U = L̂A L/�5<M

�	
���
������ �
��� �� 
�
���� �� L/�5<M �	�����!�
���� ��� L−1
n−1# L

−1
n−2#

...# L−1
2 # L−1

1 # ����
�� L/�@M

L = L−1
1 L−1

2 ... L−1
n−2L

−1
n−1 L/�5>M

/ �����%(� ��� �
�
����� �� L � U ���� ��� ���
�$��� ��
� �
�����
� ��
���	�� /�: ���� �� �
�
����� �� U �(� ��
�$������ �� ���O��	
� �	������
�� A� �����!� +	� ���� �
�����
� � � 
��
� �
�����
� 	���� ���� � �? �

���� �� �����%(� ���
�$��� �� !���� b� / ��
	%(� ��� �����
� �� �+	�%&��#
���	���� �� ���� ������ ������������� ��� L/�5DM � L/�55M# � ���
�$��� ��
�
�
�����
� �� ���	�� /�;�
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���� k = 1, . . . , n− 1
���� i = k + 1, . . . , n

lik = aik
akk

���� j = k + 1, . . . , n
aij = aij − likakj
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���	�� /�:E /
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���� k = 1, . . . , n
yk = bk
���� i = 1, . . . , k − 1

yk = yk − lkiyi

Fimpara
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\����
���� k = n, n− 1, . . . , 1

xk = yk

���� i = k + 1, . . . , n
xk = xk − akixi
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����
xk = xk/akk
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�
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��.�� +	� � ����
 ��"����� ���
� ��
� ���	��
 � "	�%(� �� 
������ ��
�
�� �+	�%&�� � !���,!��� �(� ���������# ���� �# �
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� !������

��������
 ����� ����
�� � +	� � ��
����� �
 ����	�	�� � ������!����

�
� !�$ ����
����� �� �
�
����� �� �������
 ��������
 ��
� ��!S�# �����
������
���� +	�
 � 
�
��� ����
 �� ��������
���� ������ �
�
������ K	����
�� 	��
�$� � 
����� ����
 �� ��,
��� �� �����# ���� �+	�!�
� �� ��,���� �
	
� ���	
���%(� ��� �-� �� ����� ���� ����
�� ��!� ��� "���� !������ �

���
�$�%(� �� ��"��%� ��
�	�������
 L��
�� �� ��������
���� � 
�
-���M
������,���� ) ��
	%(� �� �����
� �� �+	�%&���

4���� ;����
��� (
�
 �������
� 
 ��(
����
��

B� ���� �� 
����$�� �� ���*������� ��������# � ��
�� �� ��������
���� �

�
-��� ������,���� ���� � ��
	%(� �� �����
� �� �+	�%&�� ����
 ��� ��.
�	$���� ��������
���� �� "���
 ��
�$������ � �������� ��
���� �� �
�
��.
��� �(� �	
�� �� 
����$ �������
 � ��� 
����$�� "������ 	����� ��� 
������
�������� K	���� 
���� "�� � ����������
 �� �
�
����� �(� �	
�� ������

����$��# 
���� ���, � ��"��%� ��
�	�������
 ������,��� ���� � ��
	%(� ��
����
�
��
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/ �

�

�

�

�

���	�� /�<E ���� �'�
�
�

� �4
��� �� �
�
����� �(� �	
�� ��� 
����$�� "������ ������� "����.

���� �� ��!����
���� �� �����
� �������
� �
� ������%(� ���+	��� �����,
����� 
����$�� "������ ��
 	
� ����������
 �� �
�
����� �(� �	
�� ��-.
'�
� ) �� 
����$ �������
� � ��!���� �����, ����	$�� � 
����$�� "������
�������
���� ������� ���� �'�
�
�*��� � �"���� �� ����
 �� ��!����
����
�� ����������� ��� 
����$�� "������# ��������� � �'�
�
� �� *�	�� /�<

B� *�	�� /�> �(� 
�������� �� ����	�	��� ��� 
����$�� ��
��O���� ��
������ � �	�� "��
�� ������	
���� ������� ����!�� �� �������� �� �
�
���%(�
�� ?�	��� ����� ����	�	��� �����������
 ) ����
 �� �	
���%(� ��� ���.
��� (Y � Uy) � 	
� �	��� ����
 ����
���� ��
 � �� ���!� �� 
���
�$�� �
�������
���� �� �
�
����� �(� �	
�� �� 
����$ ������	
���$��� (Y

′
� U

′
y)� �

"��S
��� �� ����%(� �� �
�
����� �(� �	
�� ��� 
����$�� "������ �
 ����%&��
���� �'�����
 �
�
����� �	
�� �� 
����$ �������
 ������ � ��
� �� :

,���

4���� ��(������
��� �
 ��������
 �� &
������ (�� /�
���

/ ����	�	�� ��� 
����$�� ���� ��� ������������ ��� ���"�� ��� +	��� �� �-�
����������
 �� 
����� �	 ��
	��� � �� ��
�� ����������
 �� �
�
����� �(�.
�	
�� "��� �� �������
 ��������
� B� ���� ��� 
����$�� ��
������� �
 ����	.
�	��# �� ������	
�� ��������� �� ��,
��� �� ����� �
�������# �� ���"�� ����	�

������ 	
 ��
� 
������ ���� �-� �# �
 ����
# �(� � ������,��� ��������.��
	
� ����%(� ��� ��
�� ���� �� ���	��� �� ������%(�� B� ���� ������	
�� ���

����$�� �� ��
��O�����# � ���"� ������������!� �� ����	�	�� �� 
����$ ����.
���� ��
 � ���"� �������������� ) ���� +	� ��	 �����
 ) 
����$# �'�
	����.��
�� 
���%&�� ) ��"�������� B� *�	�� /�= L�M � 
������� � ���"� ��������������
) 
����$ �� ��
��O����� �� ���� 
������� �� *�	�� /�<�

B� �������� �� �
�
���%(� �� ?�	��# � ���� �����%(� �� ��!����
����
����������� � �
�
���%(� �� 	
 �- �� ���"� � � ����'(� ����� �� �� �����
�� �-� ���!��
���� ���������� �� �- �
�
������ � ���"� ����
 ������ ���.
�������� ) ����� �� 
����$ ���� ����� �(� "�� �"��	��� � ��������
�����
�� ��
�� ������	$���� �� ���"� +	���� �� �
�
���%(� �� �-� �����������

��� �
�
����� �(� �	
�� ������� �� ��������
���� ��� �
�
����� �� 
����$
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Y =

1 2 3 4 5 6
1 × × × × ×
2 × × × ×
3 × × ×
4 × × ×
5 × × ×
6 × ×

Uy =

1 2 3 4 5 6
1 × × × × ×
2 × • × × •
3 × • × •
4 × • •
5 × •
6 ×

Ȳ =

6 3 4 5 2 1
6 × ×
3 × × ×
4 × × ×
5 × × ×
2 × × × ×
1 × × × × ×

Ūy =

6 3 4 5 2 1
6 × ×
3 × × ×
4 × × ×
5 × × •
2 × ×
1 ×

× E ����%(� ��� �
�
����� �(� �	
�� �
 Y � Uy

• E �
�
����� �(�.�	
�� ������	$���� �� ������	
���$�%(� �� Y

���	�� /�>E �'�
�
� �� �"���� �� ������%(� �� :

 ��

'
'
' '

''�
���
�
�
�:

5

9
<

7

; '
'
' '

'
�
�
�
�:

5

9

7

;

'

' '

''
:

9
<

7

;���

���
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' '
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�
�
�
�:
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7

;

'
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'

:
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�
�
�
�
�
�

L�ML�ML�M

���	�� /�=E
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���������������
B� *�	�� /�= L�M � L�M �(� 
�������� �� ���� ���
����� ������ �� ��������

�� �
�
���%(� �� ?�	�� ��
����� �� ���"� �� 
����$ �� �'�
�
� �� *�	�� /�>
	��
�$���� �� �	�� ������ �� �
�
���%(� 	����� �� ��%(� ��������� �� �
�.

����� �(� �	
�� ������� �
 ���� ����� �� �������� �(� ������������� ���

����� ����� �����

4���# ��-��	
� �� ;����
���

B�� �'�
�
�� !����� ��� ��%&�� ����������# �����!�.�� +	� � ����%(� �� �
�.

����� �(� �	
�� �� �������� �� �
�
���%(� �� ?�	��# � ��	� ����!����# �
����� 
���� +	���� "�� � �4
��� �� �
�
����� �(� �	
�� �� 
�������
	��
����������# �	 ���� �� 	��
�$� � ����������%(� ��� ���"��# � �4
��� �� ��
��
���������� �� �- � ��� �
�
������ /���
# �� �'�
�
� �� *�	�� /�=# �� ��
�
�
���� � �- 5 �� ���
���� ����� �� ��������# �(� ������� ����� ��!�� ��
��
L�	 �
�
����� �(� �	
�� �� 
����$M# ��������������� ) 
���%(� ����� �� ���
+	���� �-� ���������� �������

���� �� �- �
�
������ ���������
����# �� �
�- < "�� � ����
���� ���� � ���
���� ����� �� ��������# ����	
 �
�
���� �(�
�	
� ���, ������ ���� � ��"����� �- ����	� ��
���� 	
 ��
� � �
� ����������

��� �����!�%&�� ���
�# +	� �
���� ������� �� 	
 �'�
�
� ������	
��
����
 ��� ������
�$���� ���� +	�
+	�� ���� �� ���� �	 
����$# ����.�� ���.
�
	�� +	� 	
� ���������� ��$�,!�
 ���� ������%(� ��� ��!S� ����� ����
���
������

���� �� 
����� �� 
����$ ��
 
���� �4
��� �� �
�
����� �(� �	
���
���� ����
�� ����	$��, 
����$�� "������ 
��� �������� +	� �+	�
�� �������
��� 	
� ������%(� +	�
+	��� ����������# �(� ������� 	
� ������%(� -��
�#
���� �# 	
� ������%(� +	� ����	$��, 
����$�� ��
 � 
���� �4
��� ����0!�

�� �
�
����� �(� �	
��� 2�
 ������%(� ��
���� ���� ��� �
���%��� �� "���

���
������ ����� �� ����0!��� ������ �� �
�
���%(� � ����
���� � 
�
��� �����
�
��� 6��� �����*����� ��
	
��# ��
 �"���!�
���� ����
!��# � �������� �� �
�
.
���%(� �� ?�	�� ���� ����� �� ����0!��� ��
����%&�� �� ����
 �� �
�
���%(�
�� �����
� �� �+	�%&�� ������ B� *�	�� /�@ 	
� ,�!��� 
�������� ����� ��
��
����%&�� ����0!��� �� ���� �� 	
� 
����$ 3×3 � 
�������� B���� ,�!���
�� �4
���� ���������� ��� ��
�� �����������
 )� 
��������
	��� ������.
������ � �4
��� �� ��
����%&�� ����0!��� � ���� ��� n ! ���� 	
� 
����$
n× n�

B� ���� �� ����� ��
 ��
���&�� �����# � ����
�� �� ����
 -��
� �'���
	
 �����
�� ��
�	�������
 �'�����!�
���� �
�!��� � +	�
 �
�
��� �� !����.
���� ������� ��
 � ���	%(� 
,'�
� �� ����%(� �� �
�
����� �(� �	
��� B�
��,����# ���"���.�� �����
��� ��
 	
� ������%(� �	�.-��
� +	� ����������
	
� ��
	%(� �� ��
���
���� ����� � ��"��%� ��
�	�������
 ���� ����� �
������%(� � � ���	%(� ��� ��+	������ ��
�	��������� ���� � ��
	%(� ������.
�
���� ���� �� �����
� �� �+	�%&���

���� ��
���%(� �
 ����
�
�� �� ��,
��� �� ����� �
�������# ���� ��+	�
��
�� ������%(� �(� ����

���� ������� �� 
������	��E
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���	�� /�@E d�!��� �� �����&�� �� ����
�
� �� ������%(�

• ��0	��� �E ������%(� �
 ����
 ��������� �� �4
��� �� �
�
�����
�(� �	
�� "��� �� �������
 ��������
 �� 
����$ �������
�

• ��0	��� �E ������%(� ��
 +	�# �
 ���� ����� �� ��������# � 
���� �	
��
	�� �� 
����$ � ��� ������� � �+	�
� +	� �����
 � 
���� �4
���
�� �
�
����� �(� �	
���

• ��0	��� !E ������%(� ��
 +	�# �
 ���� ����� �� ��������# � 
����
�	 ��
	�� � ��� ������� � �+	�
� +	� ������	$��, � 
���� �4
��� ��
�
�
����� �(� �	
�� ��� 
����$�� "�������

� ��+	�
� 5 � ���
��� �� 	
� ������%(� ���,���� ���� ���
��� � 
����$
�� ���*������� �� �	� "��
� �������
� �� ��+	�
�� 7 � 9 �(� �
����*�����
��
� ��+	�
�� �� ������%(� ���O
���� ���� ���������
 � �"���� �� ����%(�
�� �
�
����� �(� �	
�� �
 ���� ����� �� ��������� �
 ��
����%(� ��
 �
�	��� �� 	
� ������%(� -��
� �
	������ �� *�	�� /�@# � ��+	�
� 5 ���
���
������ � �- ������
 �� ,�!��� ��+	���� �� ��+	�
�� 7 � 9 ���
���
 �� ���%&��
�� ,�!��� 
�������� �� *�	�� /�5D L�M � L�M# ��������!�
�����

���	��� �� ��
	
�%(� ���
�$���� ��
 ����� ����� ��
������
 +	� � ��.
+	�
� 7 � �+	�
� +	� ����	$ �� 
�
����� ���	
����� ���� �� ����� �
�������
����������� �� ��,����# +	���� �� 
�!� �
 ���������%(� � ��"��%� ����
 ��
������%(� � ��
	%(� �� �����
� �� �+	�%&���

�
 ������ ���	�%&�� ���� ��� !���� ��� ���������� ������ 
��������
	���
�� 
����$ ��� 4
��
�� ����%&�� �� 
���� �������� �� ��������
����# ���.
��� ����� �������
���� ���������� � ������%(� ���	��� � �������� �� ����%(�

0��
� �� �
�
����� �(� �	
��� /
�	
�� ������ ���	�%&�� �(�E

• K	���� ����.�� +	� 
���*��%&�� ��� �
�
����� �� 
����$ �������

!(� ������� ������ �
 �
�	
�� 
��������
	���U �� ����� 
��������
	���
"���
 ��
������ �� *��
 �� 
����# ������ �� �
�
����� ����� ����� ��

����$ "������ ��!��(� ��� 
���*������
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L�M

���	�� /�5DE d�!���� �� �����&�� ���� �� ��+	�
�� �� ������%(� 7 � 9

• B� ���� �� ��
	%&�� �	�����!�� ���� �
�	�� ��	��� �
�
����� �� !����
b �(� 
���*�����U ����� ����# �� �� 
��������
	��� ��������������� �
����� �
�
����� �(� ��
������ �� *��
 �� 
����# ���� ���
��� +	�# ��-� �
���
���� ��
	%(�# � ��������
���� �� ������� � ) �����%(� �"����� ��
��

	���%���

• B� ���� �� 
����$�� ��
 ��+	��� ����
����� ����	�	��
U �� �� 
��.
������
	��� �(� �	
������ �� 
������ +	� � ����� �(� ��
������ ��

����$ �� 
���
�$� ��� 4
��
�� ����%&��# !�������� ����
 ��� �������
�� ��
����� �'������� ��� ���� ������

#�� #���5�������� �� .����5�� 
�������

���� �� ������
�� ��
�	�������� �������� ��� 
������ �� ��
	%(� �� ���.
��
�� �� �+	�%&�� ��������� ��� ��%&�� ���������� �� �
 �*�������# � ������,���
+	� �������� ��������� �� �
 �
�������� �� �����!�
!�
���� ��� 
��
���
����� �������� ��
 � �� ���!� �� ��
�$���� � ������ ������ ��
 �� �
�
��.
��� �(� �	
�� ��� 
����$�� �� ���*������� � 
����$�� "������� / �����
��
�� 
�
-��� ���	
����� ����� 
�����
���� � ��!��� K	���� ) ���	%(� ��
��
�� �� ��������
����# ���� ���� ��� ��������� �����!����.�� +	�# �����

���# �(� �!������ � ���
�$�%(� �� �����%&�� �	 �� ���	
����� �(� ���!��
��.
�� ����������# ���� ��
� 
	
���
���%&�� �	 ���%&�� ���� 	
 ��� ����������
� �	
�� ����������# �� ������ ������� ��
 ����� �������� ��
 ��
� ������.
������� 	
� ������
�%(� ��
�
�'� � +	�
 ��+	�� ����
������ ��������� ��
�����!�
!�
���� ��� ������
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a11x1 + a12x2 + a13x3 = b1
a21x1 + a22x2 + a23x3 = b2
a31x1 + a32x2 + a33x3 = b3
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x1 = 1/a11 (− a12x2 − a13x3 + b1 )
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HGS = L+ U =
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f(xk+1) < f(xk) , k = 0, 1, 2, ... L/�9>M
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���	�� /�55E ����������%(� ���
������ �� 	
 ����
�
� �� 
���
�$�%(�

�
� 
������ �� ����� 	
� ��+	����� ��
� � ��*���� �
 L/�9=M � ����!��
�� �����������

xk+1 = xk − αk p
k , k = 0, 1, 2, ... L/�9=M

����

pkE ����%(� ���4
��
��
U

αkE ����� ���4
��
��
 �� ����%(� pk�

���� �������
���� � �
	������ �� ���	�� /�55 ���� 	
� "	�%(� �� �	��
!���,!��� � ������������ ��� �	�� �	�!�� �� �0!�
� / "��
� �� ����
��� pk

� αk �����
��� � ���� �� 
����� �� ���
�$�%(�� �
 
����� ��
�
�� � �
������ �� ?�������� L1�

+
�� �
��
��M � +	�
 � ��*���� ���

pk = −∇f(xk) L/�9@M

αk = {α | f(xk − αk p
k) = min

α
f(xk − α pk)} L/�:DM

/�
������ L/�9@M � L/�:DM �� ����
�
� ��*���� �
 L/�9;M# ��
�� W77X

pk = b−Axk L/�:5M

αk =
(pk)T (Axk − b)

(pk)TA pk
L/�:7M
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���
����

������ ��� ?���,1�� ����	2����

?�;��,-� � Y� ����&��� �
 ���
�9
� @4
���
�A pk, k = 0, 1, ..., n−1� �"�
������
����� ����&/����� 
� �

��"� � &�� �����' A @n× nA� �


(pi)TA pj = 0 , i �= j , ∀ i, j L/�:9M

/������ � 1
 A � �
�
� ��������� 
 +�����4� �
:����� 
 pi, i = 0, 1, ..., pn−1

�"� 4
���
� �"� �&
�� �����;�'
��� @� H=A 
��"�� +��� 8&�
8&
� x0� � +���
���
��
����4�

xk+1 = xk − αk p
k , k = 0, 1, 2, ..., L/�::M

���
 αk � 
���
.��� �
 ������ ��� @� H�A� ���4
�/
 +��� � ��
&�"� 
*��� �

Ax = b 
� �"� ���� 8&
 n +����� 

/ ��
������%(� �� �����
� ���
� ���� ��� ���������� �
 W77X� ����
������
� � !,
��� �� ����������
�� 	
� ����
����� ��
 ������(� ��*����# ����
�# 	
 �����
� �� ��
�	��%(� ��
 ���� �� ���������
����� B���� ���	�%(�#
� 
����� ��� ����%&�� ��� 	�����# ��*���� ��
� �����
�# � �� "��� 	


����� ������� ����������# � �
����O���� ��,���� ����� 
����� ������ ��
"��� �� 
��
� ����� ��� 	��
�$��� ��
� 	
 
����� �������!� ����# �� 
������
��� ��
���%&�� ��,�����# � 
����� ���!���� �
 	
 �4
��� �� �����%&�� 
	���

���� +	� n ����� +	� � 
����$ A �� � ��
 �������������

������ �� C�������� ����	2���

8� �� 
����� ��� ����%&�� ��� 	����� ����
���
�� ��
� ����%(� ������


p0 = −∇Q = −(Ax− b) L/�:;M

����
�� � 
����� �� ?�������� ��� 	���� L?�M� � �
�����
� ��
�
��� ��

����� �? � ���� �� ���	�� /�<�; ���� � 	���� � ����%(� (x, y) = xT y
L����	�� ����
��M�

4�5�5 &
���� �� /�
������ '��,�"
�� ��
����������
��

�
� ����
���!� �� ��'� �� ���!�������� �� 
����� ?� � ���� ��� W77X

||xk − x̂||2 ≤ 2
√
κ (σ)k ||x0 − x̂||2 L/�:<M

����

kE �4
��� �� �����%&��U

x̂E ��
	%(� �'��� �� Ax = bU

σ =
√

κ−1√
κ+1

U
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����
�� x0# "�%� p0 = r0 = b−Ax0

���� k = 0, 1, 2, . . .
αk = (rk, rk)/(pk, A pk)
xk+1 = xk − αkpk

rk+1 = rk + αkA pk

8� ||rk+1||22 ≤ ε, # ���(�# �/���
8��(�# "�%�

βk = (rk+1, rk+1)/(rk, rk)
pk+1 = rk+1 + βkpk

��
\��
��
\����

���	�� /�57E /
�����
� �� ?�������� ��� 	����

κ = cond (A) = λn/λ1U

λn e λ1E 
���� � 
���� �	��!�
�� �� A# ��������!�
�����

� !�
�� κ � ����
����� 5G�
�� �
 �����������
��� �� A� �� L/�:<M
����
	�.�� +	�

κ = 1 ⇒ σ = 0
κ →∞⇒ σ → 1

�	 �� �# +	���� 
���� "�� �4
��� �� ����������
���� �� A# 
��� ��-'�
�
�� 1 ���, � !�
�� �� σ �# ��������# 
��� 
���� ���, � ���!�������� �� 
������

3������ �� ���	
���� 
������� ���
�# ������	$.�� � ����� �� ���.�����.
�����
����# � +	�
 � �
�
�
������ ����!�� �� 	
� �����"��
�%(� �� ���.
��	����� �
 A

Â = SAST L/�:>M

��
 +	�
cond (Â) < cond (A) L/�:=M

���� �����"��
�%(� � ������ 
����	
����.�� � �����
� �� �+	�%&�� ���.
����
 ��� ������� � "��
� ���	����

Âx̂ = b̂T L/�:@M

����

Â = SAST L/�;DM

x̂ = S−1x L/�;5M

b̂ = Sb L/�;7M
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���
����

� 
����� �� ?� �������# ��
�
��
����# ��� ��
����� �� �����
� �����.
"��
��� L/�:@M ����
# �� ����� �� !���� ��
�	�������
# � 
��� �*������

����� � �����
� �������
 � 
���*��� �� ������ �� �
�����
� �� 
������

������� � ���	��

r̂0x = b̂− Âx̂0 L/�;9M

= Sb− SASTS−Tx0 L/�;:M

= S(b−Ax)0 L/�;;M

= Sr0 L/�;<M

�

p̂0x = sr0 L/�;>M

(r̂0, r0) = (Sr0)T (Sr0) = (STSr0)r0 L/�;=M

r0 = (STS)−1r̂0 = Mr̂0 L/�;@M

/ 
����$ M ��!� ��� ����
���� �� 
������ ��
 +	�

• � �����
� �� �+	�%&�� Mr̂ = r �� � �� ",��
 ��
	%(��

• M �� � 	
� ��� ����'�
�%(� �� A�

B� ���	�� /�<�< � ����������� � �
�����
� �� ?�������� ��� 	���� ���.
������������ L�?�M�

4�5�< &
���� �� /�
������ ���'��,�"
�� ���
!����
��

���� �����
�� ����
������� ��
 ���� �
������� � 
����� �� ?�������� 3�.
��� 	���� L���������������M LL�M3�.�?M W5;X� � 
����� 3�.�? � 	
�
������
�$�%(� �� �?# ���� �� �����
�� ����� ��
 � 
����$ � ��
� ��

�	� ���������� At# ������� �	�� ��+	������ �� !������ ��,
���� �� �� �?�
� ��+	�
� �������!� ������� � 
4�	� ��������
����� �	 %�,����/���
����

����� �� ����� �� !������ �� ����%&�� � ���0�	��� � 
����� �� �3�.�?# ��
�������# ���� ���������� ���!�������� �����	
�� � �'���� � �������
����� ��

����� "�
����

��
 � �� ���!� �� �!���� � ����(� �����	
�� �� ���!�������� �� 3�.�?# "��
�����!�
!��� � 
����� �� ?�������� 3�.��� 	���� ������
�$��� L��������.
�������M LL�M3�.�?82/3M W7@X ���� ��
	%(� �� �����
�� 
������� ����
����.
���� � 
����� 3�.�?82/3 � 	
� !����%(� �� 3�.�?# ���� �(� �� �����
��
��
 � ���������� �� 
����$ �� ���*������� � +	� ��������� 	
� !�
�������
�� ���!�������� �� ����'�
���
���� �	�� !�$�� � �� 3�.�?# ��
 
�
�����
��������0������ �� ���	���$ �� ���!���������

� �
�����
� �� 
����� �3�.�?82/3 ��
����� �� �����
�# ��
 ��������.
�������� � � 
������� �� ���	�� /�<�>
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����
�� x0# "�%� r0 = b−Ax0

����
!� Mr̃0 = r0

��%� p0 = r̃0

���� k = 0, 1, 2, . . .
αk = (r̃k, rk)/(pk, A pk)
xk+1 = xk − αkpk

rk+1 = rk + αkA pk

8� ||rk+1||22 ≤ ε, # ���(� �/���
8��(�E

����
!�E Mr̃k+1 = rk+1

��%�E βk = (r̃k+1, rk+1)/(r̃k, rk)
pk+1 = r̃k+1 + βkpk

��
\��
��
\����

���	�� /�59E /
�����
� ?�������� ��� 	���� ���.������������
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���
����

����
�� x0

��
�	
� r0 = b−Ax0

��%� r̃ = r0

p1 = r0

��
�	
� ρ0 = (r̃, r0)
���� k = 1, 2, . . .

����
!� Mp̃ = pk

��%� vk = Ap̃
αk = ρk−1/(r̃, vk)
s = rk−1 − αkvk

����
!� Ms̃ = s
��%� t = As̃

ωk = (t, s)/(t, t)
xk = xk−1 + akp̃+ ωks̃
rk = s− ωkt

8� ||rk||22 ≤ ε # ���(� �/��
8��(�#

��
�	
� ρk = (r̃, rk)
βk = (ρk/ρk−1)/(αk/ωk)
pk+1 = rk + βk(pk − ωkvk)

��
\��
��
\����

���	�� /�5:E /
�����
� 3�.�?82/3 ���.������������
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(�� 
�	������ %����

� ����
�
� �� ������
�%(� B(�.1����� L��B1M ���� ��� ��	������ ��
���	���� "��
� ����


min
x

f(x) L3�5M

s. a g(x) = 0 L3�7M

h(x) ≤ 0 L3�9M

����

x ∈ IRn � � !���� �� !���,!��� �� �����(�U

f : IRn → IR � � "	�%(� �� ���!�U

g : IRn → IRp �(� �� ������%&�� �� ��	�
����U �

h : IRn → IRq �(� �� ������%&�� �� �����	�
�����

/� ������%&�� �� ��	�
���� � �����	�
���� ��
�
���
 	
 �	���� 	��� X
�� IRn ����
����� ��� 	��� G�,!�
 � ��*���� ���

X = {x | g(x) = 0,h(x) ≤ 0} L3�:M

�#�� 
� 3�� � �
/&�� � �+�
�
����� &� ))5R ��� �&�� 4���	4
�� �
 �
,
���"� 
 �+
��� �
�����9
� �
 �
��/&�
���
 

min
x

f(x) = x2
1 + x2

2 + 2x2

s. a h1(x) = x2
1 + x2

2 − 1 ≤ 0
h2(x) = x1 + x2 − 0, 5 ≥ 0
h3(x) = x1 ≥ 0
h2(x) = x2 ≥ 0

���
 x = [x1 x2]T  

59@



5:D ������� �� 	���� 
���
����

����� '
��� �
������
���

����
��� �� ���2����,-� &��������&�

8� ����� �� "	�%&�� �
 L3�5M � L3�9M "���
 
�������# ����
�� 	
 ��1 � +	�

���� ��� ������� ��
�

min
x

f(x) = cTx L3�;M

s. a Ax = b L3�<M

x ≥ 0 L3�>M

���� c � � !���� �� �&���� ���������� )� !���,!��� �� �����(� � A � 	
� 
����$
�� ���*������� ������������� �� ������%&�� �� ��	�
�����

����
��� �� ���2����,-� 9	���.��
����9�

B���� ����# � "	�%(� �� ���!� � +	���,���� ��+	���� �� ������%&�� �(� 
��������
� ��K ���� ��� ��	������ ��
� � ���	��

min
x

f(x) = cTx + xTQx L3�=M

s. a Ax = b L3�@M

x ≥ 0 L3�5DM

���� Q � 	
� 
����$ ��*���� ������!��

(�� ����������
�� %�*?��

B� ���� �� 	
 ����
�
� ��
 �	�� !���,!���# � ����0!�
 ����������� � ��B1
�� "��
� ��,*��� B���� ����������%(�# � "	�%(� �� ���!� � ������������
��� �&�4�� �
 �(4

# �� +	��� �(� ��� �%&�� ��� ��������� �� �������%(� ��
�
���� ����
�
�� �� �
��� ���� ���, ���
�$��� � ����������%(� ��,*�� ��
 �
�	���"0��� ������������� � "	�%(� �� ���!��

B� ����������%(� ��,*�� ��!�.�� 
�!�� �
 ���������%(� �	�� ������������
�� ����������E

• � ��������� � ���������	
�� ) �	�!� �� �0!�
 �������� ��
� ����� ���.
��������U

• � ��������� ������ �� ����%(� �� �	*��� ��
����
��� 
���
 �� "	�%(��

�
 ������	�� �� � � $�	'�� f : IRn → IR + ��*	��� �� �

∇f(x) = [∂f(x)/∂x1 ∂f(x)/∂x2 . . . ∂f(x)/∂xn]T
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�#�� 
� 3�� 1
�� � ))5R �+�
�
����� �� �*
�+
� 6 � � �
+�
�
����"�
/�	:�� �
��
 +��%

�� � �+�
�
����� �� !�/&�� 6 � � :/&�� @�A �+�
�
���
&� �
+�
�
����"� ������
������
 �� ;&��"� �%�
��4� �� 8&�
 �%�
�4�,�
 8&

� �(���� �� ;&��"�� �"� ������
����� �� �
�����9
�� 
�������,�
 �� +����
x∗ = (0,−1)� � 8&�
 ���&�,�
 �� 
�*� 4
�����
 d 
 ����'� �� +
��� �
:����
+

�� 
�*�� x1 
 x2 5� :/&�� @%A 
��"� ��������� �� �&�4�� �
 �(4

 ��
;&��"� �%�
��4�� +��� �� 4�
��
� 0, 125� 0 
 0, 4375� �
�+
���4��
��
� 
 �
����&��� 4�	4

 X �

������� +

�� �
�����9
� Y�� ��	
��
 �� :/&�� @%A
+
����
 ����
&�� 8&
 � �(���� �� ;&��"� �%�
��4�� ������
����� �+
��� ��
+����� +
��
��
��
� �� ����&��� 4�	4

� �����
 �� +���� x∗∗ = [0, 5 0]T  

���	�� 3�5E ����������%(� ��,*�� �� 	
 ��B1 ��
 �	�� !���,!����

(�� �����
4�� �� �����������

?�;��,-� ! ��>���� ����
	�� �	 C
���
�
Y�� ;&��"� f(x)� �
:���� 
� &� �&%����&��� ;
�.��� S ⊂ IRn� ���&�
 �
&
�(���� �%��
&�� �& /
�%�
 
� &� +���� x∗ ∈ IRn �


f(x∗) ≤ f(x) ∀ x ∈ IRn.

?�;��,-� % ��>���� :�
���+� �	 &�
�
�
1
�� f(x) �
:���� 
� &�� 4�'��.���� �
 ���� δ �
 x∗ ∈ IRn ���"�� f(x)
�
� &� �(���� 
���
 
� x∗ �
 
*����� &� ε� 0 ≤ ε ≤ δ� ��
 8&
 +��� ���� x�
0 ≤ |x− x∗| ≤ ε� �
�,�
 f(x) ≥ f(x∗) 



5:7 ������� �� 	���� 
���
����

��#�� ��0= ��	 �������.��

8� � � ��B1 ��*���� ���E

min
x

f(x) L3�55M

/ ������"� �
�
��	��� W5:X ���� +	� 	
 ����� �� � ��
	%(� �� ����
�
�
���
� �

∇f(x∗) = 0 L3�57M

� � ������"� �&:��
��

∇2f(x∗) > 0 L3�59M

/ �����%(� ���
� ������ +	� � 
����$ F�������� ��!� ��� ��*���� ������!���

�#�� 
� 3�! ������
�
 � ))5R

min
x

f(x) = x2
1 + x2

2 + 2x2

�� ������"� �
�
��	��� �
 �����
����
� �%�
���

∇f(x) =

[
∂f(x)
∂x1

∂f(x)
∂x2

]
=

[
2x1

2x2 + 2

]
= 0 ⇒

{
x∗1 = 0
x∗2 = −1

)��� ���
/&��� 8&
 � +���� ����� � � ��
&�"� �� +��%

��� �
������ �
������"� �&:��
��


∇2f(x) =

⎡
⎣ ∂2f(x)

∂x2
1

∂2f(x)
∂x1∂x2

∂2f(x)
∂x2∂x1

∂2f(x)
∂x2

2

⎤
⎦ =

[
2 0
0 2

]

� �����' ����� �� �
����
��
� +�����4� �
:���� )�������� � +���� x =
[0 − 1]T � � ��
&�"� �� +��%

�� 

��#�� ��0= ��	 �������.�� �� *"�
��
��

8� � � ��B1 ��*���� ���

min
x

f(x) L3�5:M

s. a g(x) = 0 L3�5;M

�4  ����� J�����	� �� � � $�	'�� f : IRn → IR + ��*	��� �� �

H(x) = ∇2f(x) =

⎡
⎢⎣

∂2f(x)

∂x2
1

· · · ∂2f(x)
∂x1∂xn

� � � � � � � � � � � � � � � � � � � � �
∂2f(x)
∂xn∂x1

· · · ∂2f(x)

∂x2
n

⎤
⎥⎦

�- �  ����� 4 + 
�����#� ��*	��� ��� �� xTAx > 0 ∀ x 
= 0; �� �� ����� �� ����
����#������ ��� 
�����#��; ���� ����� �� ����� �	�	��� ���� �"���)��� ��� 
�����#���



����
���	� 5:9

8� � � "	�%(� L(x, λ)# ����
����� !&��"� R�/���/
��� �& R�/���/
���#
��*���� ��
�

L(x, λ) = f(x) + λTg(x) L3�5<M

= f(x) +
p∑

i=1

λi gi(x) L3�5>M

���� λ = [λ1λ2...λp]T � � ���
��� !���� ��� �&
��+
������
� �
 R�/���/
�
���� ��� ���
�������� W5:X +	� � �����%(� ������,��� ���� +	� x∗ �� � �

��
	%(� �� L3�5:M � L3�5;M � +	�

∇L(x∗, λ) = 0 L3�5=M

�	 �� �#

∂L(x∗, λ∗)
∂xi

=
∂f(x∗)
∂xi

+
p∑

j=1

λ∗j
∂gj(x∗)
xi

= 0, i = 1, ..., n L3�5@M

∂L(x∗, λ∗)
∂λi

= gi(x∗) = 0, i = 1, ..., p L3�7DM

� ��� 	��� �� �+	�%&�� ��*���� �
 L3�5@M � L3�7DM ��
 n+ p �+	�%&�� �

��	�
 �4
��� �� !���,!���� ����# ��������# ��� ����
!��� ���� ��
�	
�� ��
��
�������� �� x∗ � λ∗�

/� �����%&�� L3�5@M � L3�7DM ����
 ��� �'������� �
 "��
� ��
�����
���

∇f(x∗) +
p∑

j=1

λ∗j ∇gj(x∗) = 0 L3�75M

g(x∗) = 0 L3�77M

/ �+	�%(� 3�75 ������ +	�# �� ��
	%(�# � ��������� �� "	�%(� �� ���!� ����
��� �'������ ��
� 	
� ��
����%(� 
����� ��� ���������� ��� "	�%&�� �����.
�������� �� ������%&��� ���� ����������� � �
	������ �� �'�
�
� 3�:�

�����%&�� �	*������� �� ���
�
����� ����
# ��
��
# ��� ����!���� �����
���� 
�� �(� ���������
 ��������� ��,�����

�#�� 
� 3�% ������
�
 � ))5R

min
x

f(x) = x2
1 + x2

2 + 2x2

s. a g1(x) = x1 + x2 − 0, 5 = 0

� R�/���/
��� �
��
 ���� �

L(x, λ) = x2
1 + x2

2 + 2x2 + λ(x1 + x2 − 0, 5)



5:: ������� �� 	���� 
���
����

�� ������"� �
�
��	��� �
 �����
����
� �%�
���

∂L

∂x1
= 2x1 + λ = 0

∂L

∂x2
= 2x2 + 2 + λ = 0

∂L

∂λ
= x1 + x2 − 0, 5 = 0

�
 ���
 �
 �%�
� � ��
&�"� �� +��%

��C x∗ = [0, 75 −0, 25]T 
 λ∗ = −1, 5 
� ;&��"� �%�
��4� �
��
 ���� ���&�
 � 4�
�� f(x) = 0, 125 

�� +��+��
���
� /
��������� �� +��%

�� �
��
4��� �
��
 
*
�+
� �"�
�
&������� �� !�/&�� 6 � 5
��� :/&��� �� 4
���
� �
+�
�
������ �� /����,

��
� �� ;&��"� �%�
��4� 
 �
�����"� �
 �/&�
���
 �?� � ���
�"� ����
�� +����
�� �B�&
�� ;���� 
���
���� +��� ;���
���� � 
��
����
��� �� :/&�� 5� ����
�� ;&��"� �%�
��4�� +�� �
 ������ �
 &� +��%

�� �
 ������'��"�� � :/&��
������ � �
/���4� �� 4
��� /����
��
 5� ��
&�"� B���� @x∗A �� 4
���
� /��,
��
��
� 
��"� �
��.���� �
 ������ ��� � ������"� �
 �����
����
 
*+�
���

� 6 �� 5
��
 +����� 8&�
8&
� �
�
����
��� ����
�
���
 �� ��
&�"� ��,
%�
 � �
�����"� ��+
��� 
� �&�
��� �� ;&��"� �%�
��4� �� 8&�
8&
� �&���
+���� �� �
�� �
+�
�
������ � �
�����"� �
 �/&�
���
� ���� ��� +����� xa


 xb� � /����
��
 �� ;&��"� �%�
��4� 
 �� �
�����"� �"� 
��"� �
��.����� �
8&
 +
����
 �
�&�"� �� 4�
�� �� ;&��"� �%�
��4� +��� �
�
����
���� �� ��,
�
�"� �
+�
�
����� +

� +���
�"� �� �
�����"� �� �
�&
����
 �� ����"� ���
/����
��
� 

��#�# ��0= ��	 �������.�� �� *"�
��
�� � 3���"�
��
��

8� � � ��B1 ��*���� ���

min
x

f(x) L3�79M

s. a g(x) = 0 L3�7:M

h(x) ≤ 0 L3�7;M

���� ����
�
� ���� ��� ���	$��� �� ����
�
� �� ���
 �������� ��
� �����.
�	%(� �� 4���	4
�� �
 ;�
/� ��
� 
������� � ���	��

min
x

f(x) L3�7<M

s. a gi(x) = 0, i = 1, ..., p L3�7>M

hi(x) + v2
i = 0, i = 1, ..., q L3�7=M

B���� ����# � 1���������� � ���� ���

L(x, λ, μ,v) = f(x) +
p∑

i=1

λi gi(x) +
q∑

i=1

μi [hi(x) + v2
i ] L3�7@M



����
���	� 5:;

���	�� 3�7E 6
	����%(� ��,*�� �� �'�
�
� 3�:

���� v = [v1v2...vq]T �
/ �����%(� ������,��� �� ���
�
����� ����� ���� � ���� ���

∂L

∂xi
=

∂f(x∗)
∂xi

+
p∑

j=1

λj
∂gj(x∗)
∂xi

+

+
q∑

j=1

μj
∂hj(x∗)
∂xi

= 0, i = 1, ..., n L3�9DM

∂L

∂λi
= gi(x∗) = 0, i = 1, ..., p L3�95M

∂L

∂μi
= hi(x∗) + v2

i = 0, i = 1, ..., q L3�97M

∂L

∂vi
= 2viμi = 0, i = 1, ..., q L3�99M

B� ����� x∗# �
�	
�� ������%&�� �� �����	�
���� ���(� ���4�� Lhi(x∗) = 0M �
�	���� �"�,���4�� Lhi(x∗) ≤ 0M� B� ���� ��� ������%&�� ���!���# ��
��

vi = 0, μi > 0, i = 1, ..., l

� ���� �� �(�.���!��

vi �= 0, μi = 0, i = l + 1, ..., q
�4 ��	��'�� μi > 0 
��� �� �����'(�� ���#�� + �� �	������ � /062



5:< ������� �� 	���� 
���
����

���� l < q�
B���� ����# �� �����%&�� �� ���
�
����� ����
 ��� �������� ��
�

∂L

∂xi
=

∂f(x∗)
∂xi

+
p∑

j=1

λj
∂gj(x∗)
∂xi

+

+
l∑

j=1

μj
∂hj(x∗)
∂xi

= 0, i = 1, ..., n L3�9:M

∂L

∂λi
= gi(x∗) = 0, i = 1, ..., p L3�9;M

∂L

∂μi
= hi(x∗) = 0, μi > 0, i = 1, ..., l L3�9<M

∂L

∂μi
= hi(x∗) < 0, μi = 0, i = l + 1, ..., q L3�9>M

/� �����%&�� �
������ )� ������%&�� �� �����	�
���� ���!�� � �(�.���!�� ��.
��
 ��� ��
������� ��
� � ���	��

hi(x∗) ≤ 0, i = 1, ..., q L3�9=M

μi ≥ 0, i = 1, ..., q L3�9@M
q∑

i=1

μihi(x∗) = 0 L3�:DM

��
�������.�� �� ���	
����� 
�������� ���
� �����.�� )� ���
���� �����%&��
�� ]��	��.]	��.2	�P��# �� +	��� �(� ����� ���

∇f(x∗) +
p∑

i=1

λi∇gi(x∗) +
q∑

i=1

μi∇hi(x∗) = 0 L3�:5M

g(x∗) = 0 L3�:7M

h(x∗) ≤ 0 L3�:9M

μ ≥ 0 L3�::M

μTh(x∗) = 0 L3�:;M

�#�� 
� 3�$ ������
�
 � ))5R

min
x

f(x) = x2
1 + x2

2 + 2x2

s. a h1(x) = x1 + x2 − 0, 5 ≥ 0
h2(x) = x1 ≥ 0
h3(x) = x2 ≥ 0

� 8&�
 � ����
�� �� +��%

�� �� �*
�+
� 6 � 
*�
�� +

� �&�?���� �� �
����,
�"� �"�,
��
�� �� /
��
���� �� +��%

��� ��%
��� 8&
 �� �
�����9
� h1 
 h3

�"� ���4�� �� ��
&�"� 
�8&���� � �
�����"� h2 � �����4� )�������� +��
���



����
���	� 5:>


���%


�
� ���
���
��
 � R�/���/
��� 
 �
��4�� �� ������9
� �
�
��	���� �

�����
����
 � R�/���/
��� �
��
 ���� �

L(x, μ1, μ3) = x2
1 + x2

2 + 2x2 + μ1(−x1 − x2 + 0, 5) + μ3 (−x2)

�
 ���
 �%�
���

∂L

∂x1
= 2x1 − μ1 = 0

∂L

∂x2
= 2x2 + 2− μ1 − μ3 = 0

∂L

∂μ1
= x1 + x2 − 0, 5 = 0

∂L

∂μ3
= x2 = 0

� ��
&�"� �� +��%

�� � x = [0, 5 0]T � μ1 = 1� 
 μ3 = 2 
�� +��+��
���
� /
��������� �� +��%

�� �
��
4��� �
��
 
*
�+
� �"�

�
&������� �� !�/&�� 6 = = 5
��� :/&�� +��
��� �%�
�4�� 8&
 �
�
���,
�
���� ����
�
����� +��� �
�&'�� � ;&��"� �%�
��4� �B +��
� �
� �
�
�'����

� ���
�9
� ;������� &� I�/&
� �
��� 8&
 90o ��� −∇fx∗ �
��� :/&��
+��
��� ���%�� ����
&�� 8&
 +��� 8&
 &� +���� x∗ �
�� ��
&�"� �� +��%

��

��
 +���� �
4
� �
� ��
 8&
 −∇fx∗ 
��
��� 
���
�'��� �� ���� ;������ +��
∇h1x∗ 
 ∇h3x∗ ���� �:����"� � 
8Z�4�

��
 �

−∇fx∗ = μ1∇h1x∗ + μ3∇h3x∗

μ1, μ3 ≥ 0

(�� ./����� �� ���	
�� �� ��7 ��� ������
4��

/ ��
	%(� �� ��B1 ��
 ������%&�� ���� ��� ������ ����
!����.�� � ��� 	���
�� �+	�%&�� ��*����� ��
�� �����%&�� �� ���
�
������ �
� "��
� ��������
�� �� ����� � ��
	%(� �� ��B1 � ��
� ����%(� �� 	
� ��+V����� {xk}# �
������ �� 	
 ����� ������
 ������,��� x0# ��
 +	� ���� ��!� ����� ������
����	$� 	
� ���	%(� �� !�
�� �� "	�%(� �� ���!��

�
� ��+V����� {xk}# ��
 � ����������� ���
�# ���� ��� ������ ��# �

���� ����� xk �� ��+V�����#

• ����
���
�� 	
� ����%(� ���4
��
��
 dkU

• �����
����
�� 	
 ����� ���4
��
��
 λk � ��� ���� ����� ����%(��

6��� �+	�!�
� � ��$�� +	� � ��+V����� ���, ������ �� ������ ��


xk+1 = xk + λkdk, k = 0, 1, 2, ... L3�:<M



5:= ������� �� 	���� 
���
����

���	�� 3�9E 6
	����%(� ��,*�� �� �'�
�
� 3�;

���� �������
���� � �
	������ �� ���	�� 3�: ���� 	
� "	�%(� �� ���!� ��

�	�� !���,!����

�� �����0���� �	 
������ 	����� ���� � ����
�� �� ����%(� � �� ����� ��.
�������$�
 ��"������� 
������ �� ��
	%(� �� ��B1� �
� "��
� ���!�������
���� ����
��� � ����� � ����� 	
 !�
�� �� λk +	� 
���
�$� f(x) �� ����%(�
�������� ���� �������
���� �'��� � ��
	%(� �� 	
 ����
�
� �� 
���
�$�%(�
	�����������
�

����� &���	��
��� >����������
�

�
 ����
�
� �� 
���
�$�%(� 	�����������
 �������� �� 
���
�$�%(� �� 	
�
"	�%(� f : IRn → IR# �
 	
� ����%(� dk ∈ IRn# � ������ �� 	
 �����
xk ∈ IRn� �� "��
� ��
�����# ���� ����
�
� ���� ��	������ ��
�

min
λ

f(xk + λdk) L3�:>M

B� ���	�� 3�; � ����
�
� �� 
�����
�$�%(� 	�����������
 � �
	������ ���*.
��
�����

�#�� 
� 3�) ������
�
 � ;&��"�

f(x) = x2
1 + 4x2

2 − 4x1



����
���	� 5:@

���	�� 3�:E �'�
�
� �� 
����� �������� �� ��
	%(� �� ��B1

� �
� ������'��� � +����� �� +���� x0 �� ���
�"� d0 ���� �
:����� � �
/&��

x0 =

[
2
1

]
d0 =

[
1
−3

]

���� +���� �� 
��/� �� ���
�"� ������
���� � �
+�
�
����� +��

(x0 + λd0) =

[
2
1

]
+ λ

[
1
−3

]
=

[
2 + λ
1− 3λ

]

1&%����&���� �� ;&��"�� �
���

f(x0 + λd0) = (2 + λ)2 + 4(1− 3λ)2 − 4(2 + λ)
= 37λ2 − 24λ

� �(���� 
�������,�
 �� +���� ���


df(x0 + λd0)
dλ

= 74λ− 24 = 0

�
 ���
 �
 �%�
� λ = 0, 32 


x1 =

[
2
1

]
+ 0, 32

[
1
−3

]
=

[
2, 32
0, 04

]



5;D ������� �� 	���� 
���
����

���	�� 3�;E ����������%(� ��,*�� �� 	
 ����
�
� �� 
���
�$�%(� 	������.
�����
�

���	�� 3�<E ������ �� ���	%(� �� �����!�
�

������ �� :��	,-� �� 8����+�
�

���� 
����� �����
��� � ����%(� �� ����� �� 
0��
� �
 	
 �����!�
� [a b]
�� ��
���
���� 2ρ� � 
����� �������� �� �!�
��%(� �� "	�%(� ���� !�
����
������	��!�� �� !���,!�
 λ# ����%���� �� 	
 !�
�� ρ# � ������ �� 	
� �����%(�
������
 λ0� � �����!�
� [a b] � ���������� +	����

f(λi+1) ≥ f(λi) L3�:=M

B���� ����# ��
�� a = λi−1 � b = λi+1� � �������
���� ���
� � �
	������
�� ���	�� 3�< � � �
�����
� ���� �
�
�
����%(� ����� 
����� � ���� ��
���	�� 3�:�5�



����
���	� 5;5

��%� i = 0, λ0 = 0
��
�	
� f(λi)
��%�\��+	���� f(λi+1) < f(λi)

��
�	
� λi+1 = λi + ρ
��
�	
� f(λi+1)

��
\"�%�\��+	����
��%� a = λi−1

b = λi+1

���	�� 3�>E /
�����
� �� ������ �� ���	%(� �� 6����!�
�

���
	���������� aWD#DXW59�
#<�
X��
:��
�

���	�� 3�=E ������ �� 8�%(� d	���

������ �� ��,-� D	���

���� 
����� ���
��� �����
���� � �����!�
� ���� �� �������� � 
0��
�
�� "	�%(�# ��
 	
� ������(� ������,��� ε# ������ �� 	
 �����!�
� [a b]�
� 
����� ������.�� �� ��!��(� �� �����!�
� �
 ���� ������ ��*����� ��
��
���
���� 5G�
��� [&�
��E D#9=7D � D#<5=D� / "	�%(� � �!�
���� ��� ��!��
���� ������ Lω � νM � � ��!� �����!�
� �����
����� ��
� � ���	��E

Se f(ω) < f(ν) ⇒ Novo intervalo : [a, ν]
Se f(ω) ≥ f(ν) ⇒ Novo intervalo : [ω, b]

� 
����� �� 8�%(� d	��� � �
	������ �� ���	�� 3�= � � �
�����
� ������.
�������� � ����������� �� ���	�� 3�:�5�

8���� �
�,-� 9	���.��
�

���� 
����� � ��
��,!�
 �� ���� �� "	�%&�� �	�
�
���� ��"������,!���� 3�����.
�� �� ����'�
�%(� �� "	�%(� �� ����� λ0 ��� 	
� "	�%(� +	���,����# ������
� ������ �� �'����(� �� "	�%(� ��
� ����� �� 2�J
��# ��
� 
������� � ���	��

f(λ) � f(λ0) + f ′(λ0)(λ− λ0) +
1
2
f ′′(λ0)(λ− λ0)2 L3�:@M

� 
0��
� �� 3�:@ � ������ "�$����.��E

d f(λ)
dλ

= f ′(λ0) + f ′′(λ0)(λ− λ0) = 0 L3�;DM

�� ���� �� ����


λ∗ = λ0 − f ′(λ0)
f ′′(λ0)

L3�;5M



5;7 ������� �� 	���� 
���
����

��%� i = 0, l0 = b− a, a0 = a e b0 = b
��%�\��+	���� li ≤ ε

��
�	
� ωi = ai + 0, 3820 li
��
�	
� νi = ai + 0, 6180 li
8� f(ωi) < f(νi)

��%� ai+1 = ai, bi+1 = νi

8��(�#
��%� ai+1 = νi, bi+1 = bi

��
\��
��%� i = i+ 1, li = ai − bi

��
\"�%�\��+	����
��%� λ∗ = (ai + bi)/2

���	�� 3�@E /
�����
� �� ������ �� 8�%(� d	���

���� �(� �� � ����0!�
 ��
�	
�� �� ����!���� �� "	�%(�# ����� ����
 � ����0!�

������
���� 	
� ����'�
�%(� +	���,���� �� "	�%(� 	����� �������� �� � 	���
�� "	�%&���

����� &
���� �� /�
������

���� 
����� ������.�� �� �����������  , 
��������� �� ��������� �� �������
� ����%(� �� 
,'�
� ������
���� 
���
 �� "	�%(�� N ���������# ��
��
#
��
�� �������%&�� �� 1�

+
�� �
��
�� �
�.�� � ������ �� ��	��J� B����

�����# ������.�� � �������� �������!� � ������ �� 	
� �����%(� ������
 x0 �
����.�� 	
� ��+V����� �� ������ ��
 � ���	���� �����

xk+1 = xk − λk ∇f(xk) L3�;7M

���� λk � � ����� -��
� �� ����%(� −∇f(x)k# ������ ����
!����.�� 	
 ����.

�
� �� 
���
�$�%(� 	�����������
 ��
� 
������� ��� ��%&�� ����������� N
����0!�
 	��
�$��.�� ����������� ��	�0������ �� ����
�� �� ����� λk �� +	���
����
 ��� 
��� �*������� �� ����� �� !���� ��
�	�������
�

B� ���	�� 3�:�7 � ����������� � �
�����
� �� ������ �� ?���������

����# &
���� �� 0�1���

/ ����� �,���� �� ������ �� B�C��� � ����'�
�� � "	�%(� �� ���!� ���
	
� "	�%(� +	���,���� � ����� � 
0��
� ����� "	�%(� ���
�����
����� B�
!�$�����%� �� 	
 ����� xi# � "	�%(� f(x) ���� ��� ����'�
��� ���

f(x) � f(x0) +∇f(x0)(x− x0) +
1
2
(x− x0)T∇2f(x0)(x− x0) L3�;9M
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����
�� x0 � ε
��%� i = 0
��%�\��+	���� ‖∇f(xi)‖ > ε

��
�	
� ∇f(xi)
��%� di = −∇f(xi)
��
�	
� λi ��
 +	�

f [xi − λi di] = minλ f [xi − λ di]
��%� xi+1 = xi + λidi

��
\"�%�\��+	����

���	�� 3�5DE /
�����
� �� ������ �� ?��������

B���� ����# � 
0��
� �� f(x) � ������ ����
!����.��

∂f(x)
∂x

= ∇f(x0) +∇2f(x0)(x− x0) = 0 L3�;:M

�� ���� �� ����
 	
� ����'�
�%(� �� ��
	%(� Lx1M ���� ���

x1 = x0 + [∇2f(x0)]−1∇f(x0)] L3�;;M

/ ������ �� x1# � "	�%(� � ��!�
���� ����'�
��� � ����
 ��� ������ ��
�
�� �
�����
� � ���	��

xi+1 = xi − [∇2f(xi)]−1∇f(xi)], k = 0, 1, 2, ... L3�;<M

B� ���� �� "	�%&�� +	���,�����# ����.�� 
������ L!� � �'�
�
� 3�>M +	� �
������ �� B�C��� ���!���� �
 	
� �����%(�� ���� "	�%&�� �(�.+	���,�����#
� �
�����
� ��������� �� 
��� �����%&�� ���� ����� � ��
	%(�� � ������ ��
B�C��� ��+	����.�� �� �����0��� ����
 �� "	������
���� �� 
������ ��
��
	%(� �� ��B1# ��	������ �� ��0��� ����� ��%(�# �� ���������
��

di = −[∇2f(xi)]−1∇f(xi) L3�;>M

λi = 1 L3�;=M

� 
����� ��������� 	
� ���!�������� 
	��� �,���� +	���� �� ����'�
�
�� ��
	%(� ����# ����� ����(�# � "	�%(� � ����'�
���
���� +	���,����� �

����&�� ����� ��������� �� ��
	%(�# � 
��� ���!������� 	��
�$��

λi = min
λ

f(xi − λ di) L3�;@M
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�#�� 
� 3�5 ������
�
 � ������'��"� �� ;&��"� �%�
��4�

f(x) = x2
1 + 25x2

2

� +����� �
 &� +���� x0 = [ 2 2 ]T  � /����
��
 
 �����' 7
������ ��
�&
����

� x0 �"� ����� +��

∇f(x) =

[
2x1

50x2

]
; ∇2f(x) =

[
2 0
0 50

]

�+
������ � �
/������ �
 5
-��� �
���

x1 =

[
2
2

]
−
[

0, 5 0
0 0, 02

] [
4

100

]
=

[
2
2

]
−
[

2
2

]
=

[
0
0

]

���� � ;&��"� �%�
��4� � 8&���	����� � +���
��� �
 ������'��"� ���4
�/


� &� +���� 

(�� ./����� �� ���	
�� �� ��7 ��� ������
4��

����� &
���� �
� ���
���
���

B���� 
�����# � ��B1 ��
 ������%&�� �� �����	�
���� � �����"��
��� �

	
� ��+V����� �� ����
�
�� ��
 ������%&�� ����!�� �� ���%(� �� ���
�� )
"	�%(� �� ���!�# �� +	��� +
��
�'�� ��
	%&�� +	� �(� �����"�$�
 �� ������%&���

�'����
 �	�� �
����� �� 
������ �� ����
������E

• ����
������ �'��������U

• ����
������ 6��������� �	 3���������

����� ���� 
������ �(� �'�
�
�*����� �� ���	�� 3�55�

���	�� 3�55E ����
������ �'�������� � ����������



����
���	� 5;;

����
������ �#��������

���� � �'�
�
� �� ���	�� 3�55 L��+	����M

F(x) = f(x) + ωp(x) L3�<DM

����

p(x) =

⎧⎪⎨
⎪⎩

0 se x ∈ [a, b]
(x− a)2 se x < a
(x− b)2 se x > b

� ω � 	
� �������%(��
B� ���� ����


F(x) = f(x) +
np∑
i=1

ωipi(x) L3�<5M

pi(x) = min [ 0 , hi(pi(x)) ]2 L3�<7M

����
������ 8��������� �	 3������� &�2������
�

���� � �'�
�
� �� ���	�� 3�55 L�������M

F(x) = f(x)− μ[ln(x− a) + ln(−x+ b)] L3�<9M

���� μ � � ���O
���� ���������
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/ ������
�%(� 1����� L�1M � 	
� ��� �������� �� ���
�$�%(� 
��� 	��
�$����
�� ��
	%(� �� ����
�
�� �� �
���%(� �� ���	����# ���
�$�%(� �� �����������#
���� B���� �������� ���(� ������	$���� �� ��%&�� �,����� ��
��������� ) "��.

	
�%(� � ��
	%(� �� ����
�
�� �� �1 ����
 ��
� �
�	
�� ����������%&��
����S
���� �� 
���
� �� �1�

��� � ���-���� �� ���,����
��  �����

� ����
�
� �� �1 ��
 ��
� �� ���!� ��������� 	
 ��� 	��� �� !�
����
��� !���,!��� �� �����(� +	� 
�'�
�$�
 L�	 
���
�$�
M � !�
�� �� 	
�
"	�%(� 
�����# �	 ���� � 	
 ��� 	��� �� ������%&�� ������������� ��� �+	�%&��
�	 ���+	�%&�� 
������� ������ 
��
�� !���,!���� ���� ����
�
� ���� ���
������������ ���

Maximizar z = c1x1 + c2x2 + · · · + cnxn

sujeito a a11x1 + a12x2 + · · · + a1nxn ≤ b1
a21x1 + a22x2 + · · · + a2nxn ≤ b2 L��5M

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·
am1x1 + am2x2 + · · ·+ amnxn ≤ bm
xi ≥ 0, i = 1, ..., n

�
 ��
���%&�� ���������� � ����
�
�� �� ����	%(�# � "	�%(� �� ���!� z
���������� � ����� ������ ��
 � !���� �� +	��������� x1# x2#���# xn �� n ���.
�	���# ��
 ���%�� 	���,���� c1# c2#���# cn# ��������!�
����� /� ������%&�� ��
�����	�
���� ������
 +	� � "������%(� ��� ����	��� ���������
# �� 
,'�
�#
+	��������� b1# b2#���#bm �� m ���	���� ����� +	�# ���� 	
 ��� n ����	.
���# ���������
 �� +	��������� aij ��� m ���	����� /� ������%&�� �� �(�.
������!����� ��
  	���*����!� -�!�� ����� �����

� ����
�
� �� �1 ���� ��� ��
����� �
 "��
� 
�������
 ��
� � ���	��

Max cTx

5;>



5;= ������� �� 	���� 
���
����

s.a Ax ≤ b L��7M

x ≥ 0

����

c = [c1, c2, ..., cn]T U

x = [x1, x2, ..., xn]T U

b = [b1, b2, ..., bn]T U

AE 
����$ Lm× nM ��
 �
�
����� aij �

�#�� 
� ��� ����4�� �
��
 
*
�+
� �
�	 ���� &�� ���
�+�
���"� /�	:��
�� +��%

�� �
 )R 
 &�� �������"� ��� +��+��
���
� �� ��
&�"� �� �
��� 
������
�
 � +��%

�� 
� �&�� 4���	4
�� �%��*�

Max z = 2x1 + x2

s.a x1 − x2 ≤ 1
3x1 + x2 ≤ 7
x1 ≥ 0
x2 ≥ 0

� !�/&�� � � �+�
�
��� &�� �
+�
�
����"� /�	:�� �� +��%

�� ����� 
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�����9
�� �
,
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��4� � �
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�
����� +

�� �
��� +����
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�
��
� 4�
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�
�
 z @�&�4�� �
 �(4

A 

� +����� �� �%�
�4��"� �� !�/&�� � �� � ;	��
 ����
&��,�
 8&
 � ��
&�"�
B���� �� +��%

��� ���� �� � +���� �� ����&��� 4�	4

 �� 8&�
 � ;&��"� �%,
�
��4� ����/
 �
& 4�
�� �	*���� � � +���� � 5
��
 +����� � ;&��"� �%�
��4�
���&�
 � 4�
�� z = 7 X&�
8&
� �&�
��� ����
�
���
 �� ;&��"� �%�
��4� �B
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 �
� �
������� +�� &� �
�
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��� �� ��
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 )R 

��� ���������5�
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� ����
�
� �� �1 � ����

���� ���	���� � ������ �� ���
��� ���
���
����(�# � +	�
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���	�� ��5E ����������%(� ��,*�� �� 	
 ����
�
� �� �1

Min cTx

s.a Ax = b L��9M

x ≥ 0

K	�
+	�� ����
�
� �� �1 ���� ��� ��
����� �� "��
��� ����(� ����!��
�� ���
	�(� �� !���,!��� ����*����� L!���,!��� �� "�
��M� � ���� �� ���������
��,���� � �+	�
� �� +	�
 m < n# ���� �# � �����
� �� �+	�%&�� � �������
�.
����# ������������ ��*����� ��
	%&��� � ����
�
� �� �1 �������� �
 �����
	
� ������ ��
	%&��# ��
 ����� �� ��
�������� �(�.������!��# ���� � +	�

� "	�%(� �� ���!� �
����� � !�
�� 
0��
�� / ������ �� "��
��� ����(�# �
����0!�
 ������	$�� �
�	
�� ��*��%&�� +	� �(� 	��
�$���� �� ���������$�%(�
�� ��
	%(� �� �1� /
�	
�� ������ ��*��%&�� �(�E

• �����' 6��
E 
����$ �(�.����	
�� "��
��� ��� m ��
	��� �� /U

• 1�
&�"� 6	����E � � !���� xb �����
����� ����
�����.�� 	
� 
�.
���$ ����# "�$����.�� �� n − m !���,!��� ���������� )� ��
	��� �� /
�(� ������������ ) 
����$ ���� L!���,!��� �(� �,�����M ��	��� � $��� �
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!����.�� � �����
� �� �+	�%&�� ���� �� ��
��� !���,!��� L!���,!���
�,�����MU

• 1�
&�"� J�	4

 6	���� @�4%AE � 	
 ��
	%(� �,���� ���� ����� �� !���,.
!��� �(� �(� ������!���

����� ��*��%&�� �(� 
��� "���

���� !��	�
�$���� +	���� � �����
� ��
�+	�%&�� L��:M � ��
����� �
 �	� !���� ���\����# ����!�� �� �����%&��
�
�
������� �
 �	�� �+	�%&��# � +	�
 � 
������� � ���	��E

x1 + a
′
1,m+1xm+1 + a

′
1,m+2xm+2 + · · ·+ a

′
1nxn = b

′
1

x2 + a
′
2,m+1xm+1 + a

′
2,m+2xm+2 + · · ·+ a

′
2nxn = b

′
2

� � �
���

xm + a
′
m,m+1xm+1 + a

′
m,m+2xm+2 + · · · + a

′
mnxn = b

′
m

L��:M
� � !���� ���\���� �&�
����� ��
� ������	%(� �� �+	�%(� ��������������
) "	�%(� �� ���!�

x1 + a
′
1,m+1xm+1 + a

′
1,m+2xm+2 + · · ·+ a

′
1nxn = b

′
1

x2 +a
′
2,m+1xm+1 + a

′
2,m+2xm+2 + · · ·+ a

′
2nxn = b

′
2

� � �
���

xm + a
′
m,m+1xm+1 + a

′
m,m+2xm+2 + · · ·+ a

′
mnxn = b

′
m

−z + c
′
m+1xm+1 + c

′
m+2xm+2 + · · ·+ c

′
nxn = b

′
z

L��;M
�� ������ �'���
�� �� ��� 	��� !�,!�
 �(� �� ��
	%&�� !�,!��� �,�����

��
� ��*����� ���
�� ��������# � ����0!�
 ��������� � ��
	%(� �� ����
�
�
�� �1 ��
�������.�� �� !�
���� �� "	�%(� �� ���!� ��������������� � �����
��
	%&��� ����������# � �4
��� �� ��
	%&�� !�,!��� �,����� � 
	��� �
�!����
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 ����
�
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���&�� ��.
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���# � ��
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� "��
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������# �������������� ) ��
	%(� -��
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�
�#
��������� � ���	���� �����������E

c
′
j ≥ 0, j = m+ 1, ..., n L��<M

/� ������������ ���
� ��������� ����
 ��� 	��
�$���� ���� �����!�
!��

������ �� ��
	%(� �� ����
�
� �� �1 ����� �� +	��� �� ������� � �	�
�


�
�����# � +	�
 ���, ����������� �� ��%(� ���	�����

�#�� 
� ��� � +��%

�� �
 )R �������� �� �*
�+
� � � +��
 �
� ��
�,
���� �� ;������ +���"� ����4�� �� ������&�"� �
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/� @x3

�& � 
����� � �� D? 	� $�� � 
�����. �� n #����#��� � m ������'(�� �� ���������.
� 	K ��� �� ����'(�� ������� + ���� 
�� n!/(n − m)!m!� F����� ������ ����'(�� 	�� ���
#��#��� �
���  �	�� � xi < 0� 
��+ . �� � 
������� �"�����#� �� ����� $�� ���������.
����� ���� ��#� ��� �� 
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 x4A 
 �� �&
��+
����"� �� ;&��"� �%�
��4� +�� ,� @������'��"�A �
���
;����� � +��%

�� +���� �
� 
������ ����

Min −z = −2x1 − x2 + 0x3 + 0x4

s.a x1 − x2 + x3 = 1
3x1 + x2 + x4 = 7
xi ≥ 0, i = 1, ..., 4

Y�� ;���� ���\���� �&�
����� B%4�� �� +��%

�� � ���� +��

x3 x1 − x2 = 1
x4 3x1 + x2 = 7

z −2x1 − x2 = 0


 � ��
&�"� %	���� 4�	4

 ��������� � 
��� ;���� ���\���� � x1 = x2 = 0�
x3 = 1� x4 = 7 
 z = 0 ���� ��
&�"� �"� � � ��
&�"� B���� +��� 
*���
�
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��
� c

′
j < 0 5� !�/&�� � � 
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 �� 4�����
 � 

5� %&��� +

� ��
&�"� B����� �
4
,�
 
;
�&�� &�� ����� �
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 %	���� @x3 �& x4A �
4
 �
� ������� +�� &�� ��� 4���	4
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�"� %	����� @x1 �& x2A X&��� �
4
� �
� �� 4���	4
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���
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����:���9
� ��� 4���	4
�� %	����� ���� � �
/&��C

x3 = b
′
3 − a

′
31x1 = 1− x1

x4 = b
′
4 − a

′
41x1 = 7− 3x1

� ����� 4�
�� 8&
 x1 +��
 ���&���� �
� 8&
 x3 �& x4 �
 ����
 �
/���4��
� x1 = 1 )�� 
��� ��'"�� � 4���	4
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 %	���� �&��
�

��"� b′r/a′rs �
�� �(���� +��� �� a′is > 0� ���
 r �
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�
��� � 4���	4


��������� � �
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 s � 4���	4

 8&
 �
 ������	 %	���� 1
 &� ���
a′is < 0� xs +��
�	 �
� �&�
����� ���
:�����
��
 �
� ��&��� � +
��� ��
�"�,�
/���4����
 �� ����
�+���
��
 4���	4

 %	���� 0��� ������ &�� 8�
	%(�

�4 �
���'�� �� 
�#���� �	�� � ����'�� �� ��� � arsxs ��	����� � ���	�� �	������ �
���*���	�� �� xs 	� ������� �,��'�� � 	��� �� ���*���	��� ��  �� � #����#�� 	�� �� ���
�,��'(��� &��� 
������� + ��������� ����#+� �� �
���'(�� ��� �	����� 	�� �,��'(�� ��
$�� � ��	L	��� �� �	�����
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� ��4� ;���� ���\���� �&�
������ �+B� 4	���� +������ �
� � �
/&���

��+
���

x3 +4x1 + x4 = 8
x2 +3x1 + x4 = 7

z + x1 + x4 = 7

���� ����� �� c′j > 0� 
��� ;���� ���\���� ����
�+���
 M ��
&�"� B�����
��� �� 4���	4
�� ���&����� �� 4�
��
� x1 = x4 = 0� x2 = 7, x3 = 8 
 z = 7 
5� !�/&�� � � 
��� ��
&�"� ����
�+���
 �� 4�����
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��� � ./���� ������0

/� ������������ �� ��
	%(� �� ����
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� �� �1 ������	$���� �� ��%(� ����.
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 �� ����� �� ������ 8�
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�
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��� �*������� �� ��
	%(� �� ����
�
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 ������	$����
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�
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 � ���
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����� 8�
�
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� �������$���� ���� �������
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������.�� � ������ �� 	
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� ���S���� !�,!�
 �	
��������

���
�������� �� ������ ��� 
�#

5� 8� ��
� 
���� 	
 c
′
j ≤ 0 L� � �������������� b

′
j > 0M# ���(� � ����0!�
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� �	��� �!� ��
 
���� !�
�� �� z�

7� 8� 
��� �� 	
 c
′
j ≤ 0# � !���,!�
 LxsM � ��� �	
������ L������ �� ����M

��!� ��� ����
���� ��
� �����

c
′
s = min

j
(c

′
j < 0)

9� / !���,!�
 +	� ���'��, � ���� ��!� ��� ����
���� �����!����.�� +	� ��
!���,!��� �,����� ���(� 
���*����� �� ������ ��
 �� ��
�%&��

x1 = b
′
1 − a

′
1sxs

�
�  ��� � 
����	��� ������  +����� ��� �,����� �	���)��� 	� ��������� �� F+����� ���
D�	��� �	��������. �� ,���� ��#��� ��� ����� � �  +���� 
��
���� 
�� �� G�� ��H��
� 0IM6�
�>��� � � �#� �	����� 	�� ��8� :�#��. + 
���)#�� ����� � �#� �	����� �������	�� � 
�:
���

������� � �� 
��"� &��� 
������ �	�� + 	�� �� �	�� ��$����� �� � � N��� � �� �� 
��"
�	,��	�� � ����� �� ����'�� :�� � 
��
��� �	�� ���� + �3� ��� �� N��� ���
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x2 = b
′
2 − a

′
2sxs

���

xm = b
′
m − a

′
msxs

z = b
′
z − c

′
sxs

:� /	
������� � !�
�� �� LxsM# � !�
�� �� z ��
��	�� ����������# ����
��
��	�%(� � 
�
����� ��
�� ������%&�� �� �(�.������!����� ��� !��.
�,!���� B� ���� �� a′is ≤ 0# i = 1, ...,m# xs ���� �� ������ �(� ������
+	���� �� +	����# � +	� ������ 	
� ��
&�"� �
��������

;� 8� ��
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���� 	
 a′is > 0# � !���,!�
 � ���'�� � ���� LxrM � ����
����
�� ������ ��
 � ���	���� �����

x∗s =
b
′
r

a′rs
= min

a′
is>0

[
b
′
i

a′is

]

���� x∗s � � !�
�� �� ��!� !���,!�
 �,�����

<� / ��!� "��
� ���S���� �	
������# ��
 xr �	�����	0�� ��� xs �� ���.
 	��� �� !���,!��� �,�����# � ������ ���
�$����.�� 	
 �����%(� �� ��!.
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���� �� ���
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′
rsxs�

B� ���	�� ��7 � ����������� 	
 T	'����
� �� ������ 8�
�
�'�

��� ����� .�������� �� ./���� ������0

8	����� �� !���,!��� �� ����
�
� ���	����� �
 	
 !���� �� !���,!��� �,��.
��� LxBM � �(�.�,����� LxDM � � 
����$ � A ������������# ��������!�
����#
��
� � ���	��

A = [B D] L��>M

���� B � 
����$ ���� Lm × mM# ��
 ��
	��� ��������������� )� !���,!���
�,�����# � D � 	
� 
����$ L(n − m) ×mM ��
 ��
	��� ��������������� )�
!���,!��� �(� �,������ ���(�# � ����
�
� �� �1 �� "��
��� ����(� ���� ���
������� ��
�

Max z = cTBxB + cTDxD

s.a BxB +DxD = b
xB ≥ 0, xD ≥ 0

L��=M

/ ��
	%(� �,����# � +	�
 � ���	
��� ��� ��
��
 !�,!�
# �������������� )

����$ ���� B � ���� ��� x = [xT

b 0T ]T ���� xB = B−1b� �� 	
 
��� ����
#

xB = B−1b−B−1DxD L��@M
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j = m+ 1, ..., n

�

�

�

�

�










�

��%#
%���&'� (����

��%#
%��) ���������

&'���(� ��"� )���� �������� � *
������� ����"+
 �� �,���-.� ��

,�"��������� �� �������� a′rsxrs

&'���(� r ��� $ �
b′r
a′

rs
= min

[
b′i
a′

is

]
a′is > 0

���� �� �
 ����-/�
0
b′i
a′

is
∀ a′is > 0

c′s < 0

ais ≤ 0
i = 1, ...,m
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�
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z = cTB(B−1b−B−1DxD) + cTDxD

= cTBB
−1b+ (cTD − cTBB−1D)xD L��5DM

/� ��
�������� �� !���� r = cTD−cTBB−1D �(� �� ���
���� �&���� �

���4��
� � ����	�� π = cTBB

−1 �(� ���
���� �� �&
��+
������
� 1��+

*�
���� "��
� 
�������
 ���� ��� ��
������� �� ���
��� $�%

�&� �

���
��	 ������
 � ����� ���[
A b
cT 0

]
=

[
B D b
cTB cTD 0

]
L��55M
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T =

[
I B−1D B−1b
0 cTD − cTBB−1D cTBB

−1b

]
L��57M
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x3 x4 x1 x3 b⎡
⎢⎣ 1 0 1 −1 1

0 1 3 1 7
0 0 −2 −1 0

⎤
⎥⎦

�+B� � ����� �
 4���	4
�� %	����� @x3 +�� x2A� � ��4� ��%

�& � ���� +��

x3 x2 x1 x4 b⎡
⎢⎣ 1 −1 1 0 1

0 1 3 1 7
0 −1 −2 0 0

⎤
⎥⎦
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cTD − cTBB−1D =
[
−2 0

]
−
[

0 1
] [ 4 1

3 1

]
=
[

1 1
]
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B−1b =

[
1 1
0 1

] [
1
7

]
=
[

8 7
]

B−1D =

[
1 1
0 1

] [
1 0
3 1

]
=

[
4 1
3 1

]

cTBB
−1b =

[
0 1

] [
8 7

]
= 7
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x3 x2 x1 x4 b⎡
⎢⎣ 1 0 4 1 8

0 1 3 1 7
0 0 1 1 7

⎤
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	%(� �� ����
�
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�� �1 ��
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����� 8�
�
�'# � ����0!�
 ������
���� 	
 ��!� �������
����
���� ��
	%(� ��� ����
�
�� �� �1# ��������� ��
� ������ 8�
�
�' ��.
!����� � +	�
 � ����������� � ���	���

������ ��� 
�# :�+�����

5� ��
�	�� � !���� 
���� λ = cBB
−1 � � !���� �� �	���� ���	$���� r =

CD − λDU

7� 8� r ≥ 0# �/��E � ��
	%(� ��	�
 � -��
�� 8��(�# �� ri � � 
��� ������!�
��
������� �� r# ���(� ����
�� � ��
	�� i �� D ���� ������ �� �����
������ ���� ��
	�� ��� uU

9� ��
�	�� v = B−1uU

:� ��
�	
� �� ��
�%&�� �� B−1b ��
 B−1u# ��
������ ������ �� ��
��.
������ ������!�� �� B−1u� 8� �(� �'����
 ��
�������� ������!��# �
�	��� 
0��
� � −∞U �� � 
���� ��
�%(� ������ ���� � ��
������� k#
���(� � ��
	�� k �� B ��� �� ����U

;� /�	�
�$� � 
����$ B L�	 B−1M � � ��
	%(� x = B−1b� ������� �� �����
5�

��"������� �
�
�
����%&�� �� 
����� 8�
�
�' ��!����� ����
 ��� ����.
��� ���������� �� "��
� �� �
�
�
����%(� ��� ������ 5# 9 � ; �� �������.

���� ���
�� B����� ������ � ������,��� �"��	��.�� �����%&�� ��
 � ��!����
�� 
����$ ���� LBM� ����� �����%&�� ����
 ��� ���
�$���� � ������ ��

• �,
�	
� �� ��!���� �'�
0���� B−1U

• ����������%(� �� B−1 �� "��
� �� ��!���� �� "��
� �� ����	��U

• ������%(� LU �� B# �	 �� �# B = LU �
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� �� �1 �'���� 	
 �	��� ����
�
� �� �1 ���������
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� )��%

�� �&�
� ��� ���
����# � ����
�
� �������
 � ����
����� )��%,


�� )����
� � ����
�
� �	�
 ��������� �� ���	����� ��������0������E �
�� ���!� �� �	�
 � � ��!���� �� ���
�
 L
�'�
�$�%(� × 
���
�$�%(�MU ��
��
���&�� �� ����
�
� �	�
 �(� �� ����������� �� ���
�
 Lm !���,!��� � n
������%&��MU � ������� ��� ���+	�%&�� �(� ��!����� L≤ � ������� ��� ≥MU ��
���*������� �� "	�%(� �� ���!� �� �	�
 �(� �� ���	���� �� ���
�
U � �'�������
�� �(� ������!����� ��� !���,!��� � 
������ �� ����
�
� �	�
� ��� �'�
�
�#
� ����
�
� �	�
 ��+	�
� ����������� �
 L��5M � ���� ���

Minimizar w = b1π1 + b2π2 + · · ·+ bmπm

sujeito a a11π1 + a21π2 + · · · + am1πm ≥ c1
a12π1 + a22π2 + · · · + am2πm ≥ c2 L��59M

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·
a1nπ1 + a2nπ2 + · · · + amnπm ≥ cn
πi ≥ 0, i = 1, ...,m

�� ����
�
�� ���
�
 � �	�
 ��
 �� ���	����� ������������ W5@XE

• 8� � ����
�
� ���
�
 �	 � ����
�
� �	�
 ��
 	
� ��
	%(� -��
�#
���(� � �	��� L�	�
 �	 ���
�
M ��
��
 ��
 � � ��
	%(� � � 
��
�
���� �
��� �� ����
�
��# �	 �� �# � 
,'�
� �� z � ��	�
 �� 
0��
�
�� w� ��� �	��� 
���# �� �(� �, ��
	%(� -��
�# �	�� �������
������
����
 �������E �	 �
��� �� ��� 	���� !�,!��� �(� !�$��� �	 	
 ��
��
� !�$�� � �	��� �
�
������

• /� !���,!��� �� ����
�
� �	�
 Lπ1, π2, ..., πmM �����������
 ��� 
	
.
���
�������� ��
�
�' �� ����
�
� ���
�
 LcT

BB
−1M� ��� ���� ��$(�# �


��
� �0
��
� LπM "�� ����
���� ���� ����������� ����� ������$���

�#�� 
� ��% � +��%

�� �&�
 ����
�+���
��
 �� +��%

�� �
 )R �+�
�
�,
���� �� 
*
�+
� � � � ���� +��

Min w = π1 + 7π2

s.a π1 + 3π2 ≥ 2
−π1 + π2 ≥ 1
π1 ≥ 0
π2 ≥ 0

� ��
&�"� �� +��%

�� ����� � π1 = 0, π2 = 1 e w = 7 ���� +��
 �
�
�%�
�4���� � 4�
�� �� ;&��"� �%�
��4� � � �
��� �� +��%

�� +����
 



5<= ������� �� 	���� 
���
����

��' #�*���� �� �����-�������

/ ��,
��� �� �������
����� ������ ��
� � !�
�� �� "	�%(� �� ���!� z# ������
�� ��
	%(� �� 	
 ����
�
� �� �1# !���� +	���� �'����
 !����%&�� ��+	����
�� !���� �� �	���� LcM �	 �� ���
� ������������ ��� ������%&�� �� ��	�
����
LbM� / �'������� �� !����%&�� ��+	���� � ���� �������� +	� � ��
	%(� -��
�
������	� 
���
�$��� �� 
��
� ����� �'���
� �� ��� 	��� !�,!�
� � !�
�� ��
"	�%(� �� ���!� �������������� ) ��
	%(� -��
� � ���� ���

z∗ = cT
B [B∗]−1 b = π L��5:M

�
� !����%(� Δb ����	$ 	
� �
����%(� π∗Δb �
 z� �� 
	
���
��������
8�
�
�'# �	 � ��
	%(� �� ����
�
� �	�
# π∗ �(� �� ���*������� �� �������
�.
���� �� !����%(� �� !�
�� �� "	�%(� �� ���!� ��
� ���	
���� �� !����%&�� ��
���
� ������������ b# ���� �#

π =
∂z

∂b
= cT

BB
−1 L��5;M

�� 
	
���
�������� 8�
�
�' �(� �� �&
��+
������
� �
 R�/���/
 �������.
��� )� ������%&�� �� ��	�
���� �� "��
	
�%(� ����(� �� ����
�
� �� �1� �

��
���%&�� ����S
���� �� 
���
� �� �1# ����� 
	
���
�������� ���(� ������.
���� ��� �&���� ���/����� �� ����	%(��



*�#���'
�+�

W5X G� /  ����	 ��� �� ������J� 2�� ������	����� ��C�� T�CE / ���
 "��
�����J ����� !�
���� �����
��J ���
J���� 0��� $����������� �� )�-
�
12��
��# >L5ME:5<c:79# ����	��J 5@@7�

W7X �� /
��� ��� 3� 8����� ����
�
 
��� T�C C��� �����J.����� ���	.
���J� 0��� $����������� �� )�-
� �++����&� ��� 12��
��# @9E>:;c>;5#
��J��	�� 5@>:�

W9X ���� /�������� ���
2��� �; !�&
�
� )�-
� 12��
�� 6�C� 8���� ���!��.
���J �����# /
��# 5@>9�

W:X �� /���
���# ���� /���
�# ��� 3��� F��P��� ���+&�
� ���


��/ �; �

�,
�����
 )�-
� 12��
��� ���� Q�
�J# 1�����# 5@=9�

W;X ���� 3	������# F�F� F���# ��� ]� Q����	� 1���� ���
� ����
�
 ��C��
T�C� 0��� $����������� �� )�-
� �++����&� ��� 12��
��# 5D5E9>77c
9>97# ������� 5@=7�

W<X ��/� ����$���� ��� ��1� /
!������ ����� �" ��

���� ��� ������	�����

������ "�� 
���� ����� �J���
�� 0��� $����������� �� )�-
� 12��
��#
=L5ME5c=# ����	��J 5@@9�

W>X �� ����������� �������	����� , 
Y��	�� �	 ���������� �����
�+	�� 6&
,


��� �
 
� 1���
�
 !�������
 �
� �

������
��# !�
 39E:95c::># 5@<7�

W=X ��3� ��������# 3��� Q�

������# ��� 6� Q���������� 2����
������ 
��.
���
��� �� ��� �����	
���� ��!����
���� )���

���/� �; �.
 0���#
==L7ME5>Dc5@;# ����	��J 7DDD�

W@X 2� G�� �	���
# f� ���+	�
���# ��.B� ���+	��# ��� �� ��	!��� / ��
.
��������!� ���
J��� �" 
��.���
 !�
���� �����
��J� 0��� $�����������
�� )�-
� 12��
��# 5DL9ME55>9c55=7# /	�	�� 5@@;�

W5DX ��6�8	�# 3�2� /��
�J# 3��� 3��C��# 3�/� F	����# ��� Q��� 2����J�
����
�
 ��C�� T�C �J ��C��� ��������� 0��� $����������� �� )�-
�
�++����&� ��� 12��
��# 5D9L5DME7=<:c7==D# ������� 5@=:�

5<@



5>D ������� �� 	���� 
���
����

W55X F�Q� ��

�
 ��� Q��� 2����J� ����
�
 ��C�� T�C ��
	������ 0���
$����������� �� )�-
� �++����&� ��� 12��
��# =>L5DME5=><c5==<# ��.
����� 5@<=�

W57X 6�8� �	^# /��� ����
��# ��� ��]� ����� ���
�� �
�.��� ;�� 1+���

������
�� �
������
 �����# �'"���# 5@=<�

W59X Q�Q� ����� �� �
� 8������� 
��� 
���
� "�� ��C�� T�C ��� �J.
��
�� ���"��
���� ��
	
������ 0��� $����������� �� )�-
� 12��
��#
5DL9ME59D7c5959# /	�	�� 5@@;�

W5:X ���� ?�

# Q� �	���J# ��� ��F� Q������ )�������
 �+����'������ /���.
�
�� �����# 1�����# 5@=5�

W5;X ?� ?�
	� ��� ���� ������� 1��
���:� ���+&���/C �� 0�����&����� -��.
)���



 ���+&���/� /����
�� �����# 3�����# 5@@9�

W5<X 8� ?���!�

�� ����
�
 ������!� �������� ���	�� �������� ����� 
�������
0��� $����������� �� )�-
� 12��
��# @L5ME59<c5:<# ����	��J 5@@:�

W5>X Q��� 8��!����� ��� �

�
��� �; )�-
� 12��
� ���
2���� ��?��C.F�

#
B�C f��P# "�	��� �������# 5@=7�

W5=X �� ]	��	�� )�-
� 12��
� 1��%�
��2 ��� ������
� ��?��C.F�

# B�C
f��P# 5@@:�

W5@X ��?� 1	��������� 0�����&����� �� R��
�� ��� 5��
��
�� )��/������/�
/������.Q��
�J# ���
� ���P# 5@>9�

W7DX /� �������

�� !
&*� �
 ���/� 
� �
�
� �
 ��
�/�� �
������� �������
����� 3
V���� 1����# 8(� ��	
�# 5@=9�

W75X /� �������

� ��� /� ?������ 0�����&�"� � 1���
��� �
 ��
�/�� �
�������
������� �� �����
�# 5@@@�

W77X ���� ������� 0�����&����� �� )���



 ��� J
���� 1�
&���� �; R��
��
12��
��� �
��	
 �����# B�C f��P# 5@==�

W79X 3� 8����� ��!��C �" 
��� T�C ��
�	
����� 
������� )���

���/� �; �.

0���# <7# 5@>:�

W7:X 3� 8����# �� /
���# ��� /� �������

�� 8��	���J ���
J��� ��� ����
�$�.
����� )���

���/� �; �.
 0���# >;L57ME5<79c5<::# ����
��� 5@=>�

W7;X 3� 8���� ��� �� F������ ��C�� �J���
 ���	���J ������
 ��
�	
������
	���� 
����� ������

��� . ����� 6 ��� 66� 0��� $����������� �� )�-
�
�++����&� ��� 12��
��# =>E5=><c5==<# ������� 5@>=�

W7<X ��Q� 2�J
��� )�-
� 12��
� J�
��/
 1��%�
��2� ��?��C.F�

# B�C f��P#
5@@:�



����
���	� 5>5

W7>X Q��� 2����J ��� ���� F���� ��C�� T�C ��
	����� �J ��C���Y 
������
0��� $����������� �� )�-
� �++����&� ��� 12��
��# =<L5DME5=><c
5==<# ������� 5@<>�

W7=X Q��� 2����J ��� ��Q� Q�
P��� ������ ��
	����� �" ������ ���C��P� �J
����
�

J ������� ������	
�� "������$������ )���

���/� �; �.
 0���#
;;E5=D5c5=D@# 5@<>�

W7@X F�/� !�� ��� G����� 3�.�?82/3E / "��� ��� �
����
J ���!������ !���.
��� �" 3�.�? "�� ��� ��
	���� �" ����J

����� 
����� �J���
�� 10�� � 
1�� 1��� ���+&� # 59L7M# ����� 5@@7�

W9DX 8��� Q������ )����
,�&�
 0��
����,)���� �
�.���� 86/�# ���
���
����#
5@@>�

W95X f�.�� Q	# /�8� ����# ��� ���� �������� / ������ ���
����� ���������.
��������� ���
�
.�	�
 �������� ����� �
������
 "�� ����
�
 ��C�� T�C��
0��� $����������� �� )�-
� 12��
��# @L7ME=><c==9# ��J 5@@:�


